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of management ag .
() POSDCoRB
B) POSTCARD
() POSDCORB
(D) POSDORBC

The use of a particulay method of
teaching depends upoy, -

(A) Skill of the teacher

(B) Sex of teacher

(C) Age of teacher

(D) None of the above

Which of the following is the first
step in sports organisation ?

(A) Directing

(B) Staffing

(C) Planning

(D) Budget

Getting the right facts to right
people at the right time in the
right way is called ——

(A) Games Management

(B) Motivation in sports

(© Public relation in sports

D) Leadership in sports

US-15160-Series-S (1)

T e 3 gdd Fd B &Y
A i a1

(A) POSDCoRB

(B) POSTCARD

\(€)" POSDCORB

(D) POSDORBC
T fadv gere & e fafd Fn g

fred ut FredT B

AA) HTE B IR 9T

(B) s & fofm W

(C) a1 @ Mg T

(D) Ivgw & 4 fret w8

M=t & 4 aF-@1 da d@nfed F@ @
eH =T /AME B 7

(A) Frey=

(B) wften

RSIRECIEE]

Py e

S T W S @ 3 guy o
e 2|

JA) B b

(B) &t H oy
(C) Bl H SToTeress
(D) @ ¥ Ay
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SAJ] was estabIEShed In which

5.

yvear ?

(A) 1985

(B) 1984

(C) 1983

(D) 1982
6. Sports management is:

(A) A Sacence

(B) AnArt

(C) (A)and (B)both

(D) None of these
7. Match the following List A with List B

Last-A List-B

(a) National Teaching Al - () Camp
(b) Visual Teaching Aid ~ () Model
(¢) Audio-Visual TeachingAid — (iii) Museum
(d) Extra<curricular Teaching — (iv) Television

A

@ ® @ (@

(A) @) @ av) @

B) ) Gv) @) @)

© & @ @) v

O Gv) @) Ga) @
US-15160-Series-S

(2)

5.

7.

ot & wen Ry ad B A 7
(A) 1985

(B) 1984

(C) 1983

(D) 1982

&9 W& @

(A) & fEm

(B) @ Fm

«€) (A) T (B) &

D) ¥ & 3¢ T
Rrffes @ gei-A @ 4 §-B &
e SRR -
gdl-A
(@) TS B g - B
®) 3@ B A - G) A
(c) FA-3X R0 WA - (i) WIERH
(d) IRRT TGEFR - (vi) T
o amEs
(@ ® (@©
A) @) G v @
@) Gi) @Gv) () @
© @ G @) Q@)
D) Gv) @) @) @

gd-B
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Budget 18 —
(a) Financial Play,
@) Financial Statep o+

(C) Prediction of rovonue and

Expendityre
() All of the aboye

The word budget has its origin from
which language ?

(A) French

(B) Latin

(C) English

(D) None of these

Match the following formula from
List-A to List-B
List-A List-B

@ HE-D

@ (N-1) (b) Double League
(3) N(N-1) () Knockout

(a) Byes

4) NB-1 (d) Single League
2

Code:

mn @ @ @
(A) d @ ® @
® @ O © @
© @ @ ©@ ©
O @ ©@ @& @

(3)

8.

9.

10.

T P -
(A) Rfrg QT
(B) fam ReA%
(C) -z & BACT
D) IriEa @
——— AL q I E 27
(A) %4
«B) A
(C) =R
(D) T & &g T
gd-A @ gE-B 3 PEA H
gh-A g-B
a N (N-1) (@) T
2
@ (N-1) () 3 &
(3) N(N-1) (0 7% ARE
(49 NB-1 (g fmm &
2 .
T
1l @ & @
(A) d © ® @
(B) @ ® (© (@
(C) @ @@ @« ®
(D) d © @ ©®
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12.

13.

14.
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Who said it-"supen'mi‘m 18 Not to
control the tercher but to ok
COOPPT&‘I!VC‘I}'-”

(A) Glatthon

(B) Hov and Forsyth

(C) Harris

(D) Ghckman

In teaching l1e8TNINE process

supervision s ¥sually carrieq

out - https://www.ccsustudy.com

(A) By Headmaster

(B) By Teacher

(C) By Parents

(D} By Society

In POSDCORB ‘Co’stand for -

(A) Cooperation

(B) Collection

(C) Coordinating

(D) Correlation

In which register all govt. grants
2nd expenditure are maintained ?
(A) Cash Register

(B) Acquttance Register

(C) Stock Register

(D) Contingent Register

(4)

11, ‘R frm) 2 frifa #@ @
e mearht =y 3 @ F@ P

(D) Fasrs
12, Temrer siftrTy ofi # oo A 9T
R S 2 -
(A) TIFTEM &
“B) s ZT
(C) wm-fm zw
(D) #HEEd A '
13. POSDCORB# Cod1 a4 ¥ -
(A) B F
(B) ®OE M
(C) TT=T F=1
(D) \sE=Y
14. R e ¥ aear o A a9 &
TR (@ A 8§
WA B9 g (TR
(B) TRH <
(C) =t dfre
(D) sz dfam
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16.

17,

18.
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How the fundsina given period will
pe obtained and speny , called ?
(A) Allocation |

(B) Expenditure

©) Budget

D) Reciept

Who is known ag the father of
modern theory of management ?
a) Tyler

(B) Henry Fayol

(C) Max Webar

(D) Gulick

To motivate the other to achieve
certain Goal is called -

(A) Planning

(B) Leadcrship

(C) Controlling

(D) Organising

Budget estimation is :

(A) Income and investment

(B) Investment

(C) Income and Expenditure

(D) All of the above

(D)

15, FAlt fafsgq 3@ P fer A

(A) ==
(B) =T
(Cy T72
(D) mf3
16. f*ﬁmg\ﬂgﬂmfﬂgﬁﬂﬁﬂm
Fed # -
(&) TEAT
(B) 24f 274
(C) &2 3aT

(L) T
17. 33 7 71 9@ HA F ¢ FA A

At Fe41 PR -
(A) gt
(B) =
(C) Faao
ND) amira
18. F9Z T & -
(A) 3 iR PRy
(B) Faw
(C) ¥% 3T =g
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20.

21.

22.

US-15160-SeriesS

.
of t':-.'tlin,r.:mfoﬂ“ﬂ“'- s

(A)
(B)
(C)
(D)

Test

Measurement

Fyalustiob

All of the above

e recruitment of right
people at right place in ap
orgamsation.

{A) Plannng

(B) QOrypanising

(C) Stafhing

(D) Controllng

How many methads. we adopt to

organise league Journament?

(D) None of these

Which one 1s the advantage of

et ot B s Rl .-{ Yy Y 4
£ TN Ul p?ﬂg‘.’ﬁ_)“ Ve

(A) Achievement

(B)

(C) Participetion

(D) AY of the gbove

Hecreghion

(6)

19. &I T4 FA 4t afrgafis afry smatra

ufFa HEeTd &
(A) Tt
(B) =9+

(C) TEuieA

) IVaq Tt

20. w3 X ghm wyy w ofam =\ A

21.

22.

Pl ... FEATH 81
(A) Qe
(B) srgra=
(C) wifrn
(D) fgae

g dm gfEdima e s &
fafirgt | &7 g3 2 7

(A) 2
B) 3
©) 4
@ FH A ¥ 7

frer & @ - 0% saEEE dafE
wawd’?

(A) Judfe

(B) AR

(C) aferarfrar

W) IT0F J]A
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23.

24.

25.

286.
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In gingle League Tournament how
many matches will b, played by 12
teams *

(A) 46

B ©

(€) 66

m 72

Which is track eveng 2

(A) Hammer throw

(B) Longdump

(C) 200 m. Race

(D) Javelin Throw

In Athletics-Combined events are
held at -

(A) On Track

(B) On Field

(C) (A)and (B) both

(D) None of these

Which one is related with
evaluation ?

(A) Test

(B) Measurement

(C) (A)and (B)both

(D) None of these

(7)

24.

25.

26.

(D)

3% gvifrar -9 2 7

(A) 7 M BF

(B) =i %

(C) 200#. 33

(D) 7 %%
nggﬁ:ﬂﬂmwraw
fEqr aer & -

(Ay 2% ST
(B) ©%T Q¥

Oy (A) 7 (B) 2t

(D) 3% & W &

Prer ¥ - e & Fafr ¥
(A) qimsor

(B) &®M7

@ (A) 3w (B) arit

(D) % & | 7@

https://www.ccsustudy.com



https://www.ccsustudy.com

27. In “.h.ich }'C‘ﬂr Rﬂj Kurn;'“-i "J\Inl‘it

28.

29.

30.

US-156160-Series-S

Kaur Coachinf Pilot scheme
started ?

(A) 1950

(R) 1952

(C)y 1953

(DY 1954

From the following Which one ig
included in word vision ?

(A)
(B)
(C)
(D)

Which one refers as to the process

Super
Vision
Micro
All of these

of instructing, guiding, counselling
motivation znd lcading people in
the organisation to achieve thetr
objective

(A)
(B)
(C)
(D)
Which of the following is not an

Planmng
COrganising
Staffing

Directing

element of directing ?
(A) Supervision

(B) Communication
(C) Leadership

(D) Inspectiag

(8)

27.

28.

29.

30.

AN &F G Py oy ?

(A) 1950

(B) 1952

\(55]
()
Fefas § RAq-w s= Vision' d
qfiT & 7

(A) = (2a)

(B) zf=

(C) T
By 3 ey

st F BR-a1 aqd agaedl & 919 A
# R &9 @ wedl & fEw aA,
arfedld B43, Ty 33, AW e R
il 4 F oirg § g wan @
&) FEeE

(B) HmE

(C) wfET

(D) Fder

ECIRIESEEECH Clbo B i

1953

1954

(A) ydda™
By wsar
©€) Tg=

D) FhEe
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31.

32.

33.
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If the number of leamg ig even,
then the nmnher of h}ru in upper
and lower half wi|| be -

N
@ 3

Nb
® 3

Nb+1
© —3

Nb-1
® -5

When finding 1t 4 places of
Teams how many matches are to
be played for 16 Teams in knockout

system ?
@A) 20
(B) 15
(C) 16
(D 18

Procees which help in improving
Teaching methed, Syllabus and
Method is known as

(A) Supervision
(B) Evaluation
(C) Teaching
(D) None of these

(9)

31.

33.

wﬂmgﬂﬁwmmm

aﬂ‘ﬂ‘“’i‘ﬂ#“’mﬂﬂ

N
(A) 3
Nb
p
Nb+ 1
2
Nb—1

D) ——

By

(©)

. 16 A6} # e gomar 3 dmt R

P A e fEes @ e PR S
a

(A) 20

(B) 15

(© 16

M) 18

Pra-d o Reror o=fa, wiggan ol
fafg 3 gur $ A wewgar F § -
(A) gEHE

By g=Ea

(C) Br

(D) 37 & k=@
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34.

35.

36.

37.
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What is Teaching ?

(A) AnArt

(B) A Science

(C) (A) and (B) both

(D) None of these

Which one of the following is the

principle of Teaching ?

(A) Principle of recreation
(B) Principle of Interest
(C) Principle of creativity

(D) Al of these

According to history of Sport first
intramural organised by 7
(A) USA.

(B) India

(C) Greek

(D) None of these

“A game for each and each for
game” is the ideal of :

(A) Intramural

(B) Extramural

(C) (A)and (B) both

(D) None of these

(10)

34.

35.

36.

R W1 # 7
(A) UF %7 B
(B) @& [asm7 2 |
«€y (A) Ta1 (B) 3

O F 8 Fg

Pttt 3 A - @@ RE 3
Ryerd 2 7

(A) FASH F7 HE

(B) ¥ ¥ =

(C) TETE ¥ e
W) 2 af

& B hrera & HETT 947 L F
Jaer [ -

(A) M@ &

(B) W@ &

&) dim @

D) ¥ 4 3 T

87. ‘1% 3 fow A AN @9 9 2 R

aed &
(A) =Y #
(B) TEErgId H

NC) (A) T4 (B) 3

(D) = A FF 78
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d8. Which one comes under Major

39.

40.

41.

US-15160-Series-S

Game category .
(A) Volleybal]

(B) Footbal

(C) Athleticg

{D) All of the above

BT 1
'he term supervision relate with

which language ?
(A) Latin

(B3) English

(C) Hindi

)

In which type of tournament an

French

additional chance js given to

defeated team ?

(A) Consolation Tournament
(B) League Tournament

(C) Both (A) and (B)

(D) None of these

Which of the following is the first
step of sports progn:lmme ?
(A) Directing

(B) Staffing

(C) Planning

(D) Budgeting

(11)

38,

39.

40.

41.

B 4 e oA e e L I o I
2

(Aja!:fm,-_r

fB}?aT:,

C) ooy

) i at

Aol g 1 &g B8 ST
Gl

A) A=

(B) ¥

© =%

D) %9

P wr $ gafdwe 3 oA I @
& 7 sPfrre saaT e 2 7
(A) e gafyoe

(B) #m ZAdwe

<€) (V)7 (B) AF

D) #= & 3¢ @ &

Frefefa § PH-91 89 Td5S W 9

~c il
(A) v
(B) wIf¥m

() T

(D) &
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ok of the . - >
42. The last B8RO0 the spores Lo gq waw sy 4 sfem 8 2940

management chainis _ 3

(A) Cont-w“md Evaluation JAY FEa o CRIET

(B) Finaneeand Budyet (B) ¥ 37 gwe

() Publicrelation (C) =

(D) None ol the above (D) @& °d & ¢ 4
43. The objective of Intramura) 43, IS Oy A 35 R

Programme 2 ) T

(A} Achievement

(B) Involvement

(B) sarierd

) (C) &g /st
(C) Recreation
(M) Enjoyment (D) =
44. The Rajiv Gandhi Khel Ratna 44. TE WA WE T TR 1 AT
Award scheme was Jaunched JEFE F1 E -
n 4AT 1991-923
(4) 199192 (B) 1992 -93 i
(B) 1992-93
(C) 199394 (C) 1993-94%
(D) 1994-85 (D) 1994 — 957
45. What is the name of equipment 45, ™l «fdFd & 2z 52 7 Fal A FF9
used to measure units of work P A1 3 e 9T B A T
done by person calied ? IS F AN 4 7
(A) Ammeter &) THERT
(B) Ergometer (B) FHRT
(C) Galvanometer (C) Aaratsict
(D) Manometer M) TEERT
US-15160-Series.S (12)
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46.

47.

43.

49.

US-15160-Series-S
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which of the fol!uwmg is against
the pri nciples of OrRaniaation

(A) Proper decﬂmmlization

(B} Proper commupjc,,ion

(©) Overlappingamhnrit},

(D) Delegation of poy...

Which of the followins qot comes
under the purview ,f .onetraint
identification in sporeq manage-
ment ?

(A) Geographical

B) Physiological

(C) Economical

(D) Social

Terminology ‘Administration and
Management' are

(A) Synonymous to each other

(B) Entirely different from cach
other

(C) Somewhat similar to each
other

(D) All of the above
Lead up games helps in

(A) To develop skill

(B) To provide recreation
(C) (A) and (B) both

(D) None of these

46. Pnafiings i fy-81 G100
fa=z ® 7
JAY T BT
(B) g g=n?
(C) o 1 SR
(D) #fem & WA

47. ﬁwhﬁﬁﬂaaﬂ-mm“""%m

—— L
(A) dfas

() AR

(C) s

(D) =srfas

48. =R ‘g @ wET &
(A) @ zat & W@
(B) 701 7% | KT
(C) @ 7Y 3 FP-T g
D) Sl ait

49, ‘#Fz-sm A’ gEEE T
(A) I TEE F
(B) WO Iudam FHrad 2
€Y (A) T (B) 3=t
(D) ¥4 | N @

(13)

https://www.ccsustudy.com

% Bz 2



50. What is the irst T€Quirement, of

51.

52.

US-15160-Series.S

https://www.ccsustudy.com

good / mmmrﬂffat“’n and pfﬁupncy
of the pl‘ﬂﬂﬂ'mmp
(A) Staffing
(I3) Reporting
(C) Planning
(D) All of the above
Match List-A (Game) fromp List-B.
(Measurement) and choose correet
answer from the fOlIﬂWillg :
List-B

() 28 x 15 mL.
(1) 27 x 16 mt.
(ii1) 40 % 20 m¢.
(iv) 18 x 9 mt.

List-A
(a) HandBall
(b) Volleyball
(c) KhoKho
(d) Basketbsll
Code:

(@ ® () (d)
() @) Q) (i)
M) @) av) m) @)
€ v) Gy () @)
M G @ Gu) 3Gv)
Which one of the following is the

procedure of fixture in league

(A)

tournament :

(A) TabularMethod
(B) Stiar Case Method
(C) Cyelic Method

(D) All of the abuve

(14)

50. W$W3nmﬁaﬂ1m$rﬁ“

51.

52.

g TR ) & 7
(A) iRy
(B) Rdifdn
§€) aT

D) ITE T

FreTfe A (Q) # §-B (M)
& R Ry mg@mmﬁq

gdl-A gi-B
() 2=t (i) 28 X 16 4
(b) diiiEty (i) 27 % 16 .
(¢) @&t (iii) 40 x 20 Ui
(d) IEFcAE (iv) 18 x 9 Hl.
HE :
(@ (b)) () (@
(A) () Gvy Gy ()
(B) (mi)  (Gv) @) @
€Y (V) Gil) (D) ()
(D) iy @) @) QGv)
fre % B9 wz T aRrfr § ferer
A ulkar 2 :
(A) éﬂ"d{ fafe
(B) ddg=r
(C) qwrg g
) S At
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53. How many din-l,..].mi(‘_”.j of class

54.

65.

58.

US-156160-Series-S

management are

(A) 3

(B) 5

(C) 6

(o) 7

Age is the number oy g porson

has passed from Birp to death,
known as;

(A) Chronolugical Age
(B) Biolog'icamge

(C) Psychological Age
(D) All of the above Age
POSDCORB-related with :
(A) Gulick

(B) Necwman

(C) Henry

(D) None of these

The word Administration is taken
from which language ?

(A) French

(B) Hindi

(C) English

(D) Greek

56.

53. @ rany 3 Ppod o 87
(A) 3
(B) 5
¥€C) 6
m 7

54. @t % 3 @ A FF BT AW

i w3 aE ARG FEA 2
(A) ZEa g
(B) #3%1a g
(C) 3-dafzs I
“By I il 3Y
55. ‘POSDCORB’ &= 8 -
&y T
(B) = &
(C) 370 3
(D) T 3 = T8

z?

'[.'\) o |

B) &=
(C) A

) %

(15)

https://www.ccsustudy.com
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58.

59.

60.

US-15160-Series-S

. How mam

https://www.ccsustudy.com

, primary lontlership
styles are there

(A) 4

(B) 5

(C) b

(M 7

From the following which one is the
function of management ?

(A) Plannng

(B) Directio?

() Co-ordination

(D) Aliofthe above

Which type of equipment are
Cricket Ball and Volleyball

(A) Permanent equipment

(B) Non-Consumable equipment
(C) Consumable equipment

(D) None of these

Which type of Tournament used
for condueting Kho-Kho and

Kabaddi Tournament ?

(A} Knock-out cum league
(B) Leage cum league

(C) Hound Robin league
(1)) Nope of these

57.

38.

68.

60.

(16)

qrif® A e & R o B
) 4

B) 6

(C) 6

O 7

fpefafe A - v @ w0 P 7
(A) QA

(B) Priwm

(C) <944

«D) Tehen wi

Rz da ol ddre PR TET @
IHTT &

(A) TH ITH

(B) -Todpft Iud

€©) Il ITE

(D) ¥ 8 3%
@-8 7 s s @ aoE

% RyC A-a1 g SogEE & 7
(A) E-A132 FH M

(B) @ =/ dm

(C) vy qfa #m

D) 7 & &t T
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61. Planningisa Procegg
(A) To solve the problem
(B) To achicye the objective
(C) To facilitation of action
(D) All of the abgye

62. In which type of tournament loser
of each bracket jg immediately

eliminated from the tournament?
(A) Knack-out

(B) lLeague

(C) Challenge

(D) All of these

63. The most suitable class formation
for shot Put is -

(A) Circle formation
(B) Triangle formation
(C) Semi-circle formation

(D) Square formation

US-15160-Series-S (1)

62. A gz & ot 2, 99% 3% W
m:;ﬁ;WﬂW? AT 27
(A) - uyrzz
(B) i
(C) 74

(D) 24 o &

Jrgar 2
A 77 s
(B) Bryxr ==
(©) IzgT
(D) aF 1==
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64. Match the t’ollowinl{ :
List-A List-RB
(Federﬂti"“) (Year)
(1) Kabadd (a) 1951
(2) Squﬁsh (b) 1953
(3) Yachting (e) 1960
(4) HandBal (d) 1970
Code:

65.

66.

US-15160-Series.S

A) 1-d 2-¢ 3-b 4-a
(B) 1-4d 2-b, 3-¢, 4—a,
) 1-d 2-¢ 3-d, 4-a
M) 1-a 2-b 3-c 4-4d,
Funds in 2 given period, will be
obtained and spent is called -

(A) Expenditure

(B) Budget

(C) Receipt

(D) Allocation

-
-

What is the size of Kabadd? court?
(A) 13x 10mt,

(B) 12x10mt.

(C) (A)and(B) both

M) 11 x750 mt.

64.

65.

66.

(18)

Pt & e #t

A gH--R
(%) ()

(1) FFEdh (a) 1951
(2) W (b) 1953
(3) M () 1960
(4) 22 Jd= (@) 1970

RNE :

(A) 1-d, 2 ¢ 3-b, 4-a,
B) 1-d, 2-b, 3—¢c, 4—4,
C 1-d, 2-¢, 38-d, 4-a
(D) 1-a, 2 b 3-¢ 4-4d

iAo wafa § uq ) wiftg 7 |y FEA
-

(A) =9

B a=se

(C) Wi

(D) ImEeT

e T B v R 7
(A) 1310 4.

(B) 12x 10 .

(C) (A) @ (B) <t
D) 11 x 7.60 7.

https://www.ccsustudy.com
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68.

69,

70.

US-15160-Series-S
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Which process we adopt to know
the progress of our Trainec ?

(A) Test
(B)
(©

10)

Which of the fn]nwing pair 18

Measurement
Evaluation

All of the above

incorrect

(A) Rangaswamy Cup — Hockey
(B) IFA Shield - Football

(C) Federation cup — Badminton
(D) Ranji Trophy — Cricket
Stadiometer is used to measure -

{A) Weight

(B) Height

(C) Fat

(1) Flexibility

A leader must have the following
qualities except :

{A) Selfishness
(B) Missionary zeal
(C) Commitment

(D) Persuasiviness

67. TR P o oy e B AT € I

68.

68.

?0‘

(19)

W R ¥ 7

(&) Tham

(B) ==

(C) wruid+

@) I

Preffofin 3 @a-ar g1 o &
(A) T g - g

(B) E.gwn. fMed — B

€Y Bl wy — FefHEA

(D) T 2 — B

Rfzanier 4 oed & -
(A) "X

(B) ou8

(C) wrErw

(D) draviEa

% Y@ P @Am-w o Ad A

afegd-
(A) @Y

¥B) &wqor

(C) uRya=ar
(D) "=
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Who i$ responsible for Samitatign/
nlcanh‘-"“sm echool 2
~eaninf WOrker
(B) CleamaF
() Teacher and student
D) Allof the above
What is the Measurement of
OlympicSwimming Poo] »
(A) 50x2mt.
(B) 25x25mt.

() 20x25mt.
(D) 50%20mt.

Which one of the following is

the prime objective of Planning in

sports 7

(A) Development of strategy

(B) Achievement
objective

(C) To solve problem

(D) All of the above

Which sports was ariginally called

desired

“socoer - in-water’ 7
(A) Polo

(B) Water Polo

(C) Swimming

(M) Allof the above

(20)

71.

72.

73.

74.

g 3 Al et 3 T A JE
27
(A)
(B)
(&)
D) 3Tw |l

Aafivs arorr A1 w9 79 8 7
(A)
B)
()
D) 50 %20 A,

Fret A #9-wr o @ § a9 3 7=
SR B 7

(A) TG =1 e

(B) I=w@ F i

(C) wuw FEm

B T W

PoE @9 ¥ gw ®1 @ ‘o 7 gedla”
FE A8

(A) &

(B) 3w It

(C) &t

(D) IR 7l

qr=r
T el

i & =

50 x 25 4t
25 x 25 #i.

20 x 25 #1,
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76. A chart and Mode] . 2 tonch:

Aid -
(A) Audio-aids (A) = sy
(B) Visual-aids (B) 37 mrg=
©) Audio-viauala'[da (C) 37-2m7 mpray
(D) None of theg, (D) z=% 3 534 4
76. The best Teaching ;g forteaching  76. Ba rfefyn & fugor g &=
sports activity iy .
(A) Audio :!FEWW i
(B) Visual (B) 3%
(C) Audio-Visya) (C) ==-zm
(D) All of the above (D) I ==t
77. Round Robin tournament also T7. TI7E RS aEter 8@ e
known as: ¥,
(A) League tournament (A) S ofadiwy
(B) Knock out tournament (B) -3z sRAQiPer
(©) (A) and (B) both NE) () 7 (B) A

(D) None of these (D) z48 & &3 =it

78. Scope of sports management 78. A3 mamE & 9% Pndv ? -

depend on

{(A) ReE gy
(A) Finance

(B) gRoat ©
(B) Facilities

(C) Tt o

(C) Personnel
(D) All of these

SONE R

US-16160-Series-S (21)
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80.

81.

82.

US-15160-8Series-S
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Tournament between the institu-
tion ig known as :

(A) Intramural

(B) Extramural

(C) (A) and (B) both

(D) None of these

How many Types of Combination
Tournament are these ?

(A) 2

(B) 3
(C) 4
M) 5

Free hand Exercises generally
done in groups 18 called :

(A) Weight Training
(B) Plyometrics

(C) Drilland Marching
(D) Calisthenics

Intramural Competition are

important :

(A) For 8chool

(B) For Colleges

(C) ForUniversities

(D) Forzll of these

(22)

79.

80.

81'

82.

a3 me @A ae SR
AT AT 8
(A) T

(B) THTIA
NCY (A) agr (B) @

D) v A F 34
#g?ﬂ;jﬂﬁvtﬁv—rﬁm%ﬁ???

(A) 2
By 3
©) 4
D) 5

mﬂm%mﬁ#ﬂéfﬁm
aram frorEt a1 el #

(A) W7 9bem

(B) wAramfg

(C) @ vz wifdy

(D) Tt

Frderfrs afdfiad weay ©
(A) = & fa

(R) werfqawd & fau

(C) Rwufdaeg 2 fo

@) z9 vl § e
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ifthe number ofteam, 10 0

num

(A) 14
(B) 16
(©) 16
(D) 17

84.
(ﬂ) Hockey

(b) Weightlifting
(¢c) Kabodd:
(d) Volleyball
@ ()
Ay (i) Gv)
B) @) (u)
© G GiD
(D) @  Gi)

85, In double league tournament

Match the following.

ber of byesis

= 0, LIBERO
= fu) CANT
= {my Roll in Substi-

fution
- (v Snatch
{e) (d)
() (1)

@) (v)
) ()

() (iv)

if number of teams are 18, then

what is the number of matches

conducted in the Tournament :

(A) 306
(B) 153
(C) 612

(D) 459

US-15160-Series-S

(23)

B4.

85.

83, "3 AF-prrr of QTN A c?‘
e £ T

o 17 &orom A g

1

Ay 14

(B} 15

(C) 16

(Dy 17

freriafeg 2 412 488 ©

(a) :';I'-':'ﬁ - f1) w

(b) WHAA - @) #WACE )
(¢) FaTd - gp DF §F FECGT

(d) THAH vy EF

(A) iy vy @D @
B) G Guw @ V)
(C) vy Gn)y @ Q)
M) ) Gy @@ v

gas & st § gk W 39 T
i F s 15 2 & sk 8
A4t =1 FErAT e WA

(A) 306

(B) 153

(C) 612

(D) 459
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87.

88.

89.
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In Adm;nistrntiun the word

POSNCORB'iS given by .

(A) Gulick

@) J.B Nash

() H.C.Buck

;l)) None of these

SPDA’ stand for :

(A) Sports Project Delhi Area

(B) Sports Project Development
Area

(C) Sports Policy of Development
Area

(D) Al of these

What do you mean by Supervi-

gion ?

(A) Divine vigion

(B) Lighted vision

(C) Extrsordinary vision

(D) All of these

Which one of the following is most

essential for the development of

sparts and games 7

(A) Coach

(B) Sports fund

(C) Sports Management

(D) Al of these

(24)

86.

87.

88.

89.

“ireErd” ge qamea § fEE RO
A TaE

(B) &. 1. 3w

(C) wa.#. 7%

D) T 8 R 4l

‘qaWET F oyl A

(A) Recht &3 71 Q& 99

(B) &« uRdrm # I 8

«C) P &= # aa Aify

D) & &

e & sy F weAd 8 7
(A) R gfe

(B) drchfde gfte

(C) A e
P) 4B ad

frefofas # @ d9-01 Qe 3 RwRE
¥ ¥ T8 % HEEs X ?
(A) wRmF

(B) @@ M

(C) Qd gav

‘@) TE T
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Name of the Peraon
gave 'PC‘SI)C(JRB.

90. who

, theory of
organisation”

(A) Luther Gulick
(B) Fayol
(C) (A) and (B) Bath
None of these

()

91. Identify the leve] 3¢ which direc-

ting function takes place in an
organisation/management

(A) Top level Maragement

(B) Middle level of management
(C) Lower level of management
(D) All of the above

It refers to all measures which are
used to motivale sports person to
improve performance-

(A) Leadership
(B) Motivation

(C) Incentives

(D) Communication

US-15160-Series-S

90. A = POSDC

91.

'E-!“U

afEr A 2 22
77 1%
(A} 7o (B) A1

(B)
()
(D) =9 &t 1% a#H

¥ ¥y w ow=d Aer 3

(A) 5979 1 Ferpa5 =T

(B) 79795 1 mig= W1

(C) mam= & == &7

) JII7es =6

g2 39 W F waiHa v 2

@ fmaE & azIa § gar w517
@R 2y T F Bw Iugm R
%

(A)

(B)
{
)

T
qo
87
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95.
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givenin 8 preliminary ranking for
the purpose of Draw i known gs-
(A) Seeding

(B) Bye
©) (A and (B) both

(D) None of these

In which mcthod of league.no bve

is given to any tcam and there ig
no problem of even or odd number

of teams 7
(A) Cyclic Method

(B) Stair case Method

(C) Tebular Method

(D) Inal

Equipment Pomell's Horse related
with which game :

(A) Polo

(B) Equestrian

(C) Gymnastic

D) Allofthe above

Which factor affect the class
management ?

(A) Class formation

(B) Dress

(C) Diseipline

(D) Allof the above
(26)

93.

94.

95.

96.

A AR oy d-wfoartt @ €W
A PR g 3 g & R T
W & w3,
(A) =ifys

(B) ¢

) (A) T (B) 2

M) % & FxZ T4

T @ e wsfy 3 iR o T AR
T8 & il ohw mm m fwe @ ant
&t At T wwwn @ o 8 7

(A) G@g il

(B) T fafa

(C) &g fafy
D) @ F

94 T i @ e fow @@ A B -

. pgad g1

(A) 4l

(B) g=Hail

&) FayAifees

(D) =T a7+ &

PH-HI S $4 99T B THAT FHTAT

2?7

(A) @81 41 GG
(B) dv-g@

(C) &7amEA

@) 2uia adf
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AL AT
i |

The main l'l!.'_‘r.,,_,“_ of the 97. fimrr % reyrey Hl ri@

97.
gupervision of 'rr_-ach;ng should be ——
(A) Advnn{:ﬂmem‘bpff.-groqq for (A) Tora zm=mm 2 A
students welf, ., ez
P er utiliza, (B) =3 =fagrat &l :;gf’.rﬂ
(B) rop YZation of school !
cilities
g' rying (Cy trrmmm 3 qET A AT
(©) arr] out of the
cul'!'iL‘UlUln “$EN)  wE d Al vﬁ 3 el
(D) Achievement of ¢ cogs in
class
N AT 2
yg. The school teachers are directly  98. oM@z a7 smres 774340 7 —_
sible to the
respon e |
(A) Headmaster
{A) T FTTTE
(B) Dev =
C) Parents (B) =
(© Stud (C) =mar-T=
) Students .
@ LDy Amndt

99. Administration means. 99. g W oFL Y -

() To look after (A) 2g-T@ ¥T
(B) To protect B
(C) Torun o 3 —_:T
A Harae el
(D) To establish [ i
(D) == ==

100. Which one is not a type of 100. 7= §F W3- 9TRA ®| FET a4 X -

Adminstration -
. v &3 A Pt TR
(A) [Instructional Admimstration

(B) Authoritasion Admuustration «B)  NITwE Sumee

C) Democratic Admmstration ) A
( ) l EIMOoL [y T (Y __;1,__5”,.--“_,‘._ TV
(D) Laissez Adnnmstratnon -
(DY FARFEA ITET
(279

US-15160-SeriesS
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SOCIOLOGY

Functions of Sociological Thought
(Code : A-332)

Question Booklet Series
(To be filled in by the Candidate / forr ~B57 0
Roll No. (in figures)

Question Booklet
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)

IS (S )
Roll No. (in words) [Maximum Marks : 50
s (= H) [iftam 3% : 50
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1.  Donotopen the booklet unless you are 1.
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9.  The booklet contains 100 questions.
Examinee is required to answer all 2.
100 questions in the OMR Answer-
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question booklet. All questions
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1. Mo o ‘ L
Who mphasizod oy the objective L. awfre awe W e g cenfl
study?

(A) AT ¥
(A Max Waboer (B) red
(B) Marx
\ (C)
(C) Durkheim Edsm
(D) arrg FR

(D) Auguste Comte

2. According to Weber, three basis 2. 359 397 3 HAR T B aH
of stratification - T
(A) Class, Education, Power | &) 7, R, ot
(B) Power, Status, Education (B) i, wRaft, frn
(C) Class, Status, Power () i, e, i

(D) i, uRafy, fwen

(D) Class, Status, Education

3. Books written by Weber 3. M AT 3 R W :
1. Economy and Society 1. @R qur G
2. Essays in Sociology 2. U Rmh
3. Primitive classification 3. DR tafdar
4. The Religion of China ;) : ﬁjtﬂz e E"E:IT
@ 2 3 4 B) 1, 2, 4
® 1, 2 4 © 1, 2, 3
© 1 23 W) 1, 38, 4
M 1, 3, 4

US-15187-Series-R (1)
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4. Which of the following, word 18 4.

related to Social Fact?
(A) Society

(B) Association

(C) Group

(D) Community

5.  Match the following: 5.

(a) Comte 1. England

(b Marks 2. Russiu

(¢} Sorokin 3. Germany

(d} Spencer 1. France

(@ @® @ @

Ay 1. 2 3, 4

@ 4, 3. 2 1

) 3, 1L 4, 2

(D) 2, 4, 1, 3
6. Match the followmng: - 6.

(a) Durkheim 1. l}hl;,*

(b) Weber 2. France

(¢} Parcto 3. India

(d) Dhurye 4. Germany

(@ M © @

(A 2, 4, 1, 38

@) 3, 2, 4, 1

© 4 3 2 |1

™ 1. 2 3 4
US-15137-Series-R (2)

freafafas 0 QA FWow o @

A @ Eatm 27

X)) THE

(B =Ml
(Cy e
(D) #§2E

et & afad @

(i} gl
(by M4
(c) BRIHA
() {ET

(a)y (b

(BT A, 38,
(C) 3, 1.
(M 2, 4.

I.

b

f=ialaa ! rﬁ‘rr He o

() T
() @43
({f)ﬁ*.ﬁ
(dy g

@) (b)
(A) 2, 4,
(B) 3, 2,
) 4, 38,
) 1, 2

https://www.ccsustudy.com
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Which book is not related to
Spencer? -

(A} Principle of Biclogy
(B) Principle of Psychology
(C) Principle of Sociology .

(D) Division of Labour in Society

From which language is the word
Evolution derived?

(A) Latin
(B) Hindi
(C) Greck
(D)} German

Which of the following is not
correctly matched?

{A) Ghurye - 1893
(B) Travati Karvey - 190b
(C) Srinivas - 1910

(D Mukherjee - 1889

US-15137-Series-R

7. - g Ao @ w6 E
(A) pifaaw ofte QK
@) BRes atE arsdh
©) Bifewa e Sfdweh
<Py BAA e JaT 7 wranad

8. TRwm () Pm wmr & fa

T 7

(A) e
(B) &=
(© =

(D) T

9. Fraftfya ¥ @ ¥ gRiT 78 22

(A) IRA - 1893
B) zuad 3 - 1905
(C) wfEm - 19i0
@) weeit - 1889
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F -
10. Match List I to List il - 10. @ 1® g 113 B

(8) Durkheim 1. Circulation of () s@'ﬂ 1. #ER T # o
the Elite o) - 2

b M 9 Suicide

- © ¥ 3. FEY-T=Y

(¢} Pareto 3. Ideal Type

(d) Weber 4. Dialectic (d) 3T 4. ARG IR
Materialism (2 ® (@ (@

A) 4. 3.

2, 1
® 1. 2 3 4
© 3. 1, 2 4
M 2 4 1. 3

© 3 1, 2 4
“P] 2, 4 1, 3

1L Which vear 15 kpown as

11. -9 FF FAPT HA S T A T

‘Renaissance Period' ? o ¥7

(A) 1250-1450 (A) 1250-1450
B) 1350- 1550 B 1350- 1550
(C) 1450- 1650 (€) 1450-1650
D) 1550-1750

12. Who is the Father of Sociology?

D) 1550-1750

12. waweE @ M 9 87

(A) August Comte i e PR
(B) Herbert Spencer (B) ¥ Q=T
(C) Emile Durkheim ©) e {ER
(D) Marx D) o
US-15137-Series-R (4)
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13. Which Revolution is called 13. f39 Fl~ F

"Terrible Avalanche? w27

(A) France Revolution Ay SR A F

(B) American Revolution (B) AT =

(C) Industrial Revolution (C) hafres wfa
() et @t

(1) Scientific Revolution ¥
. i % [J Ig;HfE! '—m;[ .
14. ‘Caste is a close clasa', who said? 14, ‘fd ¢F a< 71 ¢

(A) Majumdar (A FIERTT
@) N. K. Dutt (R) @1. 3. 24
(C) Ghurye (€) Fa
(@) J.H.Hattan M) . . &
15. Who is known for the word 15 R % 3 ke 3w 2 AR ¥
'Verstchen'? &) B A
(A) Max Weber —
(B) Marx P
(C) Parsons Dy o

(D) Majumdar
16. Durkheim has considered the  16. 3@ % od & 3wy 2 R 3 Pratey

study of which Tribe as the basis 3 [ e e @ AT B AR
for formulating the principle of T 27
origin of Religion? @
(A) Arunta
(B) Eskimo (M) i
(C) Santhal (C) dum
US-15137-Series-R (5)
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18.

19.

US-15137-Series-R

. Which
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Who is the Proponent of Totemism?
(A) Merton

B) Parsons

(&)

Dawvis

(D)} Durkhiem

Cosmicism started with the

French Revolution.
(A) True

(B) False

(C) Daubtful

) None

When France got Independance?
(A) 14July 1787
B) 24 July 1877
(C) 14July 1789
(D) 14July 1788

scholar Propounded

Sociology as a Synthetic Science?
(A) Durkheim

(B) Weber

(C) Marx

(D) August Comte

(6)

17.

18.

19,

ez & o ¥

)

(B) &1

(C) W=

(D) FE™

wE B W § DHEEAE F O BH
A7 w#

(B) Ta

(C) R

(D) ¥

TWE T @A gAY
AAY 14508 1787
(B) 2497 1877
(C) 14 9% 1789
(D) 14 9% 1788

. fra Ram 3 s99yRT & o Hee!

R & =1 & ofiroifza R 27

(A) @™
(B) ¥R

©)
) T e
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2
: [ i H #" af:[q":’j:‘.‘ :ﬁ"' g-
21. Who 18 the exponent of the Law 21. 4@ wia Fan ¢

of three stages™ Ay AT
{4) Spencer By w2
(B} Comte
(C) FAT
(C) Weber
(M Parsons (D) TEH .
929. Who is the authur of "The course 92, “f P A qfATzT Rerasr e
of positive philosophy'? AFT B X7
(4) Darwin (A) =i
(B) Marx (B) W
(C) Comte «€) IR
(D) Weber (D) 3=
23. Who was the diseiple of Saint 23. Bve g & B v A7
: ?
Simon "
(A) Bpencer
(B) gt
(B) Mukherji
(C) =hfvarm
(C) Srinivas
(D) Comte By FR
24. Who is the author of Principle of 24, ‘fifawa affe Sy =% 2 ras
Sociology? T X?
(A) Parsons (A) TREV
(B) Pareto B VA
(C) Weber © ¥

(D) Spencor “D) R

US-16187-Series-R (1)
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g5. In which country did the Sociolagy

27.

US-15137-Series-R

arginate”?
(A) America
(B) England
(C) France
(D) India

Who said 'Sociology is the science
of society™

(A} Odum
(B) Weber
) Ward
(D) Ogburn

Which of the following vear is

related to birth and death to
Comte?

(A) 18581970
(B) 18515-1883
(€C) 1902-1958
(D) 1798.-1857

Who is the exponent of 'Theary of
Natural Evolution™

(A) Darwin

(B) Spencer

(C) Weber

(D) Marx

(8)

25. ARAELT frag & af Ba 20§
f
(A) {1
(B) U3
(C) ®mA
(D) 7=

26. 'R §OW H Q@ 271 Y K94
fra® 27

(A ¥rEm
By 4t
(C) =
(D) Hima+

27, frafafegs & & FR-@ oW 3R @
A g A At 27

(A) 1858-1970
(B) 1818-1883
(C) 1902-1958
BT 1798-1857

28. ‘o3 g ey B gfaes FE 87
(A) 3+
(B) ™7
@y Ax

(D) =N

https://www.ccsustudy.com
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99, When was Durkhaim born?

30.

31.

32,

US-15187-Series-R

(A) 1D April 1858
(B) 15 April 1857
(C) 15April1818
D) 15April 1798

Whe was known as Irench
Sorﬂkin?

(A) Spencer
(B) Weber
(¢) Durkheim
(D) Marx

What is the characteristics of
Vedic Social Thought?

(A) VarnaSystem

(B) Ashram System

(C) Hituals

D) Al

Full name of August Comte :

(A) Isidore Auguste Marie
Francoise Xavier Comte

(B Francoise Xavicr Isidore
Auguste Comte

(C) Maric Isidore Francoise
Xavier Auguste Comte

(D) Auguste Comte Isidore

Marie Xavier Francoise

(9)

29, q’ﬂ'ﬂﬁﬂﬁt-’imm?
(A) 15 3 1458
(B) 1525 1857
(C) 153 1818
(D) 15 38 1798
30. B ANfET & =0 & B my 3 ¥
(A) &A7
(B) aar
&€y g
(D) =
31. Lo G RRILE GE ] Ry 1 m
T #7?
(A) | =gen
(B) AT e
(C) &
D) aft
32. St I J| T AT

(A) FET AR T T8 IR
B

Fed

sh=2ite

https://www.ccsustudy.com
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34.

36.

US-15137-Series-R
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Who has proposed the term

Secularization® ?

(A) Srinivas

(B) Yogeadra Singh

(C) Mukherjee

(D) Desai

Which scholar's name 1s agsociated

with great tradition and Little
tradition?

(A) Hattan
(B) Redfield
(C) Benedict
(D) Hobel

. What is the basis of diversities in

Indian culture?

{A) Religion

(B) Languages

(C) Castes

D) All

What are the main features of
Indian culture?

(A) Unity in diversity

(B) Many languages

(Cy Many races

() Many religions

33.

34,

35.

36.

(10)

R?
(A) HiaE
(B) = fHe

(C) T=i
(D) E

gEa TOU AT @y oaa 3 M R
fam w0 am 31 37

(A) &EA

«(B] RS

(©) Fidee

(D) M=

TR Al W e & AT F/
&7

(A)

(B) #me@

(C) aforai

«P) ufi

ad @l ugE fadua sE-d
&7

(&Y AT A

(B) 3% WiNd

(C) % wanfori

(D) 3% ad
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| 98
q7. Who said ‘orii¢h of caste is nol 37, Fnq # Iata @Eafes el ¢

oecupational' ? fraE #49 &7
(A) Srinivas () s
(B) Ghurye : (B) @
() Ketkay {27 BAFT
(D) Majumdar (D) HA927
16 Whose maguzine is the ‘Social 38, ‘Afmitrss gafer Frae wrsl ¥
Bulletin®? Ay i
(A) Srinivas ' ®) T
®) Ghurye P
(C) Mapnmdar D) 3
(1) Karvey
39. Name the book of 'Kautilya': 39, ‘Pfew’ A TGF B AW FARY :
(A) Manusmriti (\) =i
(B) Auxthashashtra (B) sriamE
(C) Socivlogy (C) WA
(D) All (D) Wl
40, Which of Lthe following subject is  40. Frafafga fard ¥ § -7 Q9g g
new? . ?
(A) Astronomy (A) T
(B) Astrology (B) tfeaames
(C) Sveiology (C) a9 ems
(D) Mathematics (D) TRt

US-16137-Series-R (1)
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41. Sociology was first taught at Yale

42,

US-15137-Series-R

University. Where is it situated?
(A) America

(B) France

(C) India

(D) England

How long is the Fourth stage of
the development of Sociology?

(A) 1798-1857
(B) 1864-1917
(%)
D)

1918 - 1998
1819. 1947

Which science has the first place

in the classification of sciences?
(A) Sociology

(B) Astronomy

(C) Biology

(D) Mathematics

Put the classification of sciences
by Comte in the correct order :

(A) Biology, Astronomy, Chemistry
(B) Astronomy, Sociology, Physics
(C) Physics, Biology, Chemistry

(D) Mathematics, Astronomy,
Physics

41.

42.

43.

44,

(12)

T TR U favafaame &
@ T AUl 98 g Rl g7

(a) PR® &

By % o

(C) @ ¥

(D) ave A

wEE & B ¥ agd s
3@ O A B

AT 1798 - 1857

(B) 1864-1917

(C) 1918-1998

(D) 1819-1947

el @ figror 3 vem wF e REE
7 ¥

(A) IR

(B) wiwme

(C) afREe

By

3R a0 R $ TfE & 6l
@

(A) wforme, @i, T R
(B) @AM, FRAE, Sid Bt
Gy Mers fomm, aiforeme, TemgA fas
(D) @, EeeEs, dft e
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48.

47.

48.
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Who represoited the inspection,
test, historical and comparative

method for Sociology?
{A) Aristotle

(B) Flato

(C) Montesquiou
(D) Comte

What is the fundamental unit and
Cornerstone of gsociety

(A) Family
(B) Neighbour
(C) Kinship
(D) None

What is not related to 'Three
atages of Laws'?

(A) Theological
(B) Mectaphysics
(C) Positivism

(D) Economical

Marx's which book is like a ‘Bible'
for Socialists?

* (A) The Poverty of Philesophy

_US-15137aSeries—R

(B} Communist Manifesto
(C) Holy family
(D) Das Capital

(5. Pl TR & Rrg FraE T,
it (O CR UKD qefl &
Predfie Rear?

(A) 9]
(B) @
“C) TR
M) #2

46. maﬁwmﬂ?mﬂmt
Ay ofEr
(B) w9
(€ erd
@y a7

47, &9 wla Pt 3 ok T ¥
A) o=
(B) oRas=r

(C) TBRRRE
Dy e

48, T Rt B PA-H S AR
3 foq e 3t TE ¥

@A) A 1 s R
(B) Ffre et
«Ey &Rt BB

O W =

(13)
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30.

2.
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When was the concept of ‘ldeal-
Type’ first used”

(A 1901
(B) 1902
() 1903
)y 1904

Other than Weber, who are the
scholars associated with the
corcepts of ‘1deal-Type' ?

A) Dilthey

(B) Simmel

() Edmond

D) Al

. Who coined the term ‘circulation

of elite’' ?
(A) Pareto
(B) Marx
(C) Parsons
(D) Weber

Who said Capitalism digs its own
grave?

(A} Durkheim
(B) Marx
(C) Weber
(D) Comte

49.

50.

oL

62.

(14)

e ‘oR-ATE F rurn A g
& fom T

(A) 1901

(B) 1902

{€) 1903

(D) 1904

331 F @@ e wiwT T
yqurw & B3-37 g J2 2

A R

(B) M

(C) wavg

By &

Sfema 2t & dftwror Byt zm P
nyy?

(A) 7

(B) =

(C) IwEH

(D) T

T =1 wpfy & &l 2 R a2
A Wl wem 3 4% T e b7

(B T

(B) Wl
(€) ™
(D)
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53. Which theory'is related to Marx?
(A) Theory of surplus value
(BY Class struggle
(Cy Both
(D) None of 2hove

54, How many lypes of Ashramas are
there?
(A) 4
(B)
) 6
D) 3

(W]

56. How many types of Suicide has
Durkheim described?

(A) 3

(B) 4

G 5

(D) 6

56. 'Tthnology' word is related to:

(4) J.S.Mill

(B) Wright Mills

(C) ldward Shils

(D) Herbert Spencer

US-15137-Series-R

53, A faar el qoEl A geaffd 27
(A) i g # g

B) at-wmd

€y A

(D) & & F3 T

54. I fedd GERE & B 2
(A) 1
WB) 5
(C) 6
(D) 3
5. 79 3 orEn @ PR gR A €
YA 3
(B) 4
© 5

(D) 6

56. ‘CaRmr o fFEd ddfa @2
(A) . A P
(B) e frew
(C) T8 R
29) BRI CCR T

(15)
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=, Ponsequencer of Enlightenmen
(A Humamsm
{B) Art Progress
) Rehipon Reformetion
@ All

s6. Which of the following 1e the
Founding Socologst”?

(&) Durkhemm
B Alexsnder
{C} Pareto

. @ Sorvkin

’. Durkbeim 1+ related to .
A Fac
@B Class-Suruggie
(€} Circulztion of Elite
O} Al

0. Tvpes of Authorities given by Max
Weber -

Al Legal Authority
(B} Traditional Authority
() Chursmatic Authority

M Al

57 mwa @ OfTTE
(A) WHEET
By = & s

() ™ gar
D) =4
58, Profafga & 7 A9 wRITE THEAAR
b7
gl
(B) sdwre
() ¥
(1) A0fE
59, g wafam B
(A) ™R
(B) oi-gwd
() st o & e
@ ah

60. Hen Bgr pro fed my wE & ST

(A) bufrE @@
(B) SrRUATE B
() wfrend w0
G o

US-15137-Series-R (16
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g1. Who satd. Tn gre inlogy ‘what e

62.

63.

'm“‘d t'ff' Q?H(hr\rl and 'nn‘, Whﬂt

should he™
(A) Weber
(B) Ward
(C) Durkheim
(D Odum

When was Socwology first taught
in India?
(A) 1919
B) 1914
(C) 1916
(D) 1920

What is Social [deology®
(A) Social Philosophy
(B) Social Theory

(C) Systematic ldea

(D) Subjectivity

Who among the following is known
as 'Father of Indian Sociology™

(A) Mukherjee
(B) Dubey
(C) Desar
(D) Ghurye

US-18137 Series-R

62.

TR

mrmEr 4 R Y W AR O
ok 5 o e A e H9 P

Tl

arntes Reror & Y

() arfes T

+BY apafors e

W) A Qe

Dy et

rrafaiee 3 2 S WA R
$ M 4wy oAt o}
At

®H R

W) et
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Which scholar emphasized the
Philosophical approach to the
study of Indian Society?

(A) Snnivas

(B) Dubey

(C) Yogendra Singh
(D) 1. P. Mukhernee

Which scholar emphasized the

struggle approach to the study of
Indian society?

(A) P.N.Prabhu
(B} Dubey

(C) Damley

(D) Desai

Which Indian schnlnr'called

Sociclogy as the 'Master Science
of Society™

(A} Ghurye
(B Mukhenee
(C} Majumdar

() Srinavas

. Ancient Sources of Indian Social

ideology are :
(A) Upanishad
(B) Manusmriu
(C) Mahabharat
(D) Al

65. g fABF A YnEm a3 T

66.

67.

68.

(18)

& e shtewer o am Ry
(A) AFETR

(B) 7

(C) @Az faw

M) #. @ e

8 B A wrEm e @ aeggE g
wo gl o o R

(A) di. T3y

®

(C) T

(D) 2w

R wdig RaE 3 aH[arE 3 T
F FwidEE &' BY

(A) g

(B) g&=t

(CC) HFTER
(D) iy
/Ay aafes faram & g 39

.
[

(A) IuFyE
B) wEf

(C) wemwid

W) ad
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69. G.S. Ghurye js relgteq to: 69. oh. qw. gRAt @ wawm ¥ :
(A) Social Phijosophy ©f (A) @I fEatarer e HEw
Mahatma Gandhi et
(B) Social Chapge in Modern B) Ay o= 7 T 3RA
India (C) Beafer TR sfosar
(C) Kinship organization in India Py ® wza wng
(D) Thelndian Sadhus
0. Caste literally means : 70, R @ wfes ot B
(A) Nasl (A) T
(B) Prajati (B) wanfey
{C) Bhed (C) *=3
D) Al D) |
71. Who wrote the book 'Caste in 71, ‘& 3 gear ¢&® fpar el?
India‘? &) o
(A) IravatiKarvey .
(B) Hattan ¥B) &=
(©) Dubey ©
(D) Ghurve (D) A
79. What is the birth-date of Radha 72, (uGwe qeeh 2 d=farg = 27
Kamal Mukherjee? &S 7 Rt 1889
(A) 7 Decc. 1889 (B) 7 RE=AT 1789
(B) 7 Dec. 1789 © 7REET1870

(C) 7 Dec. 1870 (D) 7RE=T 1798

(D) 7 Dec. 1798

US-15137-Series-R (19)
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73. Whose concept is Sanskntimtion™

(A) Snnmivas
(B) Ghunve
(CY Majumdar
(DM Desar

74. Whuch scholar has called 'India s
a Museum of Races™

(A) Furth
{B) Benedit
(@ Marx
(DY Ruziev
75. How many characteriatics of caste
svstem have been described by
Ghurve?
(A 5
B 6

.~

({Cy 8
(D 10

76. \Value developed virtue :n Person's

life Who sad 1t?
{AY Weber

(B} Merton

() Mukhenjee
(D Churye

US-15187-Series-R

13, wegRETT RE anmren B
\lﬁ LSRR

® T3
(C) TR
(D) e

=4. B0 REA X W @ TR § N
s {7
A =
(B) WBR
(C) vt
“Dy e
75. TR A Wi awEn @ R R
awt K?
(A 5
«B) 6
) 8
(D) 10
76. T =R § A N 8T W REE
5@ Y R g ¥
A)
(B) =

&) g
D) g

(20)
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Who 1« th, yithe

-
AN N "
Ch (ART. “.I,,,:I‘]_”I !l'lli\:\"

v of Qecral
T LI R THEAN
B Mukh, Ny
(Y Movuand,

(N Srinn

as

Which

"
:"\.-“.1‘

far adopred Marxast
pt\t‘."‘pt‘\‘ﬂ\r on i‘-hh;\l‘l &Tlt‘!‘\' in
his studes®

() Ghuny
(B) Mukheree
(O Srmnvas
(I Dubev
Who 15 the
Hierarcies™
(\)

(I

Hattan
Dumont
(Y Betelle

(N Pamkkar
The speaific
Ghuryve s called

porspectunwve of the

\) Subaltern
(B Marssm
(Y Indologieal Approach

Ll N None

37-Series-R (211)

author of 'Homo 79.

80.

e A €A wrwd eSregy” q‘ﬂ!" tg3r

—
(A 'Ffﬁ

By FgEA

i AT

(DY AR

R e 2 aeeg BeL 97 AT

::@ﬁrwr*'-‘r‘wf':aﬂﬂ‘
Wy g

(Y TR
(M =

R ognsta ERE e ¥
Ay ®EH

B g

TR &~

(I T

2w Ry o @ R
(A) e

WBY S

() wa B IS

(D w¢ =&
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81.

82.

84.
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Who

‘Repressive and Restitutive law'?

introduced the term

(A) Simmel
(B) Parsons
(C) Durkeim
(D) Pareto

Who is the author of the 'Life
Devine'?

(A) Gandhi
(B)
(C)
(D)

Who is the author of 'Invitation to

Sociology™?

Manu
Radhakrishna
Arbindo

(A) Tovnbce

(B) Peter Barger
(©)
(D) Kimball Young

Who ie the author of 'The Third

Wave' ?

Bottomore

(A) Wilbert E. Moore

B)
(©)
)

Fdwin Denbough
Smelser

Elvin Taffler

S1.

82.

83.

84.

(22)

ot A i wE A R
mega f&a?

()

(B) WL

€y ™

M T

' amP R & dae B9 27

(A) idi

(B) =7
(C) THTH
(D) <

‘TR ¢ HIREE §EE @ Slags
(A) #rEadl

(B) dieT T97

ey AT

(D) [t 4w

‘R o€ 3’ a0 I F dAGE I 7
(A) R g 7w

(B) wefe S

(C) |t

(D) ufea ewaat
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. Who is the uuthor of “The

Methodology of Sacial Science.
1949'?

(A) Parsons

(B) Weber
(C) Marx
D)

When was Weber horn?

Kimball Young

(A) 1864
(B) 1868
(C)y 1904
(D) 1968

. Who said, 'Man is exploited by

man'?

(A) Comte
(B) Marx
(C) Weber
(D) Durkheim

FFacts are discovered in Social

Rescarch?
(A) OM
(B) New
(C) True
(D) False

US-15137-Se¢ries-R

856.

86.

87.

88.

(23)

B ARt offE ARd TRE 194y
3 das a9 &7

(A) T

(B) 37

(C) wrH

(1)) Foeta I

37 1 o= fRw T & g W7
(A) 1864

(B) 1868

(©)
(D) 1968

T % AE ET0 9 g @, d@
w2

(A) e

(B) W

(C) AR

(D) gd=

amivie dgEaE § B all & S
F i 27

(A) wrEE

B) T =

Q) w9

(D) ¥\

1904
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89. Match the following : 89. Pt # g F .
(a) Society 1. Alex Inkles (a) HRECT 1. TR SF
(b) What is sociology 2. Maclver and (b) FE 2. fraa T 4
Page AR
() Introduction to 3. Smelser (© Cd L il A 3. Waat
Sociulogy Afd
(d) Sociology 4. Jayram (d) SRR 4. g
(@ (B) @ @ (a O® @ (@
(A 2. 1 4, 3 @ 2 1. 4 3
®B 4. 3 2, ] B) 4 3 2, 1
C) 3, 2. 1, 4 ©) 83, L, 4
@ 4 2 1 3 m 4 2 1, 3
90. Match the following : 90. Preifufea 3 gafra & -
(a) Social 1. Sorokin R
Organisation
(b) Sociology : 2. Johnson () WA Q2 S
‘ A Systematic Rrdffer g
Iatroduction (c) A=A, FeT 3. ad &R
(¢) Society, Culture 3. Charles Coolev e AR

and Personahity

{d) Human Saciety 4. Kingsley (d) §F SR 4. Bt 3wE

Davis (@ (b) (e} (d)
(a) (b)) () (@ A 1, 2 3 4
A 1, 2 3. 4 ®B) 3. 1. 2, 4

B) C) 4, 3, 1. 2

©
™ 2 4 1, 3

A B 1, 2 0Dy 2, 4, 1, 3

US-15137-Series-R (24)
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91. Marxis: 91. w8 :
(A) Sociologig (A) FRTSTSTEAl
(B) Economjg (B) ::;
€y
(C) Both
m) = 7
(1) None
92. Weber is related to - 92, T gafeaa 2 -
(A} Bureaucracy (A) rezeme!
(B) Fact (B) &
© Class-struggle © ::;m
@) Al By
93. Elements of the Social actions 93, wrifys w1 @ oA £
are : (a) af, w3
{A) Actor, Aim (B) uRfraferi, &
(B) Situations, Means @y A7
) =% F&
(C) Both
(D) None
94, Who said, 'Workers of the world  94. ‘TP & wagdl, & & i, FFEA
unite'? FaI?
(A) Hegal (A) #ra
(B) Marx “B) R
(C) Tt
C) Durkhein
(€ Dur () A=
(D) Lenin
US-151387-Series-R {25)
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' fpaa ot B2
a. mﬁﬁféﬂmaﬂ

. Value' w
5. "::t:i Structure of Value'. whn ‘m gaiﬁ
(&) Mukhenee ®) Sﬁa
®) Ghurve @ AT
(C) Srinivas o =
D) Kurvey

96. ‘lsolation’ is related to

(A) Durkheim (A) FEH
(B) Ghurve ® 2
(C) Marx ) w
(D) Karvey @{ A
97. What is Social Thought? 97 IR fErar & 8?7
(A) Social Fact L&) Wi T
fei=
(B} Social Thinking (B) P
. (C) | A1aT
(C) Social Sentiments
(D) TlE BTEe
(D) Social Reshuffie
98. Who said. “Hietory isa Graveyard 98, ‘ghwm & FfiFa= & Hhrar’ fra
of Anstocracies” ? 87
(A) Weber (A) 3T
B) Marx (B) =
US-15137-Series-R (28)
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99. Yra } Amfrs, fpFavh, WRARS 3

09, In which {'lnﬂqr]m.q Pareto put the

Scientier, [“"'”f-r-nml and R ot F gy 27
Engincerg?
(A) arFs afwaA T
(A) Ruler a)yy,,. .
! (B) somrs pfgam 1
fB) :\'On'rlllf%rﬂ“ieq
(©) Both o
D) None (D) #2 ¥
100.In what two Parts daes Pareto 100.77 3 wftema a0 =t B9 % g} 3
divide the afjse Pl - L
{‘:\} (;O\'(‘r"jng Ehtv (;\,'J' m m 31?
(B) N(}n'gO\'c]'ning E]-lt{'- IB] h-m l}"ﬁrm ﬂ
(C} Both € At
(D) None D) BE T
(D) :

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
U qU Aaud H 3w 10 Tod o,
Pavtm or Google Pay &

(27)
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T TR a1 N o R o a9
T S P o s ) e 1, A

B

https://www.ccsustudy.com -

1



|

[

https://www.ccsustudy.com

Ihe economy of developing COUNlries is:
(A)  Triangular
() Circular
() Rectangular

(1) None of the above

According to Adam Smith stationary

stage of cconomic development s -

(A) Initial stage

(B) Laststage

(C) Both(A)and (B)

(D) Nonc of the above

Robbinson’s golden age i.e. AK - AN
K N

indicates

(A) Balanced growth

(B) Unbalanced growth

(C) Natural growth

(D) Both(A)and (B)

Marx’s book is :

(A) Wealth of Nations

(B) Das Capital

(C) Factor in Economic Development

(D) None ofthe above

US-15032 (S)

https://www.ccsustudy.com

(3)

R

(C) FTTH
O) IRNF A F 7 AH

wed Y & oER, |fve sy
anftfe fewrg =t

(A) IRPH oraer ¥
@) = o ®
© (A (B) Il
D) IR & §

e 1wl g onig é},{‘iz%‘l

©) Tl e
D) (A)TG (B) &l

TR B IR §

(A) I aife I

B) M dfveq

©) R 3 @R IRTC
D) SR & § B 7
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o “ofreR qu SRORERT ¥ -gE

5. “Underdeveloped and Jess-developed

e

are synonyms.” This statement 1S . 3 qaigard ¥ 1" 98 A
(A) True (A w4E
(B) False By Fat

©) (AT (B) A

O) I ¥ & B T

(C) Both(A)and (B)

(D) None of the above

6. Pretfafa # @ B9 G (SAARC) &

6. Which one of the following is not a

member of ‘SAARC" ? w7
(A) SriLanka (A) AdH
(B) Bhutan %Bf b Ga

(C) Afghanistan (C) ST
(D) indonesia ®) FEARA

7. iR & ot R Rrar & Rl
st wee R T ¥ 7

LAy WERR R B AR

7 The theory of growth developed by

Schumpeter gives importance to the :

(A1 Need for balanced growth
®) Fnafa @@ @ e

(C) wagd A g
(D) TavEE A g

(B) Development of infrastructure

(C) Role of managers

(D, Roleof innovations

ys-15032 (S) (4)
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8.  Capital decpening means : g M ATIET A At ¥ -
(A) Using larger amount of 1y, (A) TR B T & 9w i ey arEn
compared to capital pouiETe
(B) Using more thumancapita[ (B) #HE9 'i'ﬁ A 9E Fe
(C) Increase in capital PEr Worker in (C) @B A ’31'{{ AT 7 ofqam
already existing productiop, ‘i’_’ﬁ 7 g Hear
(D) None of the above N2 8 I & A ¥ T4
9. Who conducts the periodica sample 9. W % g99-99g 9T T 3
survey for estimating the poveny line i e wdT W o A
ia?
India ? ¥

(A) National Survey Organziation

(A) TS T39O T
(B) National Sample Survey

(B) ST sfred Fdwar Fre=

Organization
(C) Sample Survey Organization (C) SIeRY HT Hret
(D) None of the above B I ¥ ¥ 9 T8
10. What is not a one of the majorcausesof  10. WA ¥ g HGHHTT 3 e Fow 2
income inequality in India ? T TE R
(A) Unequal distribution of land (A) 9 | I e
(B) Lack of fertile land (B) IS g R
(C) Gap between rich and poor (©) R & e 3 &9 wEw
(D) Increase in population (D) e 7 Ry

US-15032 (s) (5)
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13.

14.
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Which of the following isa method 10
mcasure relative poverty ?

(A) Gini coefficient

(B) l.orenzcurve

(C) Both{A)and (B)

(D) Noneof the above

Who presented the ‘[Pcople’s Plen’ ?
(A) M.N.Roy

(B) J.L.Nehru

(C) M. K., Gandhi

(D) None of the above

Who recommmends the M. S.P. and ‘issue
prices’ ”?

Ministry of Agriculture

NITI Aayog

Commission for Agricultural Costs
and Prices

(D} NABARD

Which committee constituted by the

(A)
(B}
(C)

Planning Commission to estimate the
povertyin 1979 ?

(A) Alagh Comnutiee

(B) Rangarajan Commitiee
(C) Tendulkar Committee

(D) SenCommittee

1. mﬂ%ﬂmﬁﬁﬁﬁﬁﬁ

12.

13.

14.

(6)

M oF TN & 7
Ay Prft o

(B)
© (A ® &
) T A { B T

Iia =

m-de R TR B R 7

JA) T, Iy

@) 3w # | P TH

A wda g (Lewd.) @
‘Wtﬁa'iﬁmﬁmmm%?

(A) P A

@5 Y

©) R T Td B I
D) e

1979 F T & FTAT A S [{@
drr e o e g @ e
R m ar ¢

&

https://www.ccsustudy.com
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16.
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‘National Mission for A Greg,, Indina® is
183 If

merged with :

(A) Swachchha Bharat Abhiyar,

(B) National River

Conservarion
Schemc

C) National A 1

(C) fforestation ngmm ne

(D) MGNREGA

What is the minimum days for EWrznteed
Burantee

wage employment in MGNREG!\ o
(A) 100 days

(B) 120 days
©)

(D) 200 days

150 days

‘BRICS’ is a group of countriey :

(A)

Brazil, Russia, India, Chins ang

South Africa

(B) Bangladesh, Russia, India, China

and South A frica

(©) Bangladesh, Russia, India,

Canada and Singapaore

(D) Brazil, Romania, Indonesia.

Canada ang South Africa

(7)

15.

16.

17.

;mmmm'ﬂwm
gra f&ar mar ?

Ay @B aE afEE
(C) T FeeT wdEH

(D) ‘—'Fﬁ"Tl

AL (MGNREGA) % A=R1a g
et Rl & odtgqer I Foem
Feer & 7

(A) 100 R=

By 120 R

(©) 150 R+

D) 200 R+
B (BRICS), W T T T D
AT AR, W, WRE, d9 S R

ITHIFT
(B) IRy, &4, TRA, €9 a¥ zim
ATHTH

(C) ey, =g, I, HArer 3

Rimge

https://www.ccsustudy.com
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L 18 T ¥ oTE o @ ot fom o
I8. Which year India has the high®

e @ ?
economic growth ratc ?

(A) 2006-07
(A) 200607

(B) 2007-
(B) 2007-08 ) 7-08

(Y7 2013-
(C) 2013-14 77 2013-14
(D) 2014~15 (D) 2014-15

19, Which sector contributes the most 19- WG & srefamawar § P-w1 ¥ qad

income to India’s economy ? AE s = dieE w2
(A) Primary sector (A aEtEs 8

(B) Secondary sector (B) & 2=

(C) Tertiary sector (€) Tha® &=

(D) None of the above (DY TRF | § B T

20. Inwhich Five Year Plan Indiaoptedfor  20. &g duadfa @ & @@ 3 Fibdm

a mixed econony ? Sreferaen & G 1 7

(A) First Five Year Plan (A) TU9 GEadiE A

(B) Second Five Year Plan @y o dw=ada Qi

(C) Third Five Year Plan (C) JdW dugd A

(D) Nonc of the above Dy I § § D T
ys-15032 (§) (8)
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22.

23.

24,
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Which country is the top Aluminium 21

exporter in the world ?
(A) India
(B)
()
(D)

Russia

China

Canada

What is the full form of MOQC 9 22.

(A) Massive Online Objective Course
(B) Massive Open Online Coyrs,
(C) Massive Online Open Course

(D) Mass Online Open Course

Which economist was the cofounger of 23.

“Sumaj Pragati Sahayog’ 7
(A) Sukhadev Thorat
(B) B.B.Bhattacharya
(C) V.K.Malhotra

(D) Mihir Shah

Which statc has the highest Gross State ~ 24.

Domestic Production {GSDP)in India?

(A) Kerala
(B) Uttar Pradesh
(C) Maharashtra

(D) Madhya Pradesh

(9)

R &, STET o g
ﬁaw%ﬂr%

GA)

© =

@ FTS
quaitSdl (MOOC) & T - 3 -
(A) Aa HFERT =ity S
@) A AT St B
©) At A=A T 3
(D) #E AR e g
Fr<fefaa 4 8 | sodast o
T e % wehTs ¥ 7 !
(A) g3 dre
®) . wTEd
©) §.P. Je@=TT
D) Rt g

T # R T W owew g I
(GSDP) wa®t aifirs 2 ?

(A) FF
“BY  IaT =W

C) werrs
D) sy Ry

https://www.ccsustudy.com
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25, ‘gh-ar FEIT  deeaA R

25. The conceptof *Knife-edge equilibrium

Q?
was given by :
(A) Harrod LAy Rzl
(B) Solow ® ¥\
(C) Schumpeter (©) e A
(D) Domar ©) IIA

26 ﬁqﬁ%ﬂ%mﬂwﬁaaﬁﬂﬂ

26, Which onc of the following is not 20,

correctly matched 7 14
(A} Stages of Economic Growth (A) A CED q@ # FaWEIT : A=
Rostow

@y s e
(B) lnpu‘l-O'utpuIAnal)'sis:Hicks

(C) Factor Endowment Theory : Ohlin

(D) Critical Minimum Effort Theory -

Leibenstein RICRiCE
A7 Duescnberry given the concepl of . 27. Pr=faiae & ¥ PF-u AR w
N 3 e 7
(A) Income cfiect & T
(B) Demonstration cfiect ®) qed e
(C) Substitution effect (C) gfreqrgq oW
(D) Price effect (L) A T

us-1 5032 (S) (10)
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29,

30.

US-15032 (s)

https://www.ccsustudy.com

According to Kuznets.

L -
=14 ﬂn”mlc

development is measured by -
(A) National income
(B) Percapita income
(C) Percapitasaving
(D) Personal income

“Foreign trade is an obstacje in the
development of poor countries * who
said ?

(A} Gunnar Myrdal

(B) Adam Smith

(C) Rosenstein Rodan

(D) David Ricardo

Which of the following is/are objestive

ofeconomic planning ?
(A) Full employment
(B) Maximum production
(C) Increase in population

(D) Both (A)and (B)

28.

29.

30.

(11)

e ¥

(A) TEE HAG I

() WEFERE F=7 3
@) ¥FE I I
HIUTEH B 1 A = 7
(A) T g

By =% fom

(C) AL T

(D) 3W NE=

e & § anits P 3 3w

(A) Tt A
(B) WSIn Jares
()Y FHem g

“D) (AW (B) A

https://www.ccsustudy.com
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Determinants of economic development
18/are ;

(A) Capital accumulanon

(B) Tluman resources

(C) Foreign capital

(1) All of the above

The concept of 1.1 1. was popularised
by -

(A) Nurksc

(BY Robbinson

(C) Amartya Sen

(D) Mahbub-ul-Hag

Economic growth rate is zero. It means:
{A) National income is zero

(B) No increase in national income
(C) Population growth rute is zero
(D) Nonc of the above

Who wrote the book “The Theory of
Economic Development™?

(A} J. Schumpeter
{B) Amartya Sen
(C) Colin Clark

(D) Jacob Viner

32.

Lad
Ly

(12)

31, it R & Froie 9 3/8

(A) AN HEl
(B) A=Eg e
(©) R T

~) I @

e B, A gaewar & T
WY T ERT

B) e &

(€) Fud AT T

(D) TEE-IT-TH ERI

i B & & 9 0 @ o &
(A) UL A LA BT

B) U™ I F g A &
(C) e gha A & LI B

) I X A B AR

“% GAry 3t g SatuAe” JR
e fereht ?

4AT . gl

(B) o {
(C) #ftm TP
(D) AFA ATAT

https://www.ccsustudy.com
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35. Who put forward the

35, ‘A AW B e By

'I'"Q"'r;-' of

“Technical Dualism" 7 fran?
(A} G Myrdal Ay . @5
(B) I H. Bocke ® F.oa. Th
(C) Henjamin Higgins () FHE Rfr
(D) Ragner Nurkse N2} T A
36. Which type of unemployinens foundin 36 Srafe s 23t ¥ By omT & SHE o
underdeveloped countrics ? qrEr FN g7
(A) Cyclicalunemploymen: (A) TGhg AT
(B} lechnical unemployment (B) TBA 1! éﬁl—‘!'“T"
(C) Disguised unemployment (C)y HASIY ELE LI
(D) None of the above Dy IV F F B wH
37. Theaverage income of a country i ; 37. fFR 29 A Shaw G A2
(A} Percapitaincome Ay wiaaf@a o
(B) Disposable income (B) a9 N3

(C) Real national income

(D)} None ofthe above

38. “Acountry is poor because it is poor” 38, ‘U AW s ¥ OE 1w Ange d
i KR In S

This statement given by :
(A) Rustow

(B) Youngson

(C) Lewiy

(D) Nurkse

US-15032 (s)

(13)
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1. Precwd G oy W e

The theory of low-lex ¢l cquilibrium rap
given by :

{(AY R R.Nclson
(BY W. W, Rastow
1 G Mhyrdal
(DY A.D. Hirshman

Which one of the following is not

the ‘Balanced Growth

suppert

Principlc™ ?
(A)
(B)
(C)

Regnar Nurkse
Arthur Lewis
Rosentein Rodan
(D}  Albert Hirshman

“The case for balanced growth rests

ultimately on the necd for balanced
diet.” This statement given by

(A} R.Nurkse

(B} A.Ghosh

(C)
(D) Nonpe of the above

G. Myrdal

Which of the foilowing is not included in
Rostow’s stages of economic growth ?
(A) Theuake-off

(B) Traditional society
(C) Highmass consumption

(D) Warranted growth rat

47.

48.

49.

(16)

ey R ?

(A)  HICAR. A

(B) sﬂ,ﬁ.i‘r@ﬂ

() 9. PR

M Q@E‘m"‘

Arafifed § & # ogRE (o
Rrer=’ 1 THE® A6 8 7

(A) TR TR

(BY R G

() T T$H

D) I BT
”a@ﬁmﬁmmﬂaqﬁﬁﬁaﬂ

B sraerea W PR ¥ 17 T
wo R d

LAy ACTRY A

®) ¢ 3

) . fEa A

®) I 3 ¥ B T
Prefafag % @ w1 < B oS
gtz 1 et § aifter ¥ 7

(A) TR

(B) TTYRIT FARA
(C) I 1 IR
() sve ofe

https://www.ccsustudy.com
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32.

>3.
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Multi
Poverty Index® ?

(A) Education

(B) Hcalth

(C) Living standard

(D) Labour market paticipation

Which Rostow's stages has the highest
1

consumption level ?

(A) High mass consumption
(B) The takc-off

{C) Preconditions of take-off

(D) Drive 1o maturity

[n India absolute poverty is measured
by:

(A) Calorie
(B) Minirnum consumption expenditure
(C) Percapita income

(D) Both(A)and (B)

Which state has the maximum number of

people living below the poverty line
(A) Bihar
(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Maharashira

US-15032 (8)

50.

52.

(17)

33.

qgATT N T T 3§ fay
oot T E

W (AW ®) B am

BE g F T Y @ S o
W B wEr ofeaw ¥ 2

“«X) [ReEr
(B) IdT My
(C) Wy my

(L) wErTE

https://www.ccsustudy.com
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sa. Preafars SEwA B I FATRIS

Arrangc the following programmes in

chronological order :

1. Indira Awas Yojana

2. Swamajavanti Gram Swarozgar
Yojana

3.  Sampooma Grameen Rozgar
Yojana

4. Pradhan Mantri Grameen Sadak
Yojana

Codes .

(A) 1.2,

By 2.5

(C) 4.1,

(D) 1.2,3.4

This tvpe of unemployment can occur
even in a situation of full employment :

> &
Lad

td

-
2

Structural unemployment

Functional unemployment

(A)

( velical unemplovment
Disguised uncmployment

In lodie econemic survey is published
officially every yearby :

(A) RBL

(B) NITIAzyog

(C) Wamstry of Finance

(D) Ministry of Industnes

55.

(18)

¥ =aitaa AT
1. RT | ae
> aobrd I @I JNE

(A) 1,2,4,3
@) 2, 3,4,
(€) 4,1,2,3

M 1,2,3,4
ot Do @ Refy A A W BT H
Fiorrd ol S @

(A) drEe ey
(B) TRAINE aGorwQ

https://www.ccsustudy.com
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57. Whoi '
013 the current C.E.O. ofthe vip  §7.
Auyog ?
(A) Rajeev Kumar
(B) Shaktikant Das
(C) Amitabh Kant
(D) Narendra Modi
58. CAPARTIs: 58,
(A) Council of Advancemen: of
People’s Action and Ry
Technology
(B) Council of Advancemem of
People’s Action and Ryra)
‘Iransformation
(C) Council of Agreement of Person's
Activity and Rural Technology
(D) Current Affairs of People's
Activity and Rural [ransformation
59. Whichof'the following institutionsisrot ~ §9_
part of the ‘World Bank Community* ?
(A) LB.R.D.
(B) W.T.O.
(C) LD.A.
(M LEC.
US-15032 (S) (19)

o ST 3 T AL
(4

®) gfdeid a9

7 =

#qré (CAPART) 2 :

(A)

(B)

©

TE T FBEAIA

e & § 99-9 o AR B
WE WA adt X ?

(A) M. R].ARA.
®) T8
() g dx,
) . .

D)

https://www.ccsustudy.com
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60. fawy g ® AW Now dT ¥ ?

Who is the current President of World
Bank ?

(A)
B)
(C)
(D)

Jim Yong Kim
Justin Yifu Lin
Donald Trump
David Malpass
Which of the
Brettonwoods twins ?
(AY IM.F and .LBR.D.
(B} T.M.F and W.T.O.
(CY I.BR.D.and W.1.0.
(D1}

following are

W.T.O0.and A DB

Which Five Ycur Plan was based on

Harrod-Domar model ?
(A)
B

First Five Year Plan

Second Five Year Pian

(") Third Five Yeat Plan

(D) Fifth Five Year Plan

TRIPS1s:

Trade Related Aspects of
Imelicctual Property Rights

(B) T1erms Required and inteliectual
(C) Trade Related Agreements and
intellectual Property Rights

(D) Trade Related Aspects of
Imelligent Possible Sources

(A}

6],

6.

(20)

(A) fm dn R
() e g =
(C) S g
(D) T AW

P & { o Begee IR ¥ 7
AT I . o IR e R,
®) .05, I eg. A
(©) F&ID. A z=gda.
©) sa A i el
P-4t Geadty o BE-Snw A
7 Jqia 4@ ?
AAY SR G A
B) i qeda @
(C) gy Jemdfy s
(1)) Y99 deadiq Qs
| (1ripS) ¥ -
(A) 2% RoRT ey e Rdrga
et e
By T Red T {agart A
W
(©) 3% fefez Wiitew wog {Aagem
ot T

D) & RRE srliem affe RfRvle
s R

https://www.ccsustudy.com
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66.

67.

US-15032 (s)

Indicative plmming Was ifitiate) in

(A)

(B)

https://www.ccsustudy.com

64.
France

Rutssia

(C) America

(D)

Which of the following is knowr aq

India

65.

‘Paper Gold™ ?

(A)
(B)
©
(D)

If the balance of payment of cauntry is

Rupee
U.S. Dollar

S.D.R.

Demand Draft

66.

adverse, then which institution wjl} help

that country

(A)
(B)
(€)
(D)

lerms of trade of a country shows -

(A)

B)
(©)

(D)

World Bank
Asian Development Bank
International Monetary Fungd

World Trade Organization

Ratio of goods exported and
imported

Ratio of import duties

Ratio of price of exports and
imports

None of the above

(21)

67.

af@f® A wew g oo
(A) i H

By A

©) FRE F

e & ¢

(A) BT

@y .. 3

(C) g 3.

O) =3UE I

G JEew wEwar ;- <=
BN ?

&7 fawm ¥

®) R e 3

(© s ga1 2y

D) W 3R FwT

R 9 e wd ¥ T

@) PR et o s
BT

B) N g F

© MR g v amm g s
HI

WB) I9hF F } ;g
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% “forei de:
This is an advantage of foreign ira

al
(A) We can preserve OuT natur
TCSOUTCCSs
(B) New technology comes 10 the

counuy
(C) People need not go abroad

(D) We can get foreign currencics

The concept of sustainable development

is recommended by :
(A) Brundtland Commission
(B) IL.M.E.
(C) World Bank
(D) Brettonwoods Commission

Who release the Multidimensional
Poverty Index (MPI) ?

(A) World Bank
(B)

()

U.N.D.P.
AB.
(1) UNCTAD

N.B.F.Cs stands for

(A) Non-Banking Financial Companies
(B) NetBanking Financial Companics’
(C) Non-Banking Financial Corporations

National DBanking Financial

D)

Companies

(22)

69.

70.

68. ﬁhﬁaﬂﬂﬂﬁm%‘

ggemnd Praa gam® (MPI) &
e A H € 7

(A faw 5%

® 3wAda

() TEA.

(D) FHAZ

o . 4.0%.91. (NBFCs) &

() A-FRE e F
B) AT TR GRERER FEH
(C) AF-SRFT wEEe BRu
@y AT AT wEAREw FET
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72. Which of the follawing i5 2 dctepy 1, Pt & - AR 7 Fefra
nant .

of trade ?

(A) Taste

(B) Per capital income
(C)  Technological change
(D) Allofthe above

73.  According to Amartya Sen, wha is the

principal end of development ?
(A)
(B)
(C) Honesty
(D)

Frcedom

Democracy

Education

74. The llarrod-Domar growth model js

bascd on which two economic

elements?

(A) Savings and investment

(B) Raw material and tee hnology
(C) Tariff and tax level

{D) None of the above

75. Identify the model which is concerned
with the *Golden age’ equilibrium ?

(A) Kaldor model
(B)
(C) Hicks model

Keynesian model

(D) Robbinson model

US-15032 (s)

74.

75.

(23)

(A) Ffrefa
® gfaafe amg
(C) ﬂﬂiﬂ Znﬂiil

) e |

Yire-2rT Htew B A A et @ |
iz 2 2

A} TOd ud FRw
(B) FT=I-9IA Wq JFAH

(C) T T TN &R

®) INFT T F [ T
WIGT WA A Fi e 3
(A) FRER Hizd

B) = dtem

“E) R Atsa

O M= sdrzw

https://www.ccsustudy.com
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In the context of which region was ih¢
‘Big Push’ stratcgy of devclopment

formulated ?
{A) East Afnica
(B) Lastern Lurope
(CY  South Asia
(D) tastAsia
Which ofthe toliowing chamacteristics is
are of underdeveleped countries ?
(AY  Scarcity of capital
(B}  Technological backwardness
(CV Unemployment
(DY All of the above

Which of the following about strategy of
‘Balanced Growth isnight 7

‘AY Simultaneous investment in all

sSeclors

B: Al sectors are independent
(C, BothtAjyand (B)
(D) None of the above

According to the Neoclassica! theory,
economic development is
(A; Gradual
(B) Harmomious
(C) Cumuimive

(D) All of the ehove

76

(24)

Prm 2 @ oed & ‘a8 o' B Rem
e @y @ T ?
(A T8 TR

(B) {ﬁ @'q
() T ofan

(D) T R

Prafafeg & @ @ siRsfa 2 &

v B/% 7

(x) TN ger

(B) TR Rese

€y QI

Oy IR TR

Rrfafra & agiva Ree A A9

AT ali ¥ ?

(A) sfemrem & gt & ¥ R
v

B) N 8 wax &

w) (AT (B) A

D) IdE & A B 7

TRz Rrera & ER aits Rea

z:

(A) ®HE

(B) Y™

(C) wah

M) Ighw |

https://www.ccsustudy.com



&0. Economic growth i Indiu wiyy,
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necessarily if (here i - “en 80, .
(A) Population growth *) e gﬁz e
(B} Capital formation m) P
(C) Technical Progress <) are i Bk 3
(D) Allof the above LDy JulE A
81. [Cconomic growth measures the - :
(A) Growth of productivity o qum m::ﬁj
(B) Increase in nominal ncome ([B} A5% JT o -QT—‘Z.’
(C) Increase in output (C) T -1 3_%
(D) None of the above GOy IR € H B} A
§2. The concept of opportunity ¢oy i g2 FHaO{ AF B HEOH HH Er=
based upon the principle of - B AT % ?
(A) Need (A) JTATTHA
(B) Consumption @ I
(C) Scarcity (C) ZoHar
(D) Profit (D) <mH
83. Compared to the developed countrie:. 83. [O=ihg 2w = T 8§ = T
the .LDCs have : aw & ;
(A) Higher birth rate and lowerdaath JAY T I 3T T e mE T
ratc 2 T
(B) Higher birth rate and hicher death v
I 2 (B) ?Wﬂ@ﬁ‘f"?"’
(C) Lower birth rate and lower death ©) B9 o= 77 o3 B T T
rate %‘ )
(D) Lower birth rate and higher death ;
N X (D) Ziwmﬂqasaﬁn&v
US-15032 (s) (25)
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84. 3N (OPEC) ¥

84. OPECis:
(A) Organization of Petroleum () SFFR ot YRR T ,}
Exporting Countries '
(B) Organization of Pre-European R
Countries | B) ST o DR FE
() 0il Producing Economic
Countries (©) IMaw ArggRin TR F9E
M 0Oil  Producing  Economic
Commission D) e TR AR A
85. According to whom. surplus value g5 R AR, AR T U
should be gir en 1o labows ? & P oo ?
(A) Scn A) ¥
(B) Gandhi @) W
(€Y Narl Man ©) e W
(D) Adam Smith (D) v e
86 Fconomic growth 1s usually coupled 86, ¥ SN IR | {§aA o
with &
(A Deflavon (A) ATERR |
(B) Stagflavon (B) TErARWE 58 &
(C)  Inflation (C) TFEEHRY ]
(D)  Hypennflanon (D) Glﬁ'giﬁ@ﬁf q
¥7. ln India. deficit financing is used for 87 HITA ﬁ‘, me # Ra-sm & wam
raising resources for - e o &
{A) Economic development (A) TS m 3 Rﬂ
(B) Redcmption of public debt
(C) Adiustment of balance of ®) 5 W A 3 m
payments (€) THA HgF F9aeE 3 fre
(D) Reducing of foreign debt D) FPRA = 5 31 FE 3 RO
US-15032 (S) (26)
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88.

89.

90.

ol.

US-15032 (s)
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According to .‘»1allhua. the fixey f. 8
of production IS “or 85

(A)
(B)
)
(D)

Labour

Capital

Land
Enlrcprcncurship

What is the aim of ‘Pradhan Mantr;
Samman Nidhj Yojana’ ?

(A)
(B)
(C)

89.

Minimum income to farmers
Pension to farmers
Imigation

(D)

Free electricity to farmers

Who is the hcad of the "Monetary

Policy Committee’ ?
(A)
(B)
©
(D)

The expenditure

government

R.B.I. Governor

Finance Minister

Prime Minister
Vice-Chairman of NTTI Aayog

done by

the ‘MGNREGN
Scheme comes under the :

on

(A) Revenue expenditure
(B) Capital expenditure
(C) Planned expenditure

(D)  All of the aboye

(21)

%0.

the 91.

area® ® T, T A BT Fw
x:

[A)q“{ﬂ

®

© ™

@) TN

wqarrEt TEE B AT @ owp
e & 7

(A) et & T <gFaw sy

® Rast 3 e e

© Riad

AR A ol = sem A= 3=
27
(A)
(B)

IAR.ARN.AE. T
B =

(C) sEFHR

D) Iy, Ry A=™\e

"THEN AN @ T ST 3 e
™ I e s=Elg o X

A I =y
®) T =g

(©) AT =g
\D)  IqdE ae

https://www.ccsustudy.com
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qz.i%mrmm“mgﬁ%m

the
92. Which state government faunched f o PR— &
‘Reading Mission’ initistive 10T - %
students?
q (A) I
A) Orissa
® eral B) W
B) Kerala
o (C) eRAN
. AT A
®)
(D) Uttar Pradesh 3 it
93. What is the toll-free number issucd by 93, WA ’ﬁ:‘qﬁm R T o
the Health Ministry for the public 10 | W
. O 9 e T t?
inquire about Corona virus (COV [D-19)"
A) 1071 (A) 107}
( : 1075 ® 107
(I(; 1082 (C) 1082
((n] 103; (D) 1089 N
94  “The Stages of Economic Growth' i 94. % 1%:14 G FBAE el
w8 ?
written by :
A
(A) Rostow (A) mﬁfaq
(B) Marshall (B)
C) e
(C) Nelson (C)
(D) Myint m) R N
95. Rodan thn:ox}"sn'tainindivisibilil}'is: 05. A== R i T JfaweT 8 -
(A) Indivisibility 1o the production (A) AT G & R
fonction ®) it B eI
(B) Indivisibility in supply © # "
ivisibility in agriculture
(C) IndvisBERE? o) o ¥ B
(D) None of the above
US-15032 (S) (28)
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96. The commigee for working
N the

operationa] guidelines of *Kisap g
il

is-formed under the aegis

ministry ?

(A) Ministry of Railways

(@) Ministry of Agricultyre
Farmers Welfare

(C) Ministry of MSME

() Ministry of Finanee

In capitalist economy, wage rateg

are:

(A) High

B) Low

(C) Medium

(D) All ofthe above

Which state government Jauncheq

‘Mukhya Mantri Kanya Sumangi,

Yojana’?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Iaryana

(D) Tamil Nadu

What is the slogan of the ‘Pradhan

Mantri Jun Dhan Yojana' ?

(A) Mera Khata Bhagya Vidhata

(B) KalKi Fikra Nahin

(C) Sabka Sath Sabka Vikash

(D) None ofthe above

OF which
and

97.

18/

98.

99.

100.
(A) Harrod
(B) Domar
(C) Hirshman
(D) All of the above

US-15032 (s)

Theconcept of ‘Sigma Effect’ was givenby :

.ccsustudy.com

y mwgm'mh’%
afefy & o7 [0 T R 2

(A) @
@ P @ |
© W’agqﬁqﬂﬂm HATR
@ & A
Wmai“ﬁ@aﬁm
t:
(a) FH
® M=
(C) w&H
@) IR TR
o8, Pl T WTHR } ‘IR H gven
o o B Y T
() IR
®) 7@ R

©) #itarn
D) by
;{mwm'ﬁmﬂ
(A) WU G Srg Ry
®) T N s T8
&) TEH 99 &5 REg
O) IF T F FE Td
100, ‘Mm’?ﬁﬁaﬁmwm?
&) ¥}z
B) =hr I
©) wilF 3
©O) IWwT T 3

97.

G9.

(29)
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US-15019
nnual) Main Examination, 2021
English-VI
_agian Writings in English)
(Code PA-310)

~ Fion LN W U S, 1Y
*,:T'
RIS Y
ST | ST
S hnend No.

same of €oll
HieA BT M

—

TRStructions {0 coc asersmee §
{. Do not open the booklet unless you are asked 4

to do so.

> The booklet contains 100 questions. Examin
ee is required to answer all 100 questions:
the OMR Answer-Sheet provided and
the question booklet. All quastions:

i

equal marks.

. Examine the
Answer-Shest
proceed.
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Vrowsands of innocent men are mur-
@0 and-burnt in the name of :
vilization
SuEaELion
“UAIMOnies

Ll o

“oids that strength lines in

sosance of fear
“liiscle power
amily history
s ancestors saw that happiness was
varcely q _
4, Mentai condition
(83} luxuries
(C:) Good health
() Dream,
The kings and their swords
inferior to _____
(A} Neighbouring kings
(B) Constitution
2] The sword of ethics

(D) Gandhifi .

. 'l“; LAl

5.

I De
(C) Luxui‘y-"'-*"' | _

(D) Education

6. Who introduced
territories? l‘
(A) Gandhifi - f
& Maharaja. -
(C) Nehags -
(D) Mulk't

7. Gandhi jt'




1 Endia
t his degrse

ite tochisat people?

v it Ladians
LETALS Tmon
el ol Leaders

S cannot do without it India will
never be
{A) Religious
(8) Educated
(C) Civilized
(D) God less
12. In 'Hind Swaraj' Gandi.

e
* 5

13.

i4.

15.

""E e

7

You have WE

g

Swaraj in your COurse book. | %

A

o

(a) Three d

-

{B) Five
(C) Four
(D) SIX

Hind Swaraj was
(A) Printed

(B) Circulated
{C) Seized

e :

(D} None of the above

When was Gandhi ji Butv®



US-tIRTONNRY .
LI e LR
k ar Fl‘ .I-- :

its lyrical wealth Sarojini 22, SarojiniNaldiu'_l-

= aoctry s purely -------- in as .

i w Wﬂmen's da?* 0
Vestern (C) Poet's day

(D) Work day
b 23. "We bear her alo
Juin place of Sargjini string”. Here 'a p&

compared with:
(A) Fair bride
# Prestigious b

(C) Healthy bride gk 3
(D) Arrogant brid'
erendence  Sarojini Naidu 24, Which figure of sp N
i as ine Governor of ---- in 'Patanquin Be€ '-
Sarajini Naidu? _
Ll Provinces (A) Personification-i8
aTtey o Privinces (B} Hyperbole *
westorn Provinces & Simite l'
v ontral Provinces (D) Qxymoron
4inat 15 the meaning of Palanquin? 25. Sarojini m‘:
A} Riksha Bearer fiest-uiil
(13) Bride (A) Thy
{C) Palki :
(D) Bird
Complete the following line: "She
floats like @ ----~---=- from the lips of

the dream."
(A} Bird
(B) Star
(C) Tear
Of lugn



30,

31,

of Nissim Ezekeil's 4

Dpgening poem
second: hooK of verse 15-

Ay Adimeto change
(BY - Ene unfinished man

(e oA poem of dedication

=1 The exact name

IT[J‘I

4 Choose the right word for the biank as

"Thi is my |

used 1n the poem. This is my :
n

tion, stated in terms of poetry’.

cred :
(A Elizabeth
(B) Victoria
(C} Anne

sl poet was a (D) Mary |

at  Bombay 34. A poem of dedication is a poem of ! '7

ST (A) Love
Lyant Mahapatra (B) Retigion
B Yikram Seth (C) Dedication

L) A K Ramanuian
{D) Nissim Ezekiel

(D) Identity E
35. Choose the most approprlate_l_':' )

:Jr:a::j; I want a human balance o i e of_ Ez%klei‘f
(A) Mulk Raj Anand Poem of Dedication', » .-iﬂw-‘.’.
(BT Nissim Ezekiel (A) Literary . &
(C) Sarojini Naidu &) an -

(D) Mahatma Gandhi (i

What superhuman qualities {03

rd

referred to in the poem, 'A ag




37. Heis an II'IM
a lecturer In *
Academy Aw
"His relaﬁonsh ,
(A) Jayant Mujep
(B} Vikramsgtn © T
(C) A.K. Ramanujari *
(D) Nissim Epakiel
Besides english Jayat il
wrote in -
(A} Hindi
(B) Telugu *
(C) Gujrati

%) onya
39. How m '
poem ‘Hi
(A) T 5
<5 1
(£ ¥
(m ;




50,

51.

elie
e
Crmiein the peem
Pt
A5 al clod ee
(P aa ob oo dd ee
(.1 abba cde cde ff
(D) abab cde efe
Complete the following iines _ "To

make love with a stranger is the best
There is no

and there is no

(A) stranger and friend
(B) fear and test
Ji# riddle and test
(D) question and answer:
what ls Wb atiibilibts

P

55.

The poem ‘Unclaimed' is a poem of &
Ly RS L W

1
fay rasuallone

(BY True fove

SpirikuallOvE

Serisal lovE

liar nnly 1 engfish but in 1.,.::

< Rarmanujan composed his poemsJ§
fh L Giryd 4
fae Aannada
L Dngre I
T Madthill i._
"t branchless as the fear tre .;.:
which fgure of speech is used In ..r_.i-f*'
line?
(A)
(B}
(C)
(D)

‘Anxiety' is

Simile

Metaphor

Hyperbole

Oxymoroen

237  poem
Ramanujan's first collection ¢

(A) Relations
(8) The stridarsﬁ
(C) Collegted jiad
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_MM

Scledibinral

RN Ty

;ok forwhich 54 Mahesh Dattani as a m

ooveEN Sanitya

ceperoaf the Dead
Qo
v the river
LS EAPES
.~ animal names are used in
sartwalla's poem The unrest of
e A
Flephant and Lion
14 [uffaio and Dog
(7. Bison and Stag
iI71 Leopard and Tiger
which of the following factors
influenced Daruwalla's poetry most?
(A) Contemporary life
(B) Historicat facts
(&X' His profession as & police officer

(D) Corruption and society,

g

e

(B Mask

65. He founded PLAYPEN, a

(@) Mahesh Dattani .

: [}'*‘ ‘ —.\I.
https:ﬁww.c'

62, Fitlin the blank with the riy

in the poem ‘The Unregt :
"The unrest of desire Is
gyes, whatever the '
-lap upon your face”.
(A} Art

(B} Side

(C} Hammer

"It will hammer at the sldes
free however you bury the &y
the heart”. What is 'it’ in tm_

lines? i
(A} Wild animal i
(B) Coil of bone __,.,;-}.-._f"

€% Unrest desire
(D) Dreams

directed two films. One ‘¥
Souffle’, Which one s thi SN
(A) Morning Raga
(B) Morning Sun
(C} Morning Mantra
{D) Morning Vibes

arts group and has beﬂ

Director. Who is het | #
(A) Vikram Seth

(C) Mulk Raj Anand .
(D) K.N. narum.d




67. When was 'Tary' published ?
(A} 1989
(5) 1997
(C) 1995
(D) 1991

68. Tara angd Chandan are the victims of :

(A) Economic crisis
(B) Potitical upheavels
-f£) Social prejudice
(D) Religious riots
69. Chandan is Tamals: " *




EETes .
=Nts new generation in the 80. How many family memé

T Aang Chandan
ST and Pated
Lind Bhart
S aan and Patel
g the following is not the
Aterment,
“'as matching to Tara even
© 't was operated to Chandan
-+ was matching to Chandan
2N then it was operated to Tara
v1andan and Tara are Siamese

Viing

- handan loves his sister Tara a

81.

www.ccsustuday.com

in Tara's family?
(A) Two

(B) Three

(C) Four

(O) Five
which is the birth place_
Anand?

(A) Peshawar
(B) Punjab
(C) Amritsar

(D} Lahore



) SN LT .

83. When was Mulk Raj Anand awarded 86. Whatis®®

Padma Bhushan? fiction?
(A) 1967 . | (A)
(8) 1960 | ®)
(C) 1966 -

(D) 1968

5

85 Which of the following writers edited 88. How does an author _pres

n.‘.""
TR

"Marg", an Art Magazine"? characters in th o el
e M )

(A) Vikram Seth (A)

(B) Mahesh Dattani o
B ‘;f')‘f Y ":_' - -1‘..{"\ :

-“’.-l:’---"' - -5".%&'“" L
(C) Sarojini Naidu

(C) Through imagination

(0) None of thess ...

J#2) Mulk Raj Anand

US-15019\R\2021 | (123

'J.'-'-'-rl"-'&-'- -
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Was  Havildar Charat Singh 92. He is one ofﬂﬂw

ffering from?
“EMEr
~olera
“Tenic Piles
Lnerculosis
& washerwoman, mother of
laran and a character in 'Un-
- aible'. Who is she?
ulabo
Naziro
i Sohini

11y None of these

famoﬁs hockey player. :
(A) Ali

(8) Ramanand

93. Bakha's age is ment

(A) 17
& 18

L
(9 }g I“' 1

-



o on Gandhiji's Hind Swaraj takes the form of a:

rAY Mongiegue

Dialogue between two characters

el

(€Y EpiE
(D Essay

4G, According to Ganchi ji the condition of

WA WS India is getting Worse to the :
R o (A) Lack of education
i b (B) Modern civilization >
(H) Enghish (C) English language ‘
() Tamil (D) None of the above

W) Gujrati 100. We should remain activieaiill
97. At which place was Gandhi-ji born?

(M Porbandar

(B) Rajkot
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el TR o e At e r T 4.

calibes rdst bgidever e griginal
answer sheet alongwith unn - sity copy to
the invigilator before leaving, the examina-
tion hall and can carry the candidate's copy
% used question booklet with thefm. Examin-
ee must keep the question bookiet and OMR
safe till declaration of resulit.
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- ihe following is the largest 1 A Y )

" Mohenjodars? &H #p
enouse (Gianany) (A} HETR :
mbly: hoi4&IMade by brick (B) %t & = wwridhe
- (C) FHFRIR
(D) 3RS H | ¥

" ol the above )
o Ylace of Indus vailey civ- 2. ﬁﬁg Tga § i)
I remains of Potter's a1 ¥ fiem #7

(A) HESEE
(B) g
; (C) vy
L (D) BTy
T rovince s 'Dholavira' locat- 3. Mﬁ? .

raryana
1) Uttar Pradesh
i} Gujarat
({3} Rajasthan
The mound of the dead' is called the g\
site of which Indus Civilization? .
(A) Harappa
(B) Mohenjodaro
(C) Lothal
(D) Kalibangan
From which Mm
dance of the 'Port! I
(A) Haryana °




P iy e
|'[_r_ S
Al
-rl.
s q

roper 7 30 6 T P # 4

by 7tEIA

(A) BT
- (B) 25l

5wl g fe s
Pl Huides.
(D) Lothal
Which of the following was the Oldest 9.

Mgy (A) wHaE

(A) Samaveda (B) Ul
(B) Atharvaveda
: (C) A

(C) Rigveda
(D) Yajurveda

4 i




15.

1 zaE S ¥ ¢

CLARE

ling @ Dayanand saraswati,

was theoriginal resigence of the I B . arn
(A) wea oRRn
spvirak Asia (B) Preva
L () afrly &
i l (D) FAA Y&
. wjpek river is referred to 12. G S ﬁ m
27 '
(A) W
8 ® o
aswati (C) W
i (D) Ry

1m Brahmin is the first descrip- 13.

~ rine Hull related ritual?
=opath Brabmin
31 Shatapatha Brahmin
() Aitareya Brahmin
(D) Neither of the above
Which veda is written in Prose and

Verse?
(A) Yajurveda

(B) Rigveda

(C) Atharvaveda

(D) Samaveda

Who is called ‘Vedanta'
(A) Vedas
(B) Upank



he word Gallekhan is related with:

16. T
(A) Shaivism

(B) Vaishanavism
(C) Jainism
(D) Buddhism
_ which foreign traveler called krishna
as 'heracles'?
(A) Megasthenes
(B} Fa-Hien
(C) Hiuen-Tsang
(D) Neither of the above
. In what form is shiva mentioned in the
Rigveda? B -
(W) Rudra

<=




s esurva ruier founded 'Srinagar’ 91 P w8 & e
anie of Fiver witasta? 2 oRs I f? :

et ol Kashmir? 22. mﬁmmﬂ

i (D) & EH
->wvras e the creation of- 23. fpama-u-ARw el

=t Adilshah (8) T v’ : :

| Armbar (C) HAR® A} :
Haither of the ahove (D) mﬁ'&#

. which Province was 'Gol Gumbaz' 24 mw-ﬂ -

‘A) B

A) Bijapur B)
(B} Bidar

{(C) Barar

(D) Kashmir

25. Who is the author of the composition
‘Haravilasum'
(A} Srinath
(B) Hari Ral
(C) Dev Rai
(D) Vijay Rai

US-15058\P\2021



26. who among the following said that

there is no Slavery in India?
{A) Pliny

(B) S5traboc

(©) Megasthenes

(D) Fa-hian

which Buddhist Philosopher first Pre-

sented the Principle of emptiness?
(A) Anand

(B) Nagsen

(C) Upali

(D) Nagarjun

During which period Tulsid
posed Ramcharitmanas? 1,




R Hindu legal text 3y frx SRR T
(A) Tada
(B) TR

(C} frmmre

(D) e :

3. O wEw &1 Prfor

v ttle of 'Bihari 33 ﬁgﬁwﬂ L,

i Shah (D) HWIE » i
01K was 'Prithviraj Raso' 34, m ' Baik
Ty (A)
Sangadhar
Madhav
13y Chandravardai
which period is called the era of the
tormb?
(A} Lodhi Period
(B) Syed Period
(€)
®)




o e
.
il
YT
,
H
i
gy I
TR
"

Ay AFATS

. eira or the above (D} TR & D FH i
ara Shikoh was a follower of which 39. am Frm e ﬁ'ﬁ fomiieh =0 o
Sufi Silsila? o1
(A) Nagshbandi Siisila (A) TR RamfReen
(B) Chishti Silsila () Ferett ReefRren
(C) Qadiri Silsila
(D) Neither of the above
40. In which state was 'Chaltanya’ bom? 40,



o o&w Ine author of Sahitya Lahiri 41, mm i3

o=t autobiography of 4. WWW :
(A) FFa
(B) a&R
(©) e
: ' (D) & Sww

@a Chandragupta  Maurya 43, ﬂa:;qtﬂ!f‘-’! T
i3St aays? (A) W h
wtatiputra TR
svanbelagola
axila
irnar
ctowhich language were Ashok's In- 44,
~Criptions?
(A) Kharoshthi
(B) Hindi
(C) VUrdu
(D} Roman
45. Which of the folliming was b
worship |n the: G I m



46. Who was the author of the 'Manime-

khalai'
{A) Ravi Verma

{B) Satanar
(C) Pushyamitra

(D) Surdas

Who was the Proponent of the theory
of drain of wealth?

{A) Motilal Nehru

{B)} B.G. Tilak

(C) Gandhi ji

(D) Dadabhal'Naomji

Who was the founder

Angio Qriental:

VT ATV .




vedr was the "Hindy Succes- 51

nook published?

"~ ws eneral banned the 52.

A
COiliam Bentick
CoAipon

. . f\(‘la.v.o

the founder of 'Hamdard' 53.

e
Aghammad Al Jinnah
agal Kishore
Shiv Prasad Gupt
il Annie Besant
a4 Which Mughal ruler gave title of king
to Raja Rammohan Rai? |
(A) Akbar
(B)
(C) Shah Jahan

(D) Akbar Second

Babar

55. Who is called "Socrates of Maharashw

tra"?

4 gane?

(A} 1819

(BY 1820

(C) 1821

(D) 1822

e TER-IRE A
AT

(A) o BIH
(B) o faftrem R
(C) o R
(D) o W4y



59.

60.

LU AT WMo -

R RS
s 1916
(L} 1917

Who was the Publisher of 'Raj Bhakta
Muslim' Magazine?

(A) Syed Ahmed Khan

(B} Shibli Nomanl

(C) Ghulam Ahmed

(D) Rashid Ahmed

Who founded the Wmmmg
(.A) A NG - - ;

crem s e e ad g8 A

i ) et
:'ﬁ G i) =
i
GO e L s 1]
r_-T o ﬂ :€ . ‘

= T

ThLigRd

(L) 1887 1
sedr wfen fsafeaera @ s o8 9
GIRIESS L

(A) 1914

(B} 1915

-a._.-ml_ N
(C) 1916
(D} 1917

T3 W e v & senre BiR 4
(A) e s gt




W remedrriage? mﬁﬁaw

Chavith . A O :

coneshmukhi = m - ._:_i.
arEl (C) TR
o (D} S .
v oSnivali's gury? 62. WE‘F‘%?
“arth Ramdas (A) A
“-a Bhatt (B) M T
~ihaji () TR |

() It %

whar of the above
- Language was the 'Nal Da- 63.

i composition written? (A)

rabic ®) 4
Jersian © |
Hindi

;- Urdu

+ow Long was Akbarnama vyrltten?
(A) 4 years -
(B} 5 years

(C) 6 years

(D) 7 years: . .3
65. Humayunafisill
(A) Guiti



e ER
et
£ il
e I,.._rl—.r---v“"_'l 7
”
v win ;-1_

T el fiodi f:r.":]’ ifch_"[ W iT Wm 30."1._

Loty Al rialey 2 (A m

(31 Hbdl

i) Babar (C R
(1)) Shahjahan (D} PMESTET

69. Where was 'yugantar ashram' located? 69. "GITaR HHH’ Fel feue ur? :
(A) San Francisco (A) A9 wiRrwei -
(8) London (B) ®=A
(C) Paris

70. Vaikom ik




R N Tals GQHEFEFS rule was

AN ban Impgsed?

% the Satya Shogdhak

he: Brahmo Samaj? =

- Yohan Rai
-ty Nath Tagore
S UTIEAm

—in of the above

. 1he founder of Deccan Edu- 74.

nety?
.,. Ranade
. Tilak
L. Nehru
Annie Besant
~pre did the Bharat Mitra N!WSPIPN‘
come from?
:A) Bombay
(B) Culcutts :
(C) Kangut .,
(0)

2. e for wlli

(C) 1875

(D) 1876 o
- asr 2 v Fow B iy
(A) TN R <A
() ¥ T AR
() argar e K
(D) Fes & ¥ B -".“
S0 T TR 5 Sy
(A) w3 "
(@) #.3. T
(C) AR

(D) th¥réve

4 - -
L T __. 50

(A i,
o0

UR



DU T 52
archutecrnire
P Portuguese
(C) Dutch
{D) French

79, Where was the Printing Press estab- 79.

lished by the Portuguese in India.
(A) Awadh

(B8) Cuicutta

(C) Goa

(D) Madras

80. Which one of the Wnﬂ‘!ﬂkﬂ W ﬂ- B

called th!sl

(0 RGN E DR A
A e Fe @ e B A @ e

Rt 1P

SIGHE 1
£ mﬁaﬁﬁﬁ
B, SR 36

‘py e e
'B; 1 A
c; o fgda !
n, FatEE '.
rza # M TeaR Sl & T et §

9 fr fadgh ofvs & T gane
(A) 30

(B) g
(C) 3d

(D) B .,
mﬁﬁﬂmﬁmﬁﬁnmm -
wonfore ot mé? |
(A} 3mag

(B) oW
(C) ham




e of the dbove

~ of the foliowing Places js

- it of bricks? a
. Tara
"
Saud ;

. v (lg
SwWan

- the reign of which ruler was the

© 2uddhist Council Organizeg?
Chandra Gupta 4
B:mbisar

Bindusar

81.

82.

83.

¥ firoven &7
(A) UIRERE
(B) sgHvEra
(C) v -
() Frwn & & 266 W
€ ¥ it 3R Fror 4
— :
(A) PRI

(B} TFIX
() ik

(D) forrst N

T IR



86.

who was the Court Poet in Shahjah-

86.
an's court?

(A) Kudsi

(B} Anwar

(C) Kaleem

(D) Neither of the above

Which of the following Is correctly

matched?
(a) Adab-a-Alamgiri-Mohammed Ka- P,

zim

(b) Futuhat-e-Alamgirl-Ishwarda

Nagar
()




14 Mahatme
SETMioRT

ath

Buddn, deliver -

isnal
an @ayg
VE3 Gl

of the following scporar’ o1, G T :
Hawith Mahmyg Ghazn"ﬁvi? SRR

S
=5 Khan
=3 Khap
HEELaT
anguage did Mahayj
5 Sermon?
“vanagarg
dadhi
sk
i »
- was the Physlv£ ﬂ
Mathar '
1 Charak
- Kujula

e

UMY Sushrut

i e fort of I
Mughal rutif
(A) Akbaé'
(8) Shaji

O i
(0) A



95 In which time was the First Railway

service started?
(A} Jathousie
(B) Lytton
(C) Ripon
(DY Curzon
- What is the number of Puranas?
(A} 105
{(B) 106
{C) 107
(D) 108
. Who was the Gupta ruler singer and
poet?
(A) Chandragupta
(B) Samudragupta
(C) Ramgupta 4
(D) Kumargupta L e

e 5 i
[ R AR TR BT R S .
%‘s o ”ﬁfﬁ""ﬁ"f‘v Y S L L SN UR

-




4. Four alternative answers are mentioned for
each question as A, B, C & D in the book-
let. The candidate has to choose the most
appropriate answer and mark the same in
the OMR Answer-Sheet ag per the directien :

Example :

Question ;

ON _NONO)
LR ONON MO
2 ® @ © 0O

lllegible answers with cutting or over-writing or:
half filled circle will be cancelled.

. In case the candidate does not fi) the .
appropriate circle in the OMR Answer-Sheef &
and leave blank 'Zero’ mark will be gLveﬁ*

The candidate has to mark answers.
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B.A 111 Year
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us-15160:.. . ———
B.A. Annual Main Examination-2021
PHYSICAL EDUCATION
~_____Management in Physical Education

!:Quest,ion Booklet Series; (COde . A'385) Question Booklet il

! S Number

(To be filled in by the Candidate /fe "o mhwmf — - )
Roll No. (in ﬁguresL

s (9 F)
Roll No. (in words) [Maximum Marks : 25
s (e ) (s 3% : 25
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Enrolment No. (In figures) M- T
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P T Signature of Invigilator

T iws 3 Tamr

i

T

Instructions to the Examinee : g & fw e
1. Donotopenthebookletunlessyouare 1, ysF-4fa® 1 09 0% 7 @t 514 q% AR F
asked to do so. 3 o

2.  The booklet contains 100 questions.
Examinee is required to answer all 2. a-gRaH ¥ 100 ugg ¥ qiemft @ @b

100 questions in the OMR Answer- qglt & #9d T OMR siav-sfie ot & &
Sheet provided and not in the FOI 2, U -G O A | @l wed B o5F
question booklet. All questions qqHE & |

carry equal marks. _
3. Examine the Booklet and the OMR 3. swlt & 390 % &% 4 o mew-qftes o

Answer-Sheet very carefully before OMR 3130 3 Fraereivgdas 2w & | dvget
you proceed. Faulty question booklet :
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Questions or having any other ge @ & % O gy M @ g s AR

discrepancy should be got immediately arg wal ® @ 33 e T A
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Luthpr Glllll‘.k ul“f‘lﬂif‘y t-h(‘! ﬁlh(ftiﬂn

of management ag .
() POSDCoRB
B) POSTCARD
() POSDCORB
(D) POSDORBC

The use of a particulay method of
teaching depends upoy, -

(A) Skill of the teacher

(B) Sex of teacher

(C) Age of teacher

(D) None of the above

Which of the following is the first
step in sports organisation ?

(A) Directing

(B) Staffing

(C) Planning

(D) Budget

Getting the right facts to right
people at the right time in the
right way is called ——

(A) Games Management

(B) Motivation in sports

(© Public relation in sports

D) Leadership in sports

US-15160-Series-S (1)

T e 3 gdd Fd B &Y
A i a1

(A) POSDCoRB

(B) POSTCARD

\(€)" POSDCORB

(D) POSDORBC
T fadv gere & e fafd Fn g

fred ut FredT B

AA) HTE B IR 9T

(B) s & fofm W

(C) a1 @ Mg T

(D) Ivgw & 4 fret w8

M=t & 4 aF-@1 da d@nfed F@ @
eH =T /AME B 7

(A) Frey=

(B) wften

RSIRECIEE]

Py e

S T W S @ 3 guy o
e 2|

JA) B b

(B) &t H oy
(C) Bl H SToTeress
(D) @ ¥ Ay

https://www.ccsustudy.com
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SAJ] was estabIEShed In which

5.

yvear ?

(A) 1985

(B) 1984

(C) 1983

(D) 1982
6. Sports management is:

(A) A Sacence

(B) AnArt

(C) (A)and (B)both

(D) None of these
7. Match the following List A with List B

Last-A List-B

(a) National Teaching Al - () Camp
(b) Visual Teaching Aid ~ () Model
(¢) Audio-Visual TeachingAid — (iii) Museum
(d) Extra<curricular Teaching — (iv) Television

A

@ ® @ (@

(A) @) @ av) @

B) ) Gv) @) @)

© & @ @) v

O Gv) @) Ga) @
US-15160-Series-S

(2)

5.

7.

ot & wen Ry ad B A 7
(A) 1985

(B) 1984

(C) 1983

(D) 1982

&9 W& @

(A) & fEm

(B) @ Fm

«€) (A) T (B) &

D) ¥ & 3¢ T
Rrffes @ gei-A @ 4 §-B &
e SRR -
gdl-A
(@) TS B g - B
®) 3@ B A - G) A
(c) FA-3X R0 WA - (i) WIERH
(d) IRRT TGEFR - (vi) T
o amEs
(@ ® (@©
A) @) G v @
@) Gi) @Gv) () @
© @ G @) Q@)
D) Gv) @) @) @

gd-B

https://www.ccsustudy.com



8.

10.

US-15160-Series-S

https://www.ccsustudy.com

Budget 18 —
(a) Financial Play,
@) Financial Statep o+

(C) Prediction of rovonue and

Expendityre
() All of the aboye

The word budget has its origin from
which language ?

(A) French

(B) Latin

(C) English

(D) None of these

Match the following formula from
List-A to List-B
List-A List-B

@ HE-D

@ (N-1) (b) Double League
(3) N(N-1) () Knockout

(a) Byes

4) NB-1 (d) Single League
2

Code:

mn @ @ @
(A) d @ ® @
® @ O © @
© @ @ ©@ ©
O @ ©@ @& @

(3)

8.

9.

10.

T P -
(A) Rfrg QT
(B) fam ReA%
(C) -z & BACT
D) IriEa @
——— AL q I E 27
(A) %4
«B) A
(C) =R
(D) T & &g T
gd-A @ gE-B 3 PEA H
gh-A g-B
a N (N-1) (@) T
2
@ (N-1) () 3 &
(3) N(N-1) (0 7% ARE
(49 NB-1 (g fmm &
2 .
T
1l @ & @
(A) d © ® @
(B) @ ® (© (@
(C) @ @@ @« ®
(D) d © @ ©®

https://www.ccsustudy.com



11.

12.

13.

14.

US-15160-Series.§

https://www.ccsustudy.com

Who said it-"supen'mi‘m 18 Not to
control the tercher but to ok
COOPPT&‘I!VC‘I}'-”

(A) Glatthon

(B) Hov and Forsyth

(C) Harris

(D) Ghckman

In teaching l1e8TNINE process

supervision s ¥sually carrieq

out - https://www.ccsustudy.com

(A) By Headmaster

(B) By Teacher

(C) By Parents

(D} By Society

In POSDCORB ‘Co’stand for -

(A) Cooperation

(B) Collection

(C) Coordinating

(D) Correlation

In which register all govt. grants
2nd expenditure are maintained ?
(A) Cash Register

(B) Acquttance Register

(C) Stock Register

(D) Contingent Register

(4)

11, ‘R frm) 2 frifa #@ @
e mearht =y 3 @ F@ P

(D) Fasrs
12, Temrer siftrTy ofi # oo A 9T
R S 2 -
(A) TIFTEM &
“B) s ZT
(C) wm-fm zw
(D) #HEEd A '
13. POSDCORB# Cod1 a4 ¥ -
(A) B F
(B) ®OE M
(C) TT=T F=1
(D) \sE=Y
14. R e ¥ aear o A a9 &
TR (@ A 8§
WA B9 g (TR
(B) TRH <
(C) =t dfre
(D) sz dfam

https://www.ccsustudy.com



16.

16.

17,

18.

US-15160-Series-S

https://www.ccsustudy.com

How the fundsina given period will
pe obtained and speny , called ?
(A) Allocation |

(B) Expenditure

©) Budget

D) Reciept

Who is known ag the father of
modern theory of management ?
a) Tyler

(B) Henry Fayol

(C) Max Webar

(D) Gulick

To motivate the other to achieve
certain Goal is called -

(A) Planning

(B) Leadcrship

(C) Controlling

(D) Organising

Budget estimation is :

(A) Income and investment

(B) Investment

(C) Income and Expenditure

(D) All of the above

(D)

15, FAlt fafsgq 3@ P fer A

(A) ==
(B) =T
(Cy T72
(D) mf3
16. f*ﬁmg\ﬂgﬂmfﬂgﬁﬂﬁﬂm
Fed # -
(&) TEAT
(B) 24f 274
(C) &2 3aT

(L) T
17. 33 7 71 9@ HA F ¢ FA A

At Fe41 PR -
(A) gt
(B) =
(C) Faao
ND) amira
18. F9Z T & -
(A) 3 iR PRy
(B) Faw
(C) ¥% 3T =g

https://www.ccsustudy.com
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20.

21.

22.

US-15160-SeriesS

.
of t':-.'tlin,r.:mfoﬂ“ﬂ“'- s

(A)
(B)
(C)
(D)

Test

Measurement

Fyalustiob

All of the above

e recruitment of right
people at right place in ap
orgamsation.

{A) Plannng

(B) QOrypanising

(C) Stafhing

(D) Controllng

How many methads. we adopt to

organise league Journament?

(D) None of these

Which one 1s the advantage of

et ot B s Rl .-{ Yy Y 4
£ TN Ul p?ﬂg‘.’ﬁ_)“ Ve

(A) Achievement

(B)

(C) Participetion

(D) AY of the gbove

Hecreghion

(6)

19. &I T4 FA 4t afrgafis afry smatra

ufFa HEeTd &
(A) Tt
(B) =9+

(C) TEuieA

) IVaq Tt

20. w3 X ghm wyy w ofam =\ A

21.

22.

Pl ... FEATH 81
(A) Qe
(B) srgra=
(C) wifrn
(D) fgae

g dm gfEdima e s &
fafirgt | &7 g3 2 7

(A) 2
B) 3
©) 4
@ FH A ¥ 7

frer & @ - 0% saEEE dafE
wawd’?

(A) Judfe

(B) AR

(C) aferarfrar

W) IT0F J]A

https://www.ccsustudy.com



23.

24.

25.

286.

US-16160-Series-S
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In gingle League Tournament how
many matches will b, played by 12
teams *

(A) 46

B ©

(€) 66

m 72

Which is track eveng 2

(A) Hammer throw

(B) Longdump

(C) 200 m. Race

(D) Javelin Throw

In Athletics-Combined events are
held at -

(A) On Track

(B) On Field

(C) (A)and (B) both

(D) None of these

Which one is related with
evaluation ?

(A) Test

(B) Measurement

(C) (A)and (B)both

(D) None of these

(7)

24.

25.

26.

(D)

3% gvifrar -9 2 7

(A) 7 M BF

(B) =i %

(C) 200#. 33

(D) 7 %%
nggﬁ:ﬂﬂmwraw
fEqr aer & -

(Ay 2% ST
(B) ©%T Q¥

Oy (A) 7 (B) 2t

(D) 3% & W &

Prer ¥ - e & Fafr ¥
(A) qimsor

(B) &®M7

@ (A) 3w (B) arit

(D) % & | 7@

https://www.ccsustudy.com
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27. In “.h.ich }'C‘ﬂr Rﬂj Kurn;'“-i "J\Inl‘it

28.

29.

30.

US-156160-Series-S

Kaur Coachinf Pilot scheme
started ?

(A) 1950

(R) 1952

(C)y 1953

(DY 1954

From the following Which one ig
included in word vision ?

(A)
(B)
(C)
(D)

Which one refers as to the process

Super
Vision
Micro
All of these

of instructing, guiding, counselling
motivation znd lcading people in
the organisation to achieve thetr
objective

(A)
(B)
(C)
(D)
Which of the following is not an

Planmng
COrganising
Staffing

Directing

element of directing ?
(A) Supervision

(B) Communication
(C) Leadership

(D) Inspectiag

(8)

27.

28.

29.

30.

AN &F G Py oy ?

(A) 1950

(B) 1952

\(55]
()
Fefas § RAq-w s= Vision' d
qfiT & 7

(A) = (2a)

(B) zf=

(C) T
By 3 ey

st F BR-a1 aqd agaedl & 919 A
# R &9 @ wedl & fEw aA,
arfedld B43, Ty 33, AW e R
il 4 F oirg § g wan @
&) FEeE

(B) HmE

(C) wfET

(D) Fder

ECIRIESEEECH Clbo B i

1953

1954

(A) ydda™
By wsar
©€) Tg=

D) FhEe

https://www.ccsustudy.com



31.

32.

33.

US-16160-Series-S
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If the number of leamg ig even,
then the nmnher of h}ru in upper
and lower half wi|| be -

N
@ 3

Nb
® 3

Nb+1
© —3

Nb-1
® -5

When finding 1t 4 places of
Teams how many matches are to
be played for 16 Teams in knockout

system ?
@A) 20
(B) 15
(C) 16
(D 18

Procees which help in improving
Teaching methed, Syllabus and
Method is known as

(A) Supervision
(B) Evaluation
(C) Teaching
(D) None of these

(9)

31.

33.

wﬂmgﬂﬁwmmm

aﬂ‘ﬂ‘“’i‘ﬂ#“’mﬂﬂ

N
(A) 3
Nb
p
Nb+ 1
2
Nb—1

D) ——

By

(©)

. 16 A6} # e gomar 3 dmt R

P A e fEes @ e PR S
a

(A) 20

(B) 15

(© 16

M) 18

Pra-d o Reror o=fa, wiggan ol
fafg 3 gur $ A wewgar F § -
(A) gEHE

By g=Ea

(C) Br

(D) 37 & k=@

https://www.ccsustudy.com



34.

35.

36.

37.

US-15160-SeriesS
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What is Teaching ?

(A) AnArt

(B) A Science

(C) (A) and (B) both

(D) None of these

Which one of the following is the

principle of Teaching ?

(A) Principle of recreation
(B) Principle of Interest
(C) Principle of creativity

(D) Al of these

According to history of Sport first
intramural organised by 7
(A) USA.

(B) India

(C) Greek

(D) None of these

“A game for each and each for
game” is the ideal of :

(A) Intramural

(B) Extramural

(C) (A)and (B) both

(D) None of these

(10)

34.

35.

36.

R W1 # 7
(A) UF %7 B
(B) @& [asm7 2 |
«€y (A) Ta1 (B) 3

O F 8 Fg

Pttt 3 A - @@ RE 3
Ryerd 2 7

(A) FASH F7 HE

(B) ¥ ¥ =

(C) TETE ¥ e
W) 2 af

& B hrera & HETT 947 L F
Jaer [ -

(A) M@ &

(B) W@ &

&) dim @

D) ¥ 4 3 T

87. ‘1% 3 fow A AN @9 9 2 R

aed &
(A) =Y #
(B) TEErgId H

NC) (A) T4 (B) 3

(D) = A FF 78
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d8. Which one comes under Major

39.

40.

41.

US-15160-Series-S

Game category .
(A) Volleybal]

(B) Footbal

(C) Athleticg

{D) All of the above

BT 1
'he term supervision relate with

which language ?
(A) Latin

(B3) English

(C) Hindi

)

In which type of tournament an

French

additional chance js given to

defeated team ?

(A) Consolation Tournament
(B) League Tournament

(C) Both (A) and (B)

(D) None of these

Which of the following is the first
step of sports progn:lmme ?
(A) Directing

(B) Staffing

(C) Planning

(D) Budgeting

(11)

38,

39.

40.

41.

B 4 e oA e e L I o I
2

(Aja!:fm,-_r

fB}?aT:,

C) ooy

) i at

Aol g 1 &g B8 ST
Gl

A) A=

(B) ¥

© =%

D) %9

P wr $ gafdwe 3 oA I @
& 7 sPfrre saaT e 2 7
(A) e gafyoe

(B) #m ZAdwe

<€) (V)7 (B) AF

D) #= & 3¢ @ &

Frefefa § PH-91 89 Td5S W 9

~c il
(A) v
(B) wIf¥m

() T

(D) &
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ok of the . - >
42. The last B8RO0 the spores Lo gq waw sy 4 sfem 8 2940

management chainis _ 3

(A) Cont-w“md Evaluation JAY FEa o CRIET

(B) Finaneeand Budyet (B) ¥ 37 gwe

() Publicrelation (C) =

(D) None ol the above (D) @& °d & ¢ 4
43. The objective of Intramura) 43, IS Oy A 35 R

Programme 2 ) T

(A} Achievement

(B) Involvement

(B) sarierd

) (C) &g /st
(C) Recreation
(M) Enjoyment (D) =
44. The Rajiv Gandhi Khel Ratna 44. TE WA WE T TR 1 AT
Award scheme was Jaunched JEFE F1 E -
n 4AT 1991-923
(4) 199192 (B) 1992 -93 i
(B) 1992-93
(C) 199394 (C) 1993-94%
(D) 1994-85 (D) 1994 — 957
45. What is the name of equipment 45, ™l «fdFd & 2z 52 7 Fal A FF9
used to measure units of work P A1 3 e 9T B A T
done by person calied ? IS F AN 4 7
(A) Ammeter &) THERT
(B) Ergometer (B) FHRT
(C) Galvanometer (C) Aaratsict
(D) Manometer M) TEERT
US-15160-Series.S (12)
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46.

47.

43.

49.

US-15160-Series-S
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which of the fol!uwmg is against
the pri nciples of OrRaniaation

(A) Proper decﬂmmlization

(B} Proper commupjc,,ion

(©) Overlappingamhnrit},

(D) Delegation of poy...

Which of the followins qot comes
under the purview ,f .onetraint
identification in sporeq manage-
ment ?

(A) Geographical

B) Physiological

(C) Economical

(D) Social

Terminology ‘Administration and
Management' are

(A) Synonymous to each other

(B) Entirely different from cach
other

(C) Somewhat similar to each
other

(D) All of the above
Lead up games helps in

(A) To develop skill

(B) To provide recreation
(C) (A) and (B) both

(D) None of these

46. Pnafiings i fy-81 G100
fa=z ® 7
JAY T BT
(B) g g=n?
(C) o 1 SR
(D) #fem & WA

47. ﬁwhﬁﬁﬂaaﬂ-mm“""%m

—— L
(A) dfas

() AR

(C) s

(D) =srfas

48. =R ‘g @ wET &
(A) @ zat & W@
(B) 701 7% | KT
(C) @ 7Y 3 FP-T g
D) Sl ait

49, ‘#Fz-sm A’ gEEE T
(A) I TEE F
(B) WO Iudam FHrad 2
€Y (A) T (B) 3=t
(D) ¥4 | N @

(13)
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50. What is the irst T€Quirement, of

51.

52.

US-15160-Series.S
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good / mmmrﬂffat“’n and pfﬁupncy
of the pl‘ﬂﬂﬂ'mmp
(A) Staffing
(I3) Reporting
(C) Planning
(D) All of the above
Match List-A (Game) fromp List-B.
(Measurement) and choose correet
answer from the fOlIﬂWillg :
List-B

() 28 x 15 mL.
(1) 27 x 16 mt.
(ii1) 40 % 20 m¢.
(iv) 18 x 9 mt.

List-A
(a) HandBall
(b) Volleyball
(c) KhoKho
(d) Basketbsll
Code:

(@ ® () (d)
() @) Q) (i)
M) @) av) m) @)
€ v) Gy () @)
M G @ Gu) 3Gv)
Which one of the following is the

procedure of fixture in league

(A)

tournament :

(A) TabularMethod
(B) Stiar Case Method
(C) Cyelic Method

(D) All of the abuve

(14)

50. W$W3nmﬁaﬂ1m$rﬁ“

51.

52.

g TR ) & 7
(A) iRy
(B) Rdifdn
§€) aT

D) ITE T

FreTfe A (Q) # §-B (M)
& R Ry mg@mmﬁq

gdl-A gi-B
() 2=t (i) 28 X 16 4
(b) diiiEty (i) 27 % 16 .
(¢) @&t (iii) 40 x 20 Ui
(d) IEFcAE (iv) 18 x 9 Hl.
HE :
(@ (b)) () (@
(A) () Gvy Gy ()
(B) (mi)  (Gv) @) @
€Y (V) Gil) (D) ()
(D) iy @) @) QGv)
fre % B9 wz T aRrfr § ferer
A ulkar 2 :
(A) éﬂ"d{ fafe
(B) ddg=r
(C) qwrg g
) S At
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53. How many din-l,..].mi(‘_”.j of class

54.

65.

58.

US-156160-Series-S

management are

(A) 3

(B) 5

(C) 6

(o) 7

Age is the number oy g porson

has passed from Birp to death,
known as;

(A) Chronolugical Age
(B) Biolog'icamge

(C) Psychological Age
(D) All of the above Age
POSDCORB-related with :
(A) Gulick

(B) Necwman

(C) Henry

(D) None of these

The word Administration is taken
from which language ?

(A) French

(B) Hindi

(C) English

(D) Greek

56.

53. @ rany 3 Ppod o 87
(A) 3
(B) 5
¥€C) 6
m 7

54. @t % 3 @ A FF BT AW

i w3 aE ARG FEA 2
(A) ZEa g
(B) #3%1a g
(C) 3-dafzs I
“By I il 3Y
55. ‘POSDCORB’ &= 8 -
&y T
(B) = &
(C) 370 3
(D) T 3 = T8

z?

'[.'\) o |

B) &=
(C) A

) %

(15)

https://www.ccsustudy.com
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58.

59.

60.

US-15160-Series-S

. How mam

https://www.ccsustudy.com

, primary lontlership
styles are there

(A) 4

(B) 5

(C) b

(M 7

From the following which one is the
function of management ?

(A) Plannng

(B) Directio?

() Co-ordination

(D) Aliofthe above

Which type of equipment are
Cricket Ball and Volleyball

(A) Permanent equipment

(B) Non-Consumable equipment
(C) Consumable equipment

(D) None of these

Which type of Tournament used
for condueting Kho-Kho and

Kabaddi Tournament ?

(A} Knock-out cum league
(B) Leage cum league

(C) Hound Robin league
(1)) Nope of these

57.

38.

68.

60.

(16)

qrif® A e & R o B
) 4

B) 6

(C) 6

O 7

fpefafe A - v @ w0 P 7
(A) QA

(B) Priwm

(C) <944

«D) Tehen wi

Rz da ol ddre PR TET @
IHTT &

(A) TH ITH

(B) -Todpft Iud

€©) Il ITE

(D) ¥ 8 3%
@-8 7 s s @ aoE

% RyC A-a1 g SogEE & 7
(A) E-A132 FH M

(B) @ =/ dm

(C) vy qfa #m

D) 7 & &t T
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61. Planningisa Procegg
(A) To solve the problem
(B) To achicye the objective
(C) To facilitation of action
(D) All of the abgye

62. In which type of tournament loser
of each bracket jg immediately

eliminated from the tournament?
(A) Knack-out

(B) lLeague

(C) Challenge

(D) All of these

63. The most suitable class formation
for shot Put is -

(A) Circle formation
(B) Triangle formation
(C) Semi-circle formation

(D) Square formation

US-15160-Series-S (1)

62. A gz & ot 2, 99% 3% W
m:;ﬁ;WﬂW? AT 27
(A) - uyrzz
(B) i
(C) 74

(D) 24 o &

Jrgar 2
A 77 s
(B) Bryxr ==
(©) IzgT
(D) aF 1==
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64. Match the t’ollowinl{ :
List-A List-RB
(Federﬂti"“) (Year)
(1) Kabadd (a) 1951
(2) Squﬁsh (b) 1953
(3) Yachting (e) 1960
(4) HandBal (d) 1970
Code:

65.

66.

US-15160-Series.S

A) 1-d 2-¢ 3-b 4-a
(B) 1-4d 2-b, 3-¢, 4—a,
) 1-d 2-¢ 3-d, 4-a
M) 1-a 2-b 3-c 4-4d,
Funds in 2 given period, will be
obtained and spent is called -

(A) Expenditure

(B) Budget

(C) Receipt

(D) Allocation

-
-

What is the size of Kabadd? court?
(A) 13x 10mt,

(B) 12x10mt.

(C) (A)and(B) both

M) 11 x750 mt.

64.

65.

66.

(18)

Pt & e #t

A gH--R
(%) ()

(1) FFEdh (a) 1951
(2) W (b) 1953
(3) M () 1960
(4) 22 Jd= (@) 1970

RNE :

(A) 1-d, 2 ¢ 3-b, 4-a,
B) 1-d, 2-b, 3—¢c, 4—4,
C 1-d, 2-¢, 38-d, 4-a
(D) 1-a, 2 b 3-¢ 4-4d

iAo wafa § uq ) wiftg 7 |y FEA
-

(A) =9

B a=se

(C) Wi

(D) ImEeT

e T B v R 7
(A) 1310 4.

(B) 12x 10 .

(C) (A) @ (B) <t
D) 11 x 7.60 7.
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67.

68.

69,

70.

US-15160-Series-S
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Which process we adopt to know
the progress of our Trainec ?

(A) Test
(B)
(©

10)

Which of the fn]nwing pair 18

Measurement
Evaluation

All of the above

incorrect

(A) Rangaswamy Cup — Hockey
(B) IFA Shield - Football

(C) Federation cup — Badminton
(D) Ranji Trophy — Cricket
Stadiometer is used to measure -

{A) Weight

(B) Height

(C) Fat

(1) Flexibility

A leader must have the following
qualities except :

{A) Selfishness
(B) Missionary zeal
(C) Commitment

(D) Persuasiviness

67. TR P o oy e B AT € I

68.

68.

?0‘

(19)

W R ¥ 7

(&) Tham

(B) ==

(C) wruid+

@) I

Preffofin 3 @a-ar g1 o &
(A) T g - g

(B) E.gwn. fMed — B

€Y Bl wy — FefHEA

(D) T 2 — B

Rfzanier 4 oed & -
(A) "X

(B) ou8

(C) wrErw

(D) draviEa

% Y@ P @Am-w o Ad A

afegd-
(A) @Y

¥B) &wqor

(C) uRya=ar
(D) "=
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Who i$ responsible for Samitatign/
nlcanh‘-"“sm echool 2
~eaninf WOrker
(B) CleamaF
() Teacher and student
D) Allof the above
What is the Measurement of
OlympicSwimming Poo] »
(A) 50x2mt.
(B) 25x25mt.

() 20x25mt.
(D) 50%20mt.

Which one of the following is

the prime objective of Planning in

sports 7

(A) Development of strategy

(B) Achievement
objective

(C) To solve problem

(D) All of the above

Which sports was ariginally called

desired

“socoer - in-water’ 7
(A) Polo

(B) Water Polo

(C) Swimming

(M) Allof the above

(20)

71.

72.

73.

74.

g 3 Al et 3 T A JE
27
(A)
(B)
(&)
D) 3Tw |l

Aafivs arorr A1 w9 79 8 7
(A)
B)
()
D) 50 %20 A,

Fret A #9-wr o @ § a9 3 7=
SR B 7

(A) TG =1 e

(B) I=w@ F i

(C) wuw FEm

B T W

PoE @9 ¥ gw ®1 @ ‘o 7 gedla”
FE A8

(A) &

(B) 3w It

(C) &t

(D) IR 7l

qr=r
T el

i & =

50 x 25 4t
25 x 25 #i.

20 x 25 #1,
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76. A chart and Mode] . 2 tonch:

Aid -
(A) Audio-aids (A) = sy
(B) Visual-aids (B) 37 mrg=
©) Audio-viauala'[da (C) 37-2m7 mpray
(D) None of theg, (D) z=% 3 534 4
76. The best Teaching ;g forteaching  76. Ba rfefyn & fugor g &=
sports activity iy .
(A) Audio :!FEWW i
(B) Visual (B) 3%
(C) Audio-Visya) (C) ==-zm
(D) All of the above (D) I ==t
77. Round Robin tournament also T7. TI7E RS aEter 8@ e
known as: ¥,
(A) League tournament (A) S ofadiwy
(B) Knock out tournament (B) -3z sRAQiPer
(©) (A) and (B) both NE) () 7 (B) A

(D) None of these (D) z48 & &3 =it

78. Scope of sports management 78. A3 mamE & 9% Pndv ? -

depend on

{(A) ReE gy
(A) Finance

(B) gRoat ©
(B) Facilities

(C) Tt o

(C) Personnel
(D) All of these

SONE R

US-16160-Series-S (21)
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79.

80.

81.

82.

US-15160-8Series-S
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Tournament between the institu-
tion ig known as :

(A) Intramural

(B) Extramural

(C) (A) and (B) both

(D) None of these

How many Types of Combination
Tournament are these ?

(A) 2

(B) 3
(C) 4
M) 5

Free hand Exercises generally
done in groups 18 called :

(A) Weight Training
(B) Plyometrics

(C) Drilland Marching
(D) Calisthenics

Intramural Competition are

important :

(A) For 8chool

(B) For Colleges

(C) ForUniversities

(D) Forzll of these

(22)

79.

80.

81'

82.

a3 me @A ae SR
AT AT 8
(A) T

(B) THTIA
NCY (A) agr (B) @

D) v A F 34
#g?ﬂ;jﬂﬁvtﬁv—rﬁm%ﬁ???

(A) 2
By 3
©) 4
D) 5

mﬂm%mﬁ#ﬂéfﬁm
aram frorEt a1 el #

(A) W7 9bem

(B) wAramfg

(C) @ vz wifdy

(D) Tt

Frderfrs afdfiad weay ©
(A) = & fa

(R) werfqawd & fau

(C) Rwufdaeg 2 fo

@) z9 vl § e
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83. Ina Single Knock"‘“l'f'rmrnament

https://www.ccsustudy.com

ifthe number ofteam, 10 0

num

(A) 14
(B) 16
(©) 16
(D) 17

84.
(ﬂ) Hockey

(b) Weightlifting
(¢c) Kabodd:
(d) Volleyball
@ ()
Ay (i) Gv)
B) @) (u)
© G GiD
(D) @  Gi)

85, In double league tournament

Match the following.

ber of byesis

= 0, LIBERO
= fu) CANT
= {my Roll in Substi-

fution
- (v Snatch
{e) (d)
() (1)

@) (v)
) ()

() (iv)

if number of teams are 18, then

what is the number of matches

conducted in the Tournament :

(A) 306
(B) 153
(C) 612

(D) 459

US-15160-Series-S

(23)

B4.

85.

83, "3 AF-prrr of QTN A c?‘
e £ T

o 17 &orom A g

1

Ay 14

(B} 15

(C) 16

(Dy 17

freriafeg 2 412 488 ©

(a) :';I'-':'ﬁ - f1) w

(b) WHAA - @) #WACE )
(¢) FaTd - gp DF §F FECGT

(d) THAH vy EF

(A) iy vy @D @
B) G Guw @ V)
(C) vy Gn)y @ Q)
M) ) Gy @@ v

gas & st § gk W 39 T
i F s 15 2 & sk 8
A4t =1 FErAT e WA

(A) 306

(B) 153

(C) 612

(D) 459
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86.

87.

88.

89.

US-15160-Series-S
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In Adm;nistrntiun the word

POSNCORB'iS given by .

(A) Gulick

@) J.B Nash

() H.C.Buck

;l)) None of these

SPDA’ stand for :

(A) Sports Project Delhi Area

(B) Sports Project Development
Area

(C) Sports Policy of Development
Area

(D) Al of these

What do you mean by Supervi-

gion ?

(A) Divine vigion

(B) Lighted vision

(C) Extrsordinary vision

(D) All of these

Which one of the following is most

essential for the development of

sparts and games 7

(A) Coach

(B) Sports fund

(C) Sports Management

(D) Al of these

(24)

86.

87.

88.

89.

“ireErd” ge qamea § fEE RO
A TaE

(B) &. 1. 3w

(C) wa.#. 7%

D) T 8 R 4l

‘qaWET F oyl A

(A) Recht &3 71 Q& 99

(B) &« uRdrm # I 8

«C) P &= # aa Aify

D) & &

e & sy F weAd 8 7
(A) R gfe

(B) drchfde gfte

(C) A e
P) 4B ad

frefofas # @ d9-01 Qe 3 RwRE
¥ ¥ T8 % HEEs X ?
(A) wRmF

(B) @@ M

(C) Qd gav

‘@) TE T
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Name of the Peraon
gave 'PC‘SI)C(JRB.

90. who

, theory of
organisation”

(A) Luther Gulick
(B) Fayol
(C) (A) and (B) Bath
None of these

()

91. Identify the leve] 3¢ which direc-

ting function takes place in an
organisation/management

(A) Top level Maragement

(B) Middle level of management
(C) Lower level of management
(D) All of the above

It refers to all measures which are
used to motivale sports person to
improve performance-

(A) Leadership
(B) Motivation

(C) Incentives

(D) Communication

US-15160-Series-S

90. A = POSDC

91.

'E-!“U

afEr A 2 22
77 1%
(A} 7o (B) A1

(B)
()
(D) =9 &t 1% a#H

¥ ¥y w ow=d Aer 3

(A) 5979 1 Ferpa5 =T

(B) 79795 1 mig= W1

(C) mam= & == &7

) JII7es =6

g2 39 W F waiHa v 2

@ fmaE & azIa § gar w517
@R 2y T F Bw Iugm R
%

(A)

(B)
{
)

T
qo
87
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93.

95.

US-16160-Beries-S
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givenin 8 preliminary ranking for
the purpose of Draw i known gs-
(A) Seeding

(B) Bye
©) (A and (B) both

(D) None of these

In which mcthod of league.no bve

is given to any tcam and there ig
no problem of even or odd number

of teams 7
(A) Cyclic Method

(B) Stair case Method

(C) Tebular Method

(D) Inal

Equipment Pomell's Horse related
with which game :

(A) Polo

(B) Equestrian

(C) Gymnastic

D) Allofthe above

Which factor affect the class
management ?

(A) Class formation

(B) Dress

(C) Diseipline

(D) Allof the above
(26)

93.

94.

95.

96.

A AR oy d-wfoartt @ €W
A PR g 3 g & R T
W & w3,
(A) =ifys

(B) ¢

) (A) T (B) 2

M) % & FxZ T4

T @ e wsfy 3 iR o T AR
T8 & il ohw mm m fwe @ ant
&t At T wwwn @ o 8 7

(A) G@g il

(B) T fafa

(C) &g fafy
D) @ F

94 T i @ e fow @@ A B -

. pgad g1

(A) 4l

(B) g=Hail

&) FayAifees

(D) =T a7+ &

PH-HI S $4 99T B THAT FHTAT

2?7

(A) @81 41 GG
(B) dv-g@

(C) &7amEA

@) 2uia adf

https://www.ccsustudy.com



https://www.ccsustudy.com

AL AT
i |

The main l'l!.'_‘r.,,_,“_ of the 97. fimrr % reyrey Hl ri@

97.
gupervision of 'rr_-ach;ng should be ——
(A) Advnn{:ﬂmem‘bpff.-groqq for (A) Tora zm=mm 2 A
students welf, ., ez
P er utiliza, (B) =3 =fagrat &l :;gf’.rﬂ
(B) rop YZation of school !
cilities
g' rying (Cy trrmmm 3 qET A AT
(©) arr] out of the
cul'!'iL‘UlUln “$EN)  wE d Al vﬁ 3 el
(D) Achievement of ¢ cogs in
class
N AT 2
yg. The school teachers are directly  98. oM@z a7 smres 774340 7 —_
sible to the
respon e |
(A) Headmaster
{A) T FTTTE
(B) Dev =
C) Parents (B) =
(© Stud (C) =mar-T=
) Students .
@ LDy Amndt

99. Administration means. 99. g W oFL Y -

() To look after (A) 2g-T@ ¥T
(B) To protect B
(C) Torun o 3 —_:T
A Harae el
(D) To establish [ i
(D) == ==

100. Which one is not a type of 100. 7= §F W3- 9TRA ®| FET a4 X -

Adminstration -
. v &3 A Pt TR
(A) [Instructional Admimstration

(B) Authoritasion Admuustration «B)  NITwE Sumee

C) Democratic Admmstration ) A
( ) l EIMOoL [y T (Y __;1,__5”,.--“_,‘._ TV
(D) Laissez Adnnmstratnon -
(DY FARFEA ITET
(279
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Functions of Sociological Thought
(Code : A-332)

Question Booklet Series
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Question Booklet
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)
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1.  Donotopen the booklet unless you are 1.
asked to do so.

9.  The booklet contains 100 questions.
Examinee is required to answer all 2.
100 questions in the OMR Answer-
Sheet provided and not in the
question booklet. All questions
carry equal marks.

3. Examine the Booklet and the OMR 8.
Answer-Sheet very carefully before
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questions or having any other
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1. Mo o ‘ L
Who mphasizod oy the objective L. awfre awe W e g cenfl
study?

(A) AT ¥
(A Max Waboer (B) red
(B) Marx
\ (C)
(C) Durkheim Edsm
(D) arrg FR

(D) Auguste Comte

2. According to Weber, three basis 2. 359 397 3 HAR T B aH
of stratification - T
(A) Class, Education, Power | &) 7, R, ot
(B) Power, Status, Education (B) i, wRaft, frn
(C) Class, Status, Power () i, e, i

(D) i, uRafy, fwen

(D) Class, Status, Education

3. Books written by Weber 3. M AT 3 R W :
1. Economy and Society 1. @R qur G
2. Essays in Sociology 2. U Rmh
3. Primitive classification 3. DR tafdar
4. The Religion of China ;) : ﬁjtﬂz e E"E:IT
@ 2 3 4 B) 1, 2, 4
® 1, 2 4 © 1, 2, 3
© 1 23 W) 1, 38, 4
M 1, 3, 4

US-15187-Series-R (1)
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4. Which of the following, word 18 4.

related to Social Fact?
(A) Society

(B) Association

(C) Group

(D) Community

5.  Match the following: 5.

(a) Comte 1. England

(b Marks 2. Russiu

(¢} Sorokin 3. Germany

(d} Spencer 1. France

(@ @® @ @

Ay 1. 2 3, 4

@ 4, 3. 2 1

) 3, 1L 4, 2

(D) 2, 4, 1, 3
6. Match the followmng: - 6.

(a) Durkheim 1. l}hl;,*

(b) Weber 2. France

(¢} Parcto 3. India

(d) Dhurye 4. Germany

(@ M © @

(A 2, 4, 1, 38

@) 3, 2, 4, 1

© 4 3 2 |1

™ 1. 2 3 4
US-15137-Series-R (2)

freafafas 0 QA FWow o @

A @ Eatm 27

X)) THE

(B =Ml
(Cy e
(D) #§2E

et & afad @

(i} gl
(by M4
(c) BRIHA
() {ET

(a)y (b

(BT A, 38,
(C) 3, 1.
(M 2, 4.

I.

b

f=ialaa ! rﬁ‘rr He o

() T
() @43
({f)ﬁ*.ﬁ
(dy g

@) (b)
(A) 2, 4,
(B) 3, 2,
) 4, 38,
) 1, 2

https://www.ccsustudy.com
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Which book is not related to
Spencer? -

(A} Principle of Biclogy
(B) Principle of Psychology
(C) Principle of Sociology .

(D) Division of Labour in Society

From which language is the word
Evolution derived?

(A) Latin
(B) Hindi
(C) Greck
(D)} German

Which of the following is not
correctly matched?

{A) Ghurye - 1893
(B) Travati Karvey - 190b
(C) Srinivas - 1910

(D Mukherjee - 1889

US-15137-Series-R

7. - g Ao @ w6 E
(A) pifaaw ofte QK
@) BRes atE arsdh
©) Bifewa e Sfdweh
<Py BAA e JaT 7 wranad

8. TRwm () Pm wmr & fa

T 7

(A) e
(B) &=
(© =

(D) T

9. Fraftfya ¥ @ ¥ gRiT 78 22

(A) IRA - 1893
B) zuad 3 - 1905
(C) wfEm - 19i0
@) weeit - 1889

https://www.ccsustudy.com
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F -
10. Match List I to List il - 10. @ 1® g 113 B

(8) Durkheim 1. Circulation of () s@'ﬂ 1. #ER T # o
the Elite o) - 2

b M 9 Suicide

- © ¥ 3. FEY-T=Y

(¢} Pareto 3. Ideal Type

(d) Weber 4. Dialectic (d) 3T 4. ARG IR
Materialism (2 ® (@ (@

A) 4. 3.

2, 1
® 1. 2 3 4
© 3. 1, 2 4
M 2 4 1. 3

© 3 1, 2 4
“P] 2, 4 1, 3

1L Which vear 15 kpown as

11. -9 FF FAPT HA S T A T

‘Renaissance Period' ? o ¥7

(A) 1250-1450 (A) 1250-1450
B) 1350- 1550 B 1350- 1550
(C) 1450- 1650 (€) 1450-1650
D) 1550-1750

12. Who is the Father of Sociology?

D) 1550-1750

12. waweE @ M 9 87

(A) August Comte i e PR
(B) Herbert Spencer (B) ¥ Q=T
(C) Emile Durkheim ©) e {ER
(D) Marx D) o
US-15137-Series-R (4)
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13. Which Revolution is called 13. f39 Fl~ F

"Terrible Avalanche? w27

(A) France Revolution Ay SR A F

(B) American Revolution (B) AT =

(C) Industrial Revolution (C) hafres wfa
() et @t

(1) Scientific Revolution ¥
. i % [J Ig;HfE! '—m;[ .
14. ‘Caste is a close clasa', who said? 14, ‘fd ¢F a< 71 ¢

(A) Majumdar (A FIERTT
@) N. K. Dutt (R) @1. 3. 24
(C) Ghurye (€) Fa
(@) J.H.Hattan M) . . &
15. Who is known for the word 15 R % 3 ke 3w 2 AR ¥
'Verstchen'? &) B A
(A) Max Weber —
(B) Marx P
(C) Parsons Dy o

(D) Majumdar
16. Durkheim has considered the  16. 3@ % od & 3wy 2 R 3 Pratey

study of which Tribe as the basis 3 [ e e @ AT B AR
for formulating the principle of T 27
origin of Religion? @
(A) Arunta
(B) Eskimo (M) i
(C) Santhal (C) dum
US-15137-Series-R (5)
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18.

19.
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. Which
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Who is the Proponent of Totemism?
(A) Merton

B) Parsons

(&)

Dawvis

(D)} Durkhiem

Cosmicism started with the

French Revolution.
(A) True

(B) False

(C) Daubtful

) None

When France got Independance?
(A) 14July 1787
B) 24 July 1877
(C) 14July 1789
(D) 14July 1788

scholar Propounded

Sociology as a Synthetic Science?
(A) Durkheim

(B) Weber

(C) Marx

(D) August Comte

(6)

17.

18.

19,

ez & o ¥

)

(B) &1

(C) W=

(D) FE™

wE B W § DHEEAE F O BH
A7 w#

(B) Ta

(C) R

(D) ¥

TWE T @A gAY
AAY 14508 1787
(B) 2497 1877
(C) 14 9% 1789
(D) 14 9% 1788

. fra Ram 3 s99yRT & o Hee!

R & =1 & ofiroifza R 27

(A) @™
(B) ¥R

©)
) T e

https://www.ccsustudy.com
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2
: [ i H #" af:[q":’j:‘.‘ :ﬁ"' g-
21. Who 18 the exponent of the Law 21. 4@ wia Fan ¢

of three stages™ Ay AT
{4) Spencer By w2
(B} Comte
(C) FAT
(C) Weber
(M Parsons (D) TEH .
929. Who is the authur of "The course 92, “f P A qfATzT Rerasr e
of positive philosophy'? AFT B X7
(4) Darwin (A) =i
(B) Marx (B) W
(C) Comte «€) IR
(D) Weber (D) 3=
23. Who was the diseiple of Saint 23. Bve g & B v A7
: ?
Simon "
(A) Bpencer
(B) gt
(B) Mukherji
(C) =hfvarm
(C) Srinivas
(D) Comte By FR
24. Who is the author of Principle of 24, ‘fifawa affe Sy =% 2 ras
Sociology? T X?
(A) Parsons (A) TREV
(B) Pareto B VA
(C) Weber © ¥

(D) Spencor “D) R

US-16187-Series-R (1)
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g5. In which country did the Sociolagy

27.

US-15137-Series-R

arginate”?
(A) America
(B) England
(C) France
(D) India

Who said 'Sociology is the science
of society™

(A} Odum
(B) Weber
) Ward
(D) Ogburn

Which of the following vear is

related to birth and death to
Comte?

(A) 18581970
(B) 18515-1883
(€C) 1902-1958
(D) 1798.-1857

Who is the exponent of 'Theary of
Natural Evolution™

(A) Darwin

(B) Spencer

(C) Weber

(D) Marx

(8)

25. ARAELT frag & af Ba 20§
f
(A) {1
(B) U3
(C) ®mA
(D) 7=

26. 'R §OW H Q@ 271 Y K94
fra® 27

(A ¥rEm
By 4t
(C) =
(D) Hima+

27, frafafegs & & FR-@ oW 3R @
A g A At 27

(A) 1858-1970
(B) 1818-1883
(C) 1902-1958
BT 1798-1857

28. ‘o3 g ey B gfaes FE 87
(A) 3+
(B) ™7
@y Ax

(D) =N

https://www.ccsustudy.com
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99, When was Durkhaim born?

30.

31.

32,

US-15187-Series-R

(A) 1D April 1858
(B) 15 April 1857
(C) 15April1818
D) 15April 1798

Whe was known as Irench
Sorﬂkin?

(A) Spencer
(B) Weber
(¢) Durkheim
(D) Marx

What is the characteristics of
Vedic Social Thought?

(A) VarnaSystem

(B) Ashram System

(C) Hituals

D) Al

Full name of August Comte :

(A) Isidore Auguste Marie
Francoise Xavier Comte

(B Francoise Xavicr Isidore
Auguste Comte

(C) Maric Isidore Francoise
Xavier Auguste Comte

(D) Auguste Comte Isidore

Marie Xavier Francoise

(9)

29, q’ﬂ'ﬂﬁﬂﬁt-’imm?
(A) 15 3 1458
(B) 1525 1857
(C) 153 1818
(D) 15 38 1798
30. B ANfET & =0 & B my 3 ¥
(A) &A7
(B) aar
&€y g
(D) =
31. Lo G RRILE GE ] Ry 1 m
T #7?
(A) | =gen
(B) AT e
(C) &
D) aft
32. St I J| T AT

(A) FET AR T T8 IR
B

Fed

sh=2ite

https://www.ccsustudy.com
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34.

36.

US-15137-Series-R
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Who has proposed the term

Secularization® ?

(A) Srinivas

(B) Yogeadra Singh

(C) Mukherjee

(D) Desai

Which scholar's name 1s agsociated

with great tradition and Little
tradition?

(A) Hattan
(B) Redfield
(C) Benedict
(D) Hobel

. What is the basis of diversities in

Indian culture?

{A) Religion

(B) Languages

(C) Castes

D) All

What are the main features of
Indian culture?

(A) Unity in diversity

(B) Many languages

(Cy Many races

() Many religions

33.

34,

35.

36.

(10)

R?
(A) HiaE
(B) = fHe

(C) T=i
(D) E

gEa TOU AT @y oaa 3 M R
fam w0 am 31 37

(A) &EA

«(B] RS

(©) Fidee

(D) M=

TR Al W e & AT F/
&7

(A)

(B) #me@

(C) aforai

«P) ufi

ad @l ugE fadua sE-d
&7

(&Y AT A

(B) 3% WiNd

(C) % wanfori

(D) 3% ad

https://www.ccsustudy.com
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| 98
q7. Who said ‘orii¢h of caste is nol 37, Fnq # Iata @Eafes el ¢

oecupational' ? fraE #49 &7
(A) Srinivas () s
(B) Ghurye : (B) @
() Ketkay {27 BAFT
(D) Majumdar (D) HA927
16 Whose maguzine is the ‘Social 38, ‘Afmitrss gafer Frae wrsl ¥
Bulletin®? Ay i
(A) Srinivas ' ®) T
®) Ghurye P
(C) Mapnmdar D) 3
(1) Karvey
39. Name the book of 'Kautilya': 39, ‘Pfew’ A TGF B AW FARY :
(A) Manusmriti (\) =i
(B) Auxthashashtra (B) sriamE
(C) Socivlogy (C) WA
(D) All (D) Wl
40, Which of Lthe following subject is  40. Frafafga fard ¥ § -7 Q9g g
new? . ?
(A) Astronomy (A) T
(B) Astrology (B) tfeaames
(C) Sveiology (C) a9 ems
(D) Mathematics (D) TRt

US-16137-Series-R (1)

https://www.ccsustudy.com



https://www.ccsustudy.com

41. Sociology was first taught at Yale

42,

US-15137-Series-R

University. Where is it situated?
(A) America

(B) France

(C) India

(D) England

How long is the Fourth stage of
the development of Sociology?

(A) 1798-1857
(B) 1864-1917
(%)
D)

1918 - 1998
1819. 1947

Which science has the first place

in the classification of sciences?
(A) Sociology

(B) Astronomy

(C) Biology

(D) Mathematics

Put the classification of sciences
by Comte in the correct order :

(A) Biology, Astronomy, Chemistry
(B) Astronomy, Sociology, Physics
(C) Physics, Biology, Chemistry

(D) Mathematics, Astronomy,
Physics

41.

42.

43.

44,

(12)

T TR U favafaame &
@ T AUl 98 g Rl g7

(a) PR® &

By % o

(C) @ ¥

(D) ave A

wEE & B ¥ agd s
3@ O A B

AT 1798 - 1857

(B) 1864-1917

(C) 1918-1998

(D) 1819-1947

el @ figror 3 vem wF e REE
7 ¥

(A) IR

(B) wiwme

(C) afREe

By

3R a0 R $ TfE & 6l
@

(A) wforme, @i, T R
(B) @AM, FRAE, Sid Bt
Gy Mers fomm, aiforeme, TemgA fas
(D) @, EeeEs, dft e

https://www.ccsustudy.com
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Who represoited the inspection,
test, historical and comparative

method for Sociology?
{A) Aristotle

(B) Flato

(C) Montesquiou
(D) Comte

What is the fundamental unit and
Cornerstone of gsociety

(A) Family
(B) Neighbour
(C) Kinship
(D) None

What is not related to 'Three
atages of Laws'?

(A) Theological
(B) Mectaphysics
(C) Positivism

(D) Economical

Marx's which book is like a ‘Bible'
for Socialists?

* (A) The Poverty of Philesophy

_US-15137aSeries—R

(B} Communist Manifesto
(C) Holy family
(D) Das Capital

(5. Pl TR & Rrg FraE T,
it (O CR UKD qefl &
Predfie Rear?

(A) 9]
(B) @
“C) TR
M) #2

46. maﬁwmﬂ?mﬂmt
Ay ofEr
(B) w9
(€ erd
@y a7

47, &9 wla Pt 3 ok T ¥
A) o=
(B) oRas=r

(C) TBRRRE
Dy e

48, T Rt B PA-H S AR
3 foq e 3t TE ¥

@A) A 1 s R
(B) Ffre et
«Ey &Rt BB

O W =

(13)

https://www.ccsustudy.com



49,

30.

2.
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When was the concept of ‘ldeal-
Type’ first used”

(A 1901
(B) 1902
() 1903
)y 1904

Other than Weber, who are the
scholars associated with the
corcepts of ‘1deal-Type' ?

A) Dilthey

(B) Simmel

() Edmond

D) Al

. Who coined the term ‘circulation

of elite’' ?
(A) Pareto
(B) Marx
(C) Parsons
(D) Weber

Who said Capitalism digs its own
grave?

(A} Durkheim
(B) Marx
(C) Weber
(D) Comte

49.

50.

oL

62.

(14)

e ‘oR-ATE F rurn A g
& fom T

(A) 1901

(B) 1902

{€) 1903

(D) 1904

331 F @@ e wiwT T
yqurw & B3-37 g J2 2

A R

(B) M

(C) wavg

By &

Sfema 2t & dftwror Byt zm P
nyy?

(A) 7

(B) =

(C) IwEH

(D) T

T =1 wpfy & &l 2 R a2
A Wl wem 3 4% T e b7

(B T

(B) Wl
(€) ™
(D)

https://www.ccsustudy.com
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53. Which theory'is related to Marx?
(A) Theory of surplus value
(BY Class struggle
(Cy Both
(D) None of 2hove

54, How many lypes of Ashramas are
there?
(A) 4
(B)
) 6
D) 3

(W]

56. How many types of Suicide has
Durkheim described?

(A) 3

(B) 4

G 5

(D) 6

56. 'Tthnology' word is related to:

(4) J.S.Mill

(B) Wright Mills

(C) ldward Shils

(D) Herbert Spencer

US-15137-Series-R

53, A faar el qoEl A geaffd 27
(A) i g # g

B) at-wmd

€y A

(D) & & F3 T

54. I fedd GERE & B 2
(A) 1
WB) 5
(C) 6
(D) 3
5. 79 3 orEn @ PR gR A €
YA 3
(B) 4
© 5

(D) 6

56. ‘CaRmr o fFEd ddfa @2
(A) . A P
(B) e frew
(C) T8 R
29) BRI CCR T

(15)
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=, Ponsequencer of Enlightenmen
(A Humamsm
{B) Art Progress
) Rehipon Reformetion
@ All

s6. Which of the following 1e the
Founding Socologst”?

(&) Durkhemm
B Alexsnder
{C} Pareto

. @ Sorvkin

’. Durkbeim 1+ related to .
A Fac
@B Class-Suruggie
(€} Circulztion of Elite
O} Al

0. Tvpes of Authorities given by Max
Weber -

Al Legal Authority
(B} Traditional Authority
() Chursmatic Authority

M Al

57 mwa @ OfTTE
(A) WHEET
By = & s

() ™ gar
D) =4
58, Profafga & 7 A9 wRITE THEAAR
b7
gl
(B) sdwre
() ¥
(1) A0fE
59, g wafam B
(A) ™R
(B) oi-gwd
() st o & e
@ ah

60. Hen Bgr pro fed my wE & ST

(A) bufrE @@
(B) SrRUATE B
() wfrend w0
G o

US-15137-Series-R (16
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g1. Who satd. Tn gre inlogy ‘what e

62.

63.

'm“‘d t'ff' Q?H(hr\rl and 'nn‘, Whﬂt

should he™
(A) Weber
(B) Ward
(C) Durkheim
(D Odum

When was Socwology first taught
in India?
(A) 1919
B) 1914
(C) 1916
(D) 1920

What is Social [deology®
(A) Social Philosophy
(B) Social Theory

(C) Systematic ldea

(D) Subjectivity

Who among the following is known
as 'Father of Indian Sociology™

(A) Mukherjee
(B) Dubey
(C) Desar
(D) Ghurye

US-18137 Series-R

62.

TR

mrmEr 4 R Y W AR O
ok 5 o e A e H9 P

Tl

arntes Reror & Y

() arfes T

+BY apafors e

W) A Qe

Dy et

rrafaiee 3 2 S WA R
$ M 4wy oAt o}
At

®H R

W) et
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Which scholar emphasized the
Philosophical approach to the
study of Indian Society?

(A) Snnivas

(B) Dubey

(C) Yogendra Singh
(D) 1. P. Mukhernee

Which scholar emphasized the

struggle approach to the study of
Indian society?

(A) P.N.Prabhu
(B} Dubey

(C) Damley

(D) Desai

Which Indian schnlnr'called

Sociclogy as the 'Master Science
of Society™

(A} Ghurye
(B Mukhenee
(C} Majumdar

() Srinavas

. Ancient Sources of Indian Social

ideology are :
(A) Upanishad
(B) Manusmriu
(C) Mahabharat
(D) Al

65. g fABF A YnEm a3 T

66.

67.

68.

(18)

& e shtewer o am Ry
(A) AFETR

(B) 7

(C) @Az faw

M) #. @ e

8 B A wrEm e @ aeggE g
wo gl o o R

(A) di. T3y

®

(C) T

(D) 2w

R wdig RaE 3 aH[arE 3 T
F FwidEE &' BY

(A) g

(B) g&=t

(CC) HFTER
(D) iy
/Ay aafes faram & g 39

.
[

(A) IuFyE
B) wEf

(C) wemwid

W) ad
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69. G.S. Ghurye js relgteq to: 69. oh. qw. gRAt @ wawm ¥ :
(A) Social Phijosophy ©f (A) @I fEatarer e HEw
Mahatma Gandhi et
(B) Social Chapge in Modern B) Ay o= 7 T 3RA
India (C) Beafer TR sfosar
(C) Kinship organization in India Py ® wza wng
(D) Thelndian Sadhus
0. Caste literally means : 70, R @ wfes ot B
(A) Nasl (A) T
(B) Prajati (B) wanfey
{C) Bhed (C) *=3
D) Al D) |
71. Who wrote the book 'Caste in 71, ‘& 3 gear ¢&® fpar el?
India‘? &) o
(A) IravatiKarvey .
(B) Hattan ¥B) &=
(©) Dubey ©
(D) Ghurve (D) A
79. What is the birth-date of Radha 72, (uGwe qeeh 2 d=farg = 27
Kamal Mukherjee? &S 7 Rt 1889
(A) 7 Decc. 1889 (B) 7 RE=AT 1789
(B) 7 Dec. 1789 © 7REET1870

(C) 7 Dec. 1870 (D) 7RE=T 1798

(D) 7 Dec. 1798

US-15137-Series-R (19)
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73. Whose concept is Sanskntimtion™

(A) Snnmivas
(B) Ghunve
(CY Majumdar
(DM Desar

74. Whuch scholar has called 'India s
a Museum of Races™

(A) Furth
{B) Benedit
(@ Marx
(DY Ruziev
75. How many characteriatics of caste
svstem have been described by
Ghurve?
(A 5
B 6

.~

({Cy 8
(D 10

76. \Value developed virtue :n Person's

life Who sad 1t?
{AY Weber

(B} Merton

() Mukhenjee
(D Churye

US-15187-Series-R

13, wegRETT RE anmren B
\lﬁ LSRR

® T3
(C) TR
(D) e

=4. B0 REA X W @ TR § N
s {7
A =
(B) WBR
(C) vt
“Dy e
75. TR A Wi awEn @ R R
awt K?
(A 5
«B) 6
) 8
(D) 10
76. T =R § A N 8T W REE
5@ Y R g ¥
A)
(B) =

&) g
D) g

(20)
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Who 1« th, yithe

-
AN N "
Ch (ART. “.I,,,:I‘]_”I !l'lli\:\"

v of Qecral
T LI R THEAN
B Mukh, Ny
(Y Movuand,

(N Srinn

as

Which

"
:"\.-“.1‘

far adopred Marxast
pt\t‘."‘pt‘\‘ﬂ\r on i‘-hh;\l‘l &Tlt‘!‘\' in
his studes®

() Ghuny
(B) Mukheree
(O Srmnvas
(I Dubev
Who 15 the
Hierarcies™
(\)

(I

Hattan
Dumont
(Y Betelle

(N Pamkkar
The speaific
Ghuryve s called

porspectunwve of the

\) Subaltern
(B Marssm
(Y Indologieal Approach

Ll N None

37-Series-R (211)

author of 'Homo 79.

80.

e A €A wrwd eSregy” q‘ﬂ!" tg3r

—
(A 'Ffﬁ

By FgEA

i AT

(DY AR

R e 2 aeeg BeL 97 AT

::@ﬁrwr*'-‘r‘wf':aﬂﬂ‘
Wy g

(Y TR
(M =

R ognsta ERE e ¥
Ay ®EH

B g

TR &~

(I T

2w Ry o @ R
(A) e

WBY S

() wa B IS

(D w¢ =&
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81.

82.

84.

US-15137-Series-R

https://www.ccsustudy.com

Who

‘Repressive and Restitutive law'?

introduced the term

(A) Simmel
(B) Parsons
(C) Durkeim
(D) Pareto

Who is the author of the 'Life
Devine'?

(A) Gandhi
(B)
(C)
(D)

Who is the author of 'Invitation to

Sociology™?

Manu
Radhakrishna
Arbindo

(A) Tovnbce

(B) Peter Barger
(©)
(D) Kimball Young

Who ie the author of 'The Third

Wave' ?

Bottomore

(A) Wilbert E. Moore

B)
(©)
)

Fdwin Denbough
Smelser

Elvin Taffler

S1.

82.

83.

84.

(22)

ot A i wE A R
mega f&a?

()

(B) WL

€y ™

M T

' amP R & dae B9 27

(A) idi

(B) =7
(C) THTH
(D) <

‘TR ¢ HIREE §EE @ Slags
(A) #rEadl

(B) dieT T97

ey AT

(D) [t 4w

‘R o€ 3’ a0 I F dAGE I 7
(A) R g 7w

(B) wefe S

(C) |t

(D) ufea ewaat

https://www.ccsustudy.com
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88.

https://www.ccsustudy.com

. Who is the uuthor of “The

Methodology of Sacial Science.
1949'?

(A) Parsons

(B) Weber
(C) Marx
D)

When was Weber horn?

Kimball Young

(A) 1864
(B) 1868
(C)y 1904
(D) 1968

. Who said, 'Man is exploited by

man'?

(A) Comte
(B) Marx
(C) Weber
(D) Durkheim

FFacts are discovered in Social

Rescarch?
(A) OM
(B) New
(C) True
(D) False

US-15137-Se¢ries-R

856.

86.

87.

88.

(23)

B ARt offE ARd TRE 194y
3 das a9 &7

(A) T

(B) 37

(C) wrH

(1)) Foeta I

37 1 o= fRw T & g W7
(A) 1864

(B) 1868

(©)
(D) 1968

T % AE ET0 9 g @, d@
w2

(A) e

(B) W

(C) AR

(D) gd=

amivie dgEaE § B all & S
F i 27

(A) wrEE

B) T =

Q) w9

(D) ¥\

1904

https://www.ccsustudy.com
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89. Match the following : 89. Pt # g F .
(a) Society 1. Alex Inkles (a) HRECT 1. TR SF
(b) What is sociology 2. Maclver and (b) FE 2. fraa T 4
Page AR
() Introduction to 3. Smelser (© Cd L il A 3. Waat
Sociulogy Afd
(d) Sociology 4. Jayram (d) SRR 4. g
(@ (B) @ @ (a O® @ (@
(A 2. 1 4, 3 @ 2 1. 4 3
®B 4. 3 2, ] B) 4 3 2, 1
C) 3, 2. 1, 4 ©) 83, L, 4
@ 4 2 1 3 m 4 2 1, 3
90. Match the following : 90. Preifufea 3 gafra & -
(a) Social 1. Sorokin R
Organisation
(b) Sociology : 2. Johnson () WA Q2 S
‘ A Systematic Rrdffer g
Iatroduction (c) A=A, FeT 3. ad &R
(¢) Society, Culture 3. Charles Coolev e AR

and Personahity

{d) Human Saciety 4. Kingsley (d) §F SR 4. Bt 3wE

Davis (@ (b) (e} (d)
(a) (b)) () (@ A 1, 2 3 4
A 1, 2 3. 4 ®B) 3. 1. 2, 4

B) C) 4, 3, 1. 2

©
™ 2 4 1, 3

A B 1, 2 0Dy 2, 4, 1, 3

US-15137-Series-R (24)
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91. Marxis: 91. w8 :
(A) Sociologig (A) FRTSTSTEAl
(B) Economjg (B) ::;
€y
(C) Both
m) = 7
(1) None
92. Weber is related to - 92, T gafeaa 2 -
(A} Bureaucracy (A) rezeme!
(B) Fact (B) &
© Class-struggle © ::;m
@) Al By
93. Elements of the Social actions 93, wrifys w1 @ oA £
are : (a) af, w3
{A) Actor, Aim (B) uRfraferi, &
(B) Situations, Means @y A7
) =% F&
(C) Both
(D) None
94, Who said, 'Workers of the world  94. ‘TP & wagdl, & & i, FFEA
unite'? FaI?
(A) Hegal (A) #ra
(B) Marx “B) R
(C) Tt
C) Durkhein
(€ Dur () A=
(D) Lenin
US-151387-Series-R {25)
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' fpaa ot B2
a. mﬁﬁféﬂmaﬂ

. Value' w
5. "::t:i Structure of Value'. whn ‘m gaiﬁ
(&) Mukhenee ®) Sﬁa
®) Ghurve @ AT
(C) Srinivas o =
D) Kurvey

96. ‘lsolation’ is related to

(A) Durkheim (A) FEH
(B) Ghurve ® 2
(C) Marx ) w
(D) Karvey @{ A
97. What is Social Thought? 97 IR fErar & 8?7
(A) Social Fact L&) Wi T
fei=
(B} Social Thinking (B) P
. (C) | A1aT
(C) Social Sentiments
(D) TlE BTEe
(D) Social Reshuffie
98. Who said. “Hietory isa Graveyard 98, ‘ghwm & FfiFa= & Hhrar’ fra
of Anstocracies” ? 87
(A) Weber (A) 3T
B) Marx (B) =
US-15137-Series-R (28)
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99. Yra } Amfrs, fpFavh, WRARS 3

09, In which {'lnﬂqr]m.q Pareto put the

Scientier, [“"'”f-r-nml and R ot F gy 27
Engincerg?
(A) arFs afwaA T
(A) Ruler a)yy,,. .
! (B) somrs pfgam 1
fB) :\'On'rlllf%rﬂ“ieq
(©) Both o
D) None (D) #2 ¥
100.In what two Parts daes Pareto 100.77 3 wftema a0 =t B9 % g} 3
divide the afjse Pl - L
{‘:\} (;O\'(‘r"jng Ehtv (;\,'J' m m 31?
(B) N(}n'gO\'c]'ning E]-lt{'- IB] h-m l}"ﬁrm ﬂ
(C} Both € At
(D) None D) BE T
(D) :

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
U qU Aaud H 3w 10 Tod o,
Pavtm or Google Pay &

(27)
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1. If f () is analytic function of 2.
then

[§?3+f2?i)lRf(Z}|2=....
@A 2(" 121

®B) 21f' @I*

©) 212

(D) None of these

2. The sum function f (z) of the power

. n
series z a,Z represents an
n=0

analytic function :
(A) inside its circle of convergence

(B) outside its
convergence

circle of

(C) on its circle of convergence

(D) None of these

3. Hadamard’s formula for theradius 3.

of convergence is :

-(A) ﬁ = tim Sup |a, IX‘

(B) l{— = fim int |a, IM1

I -

1
(©) i (a,)"

(1)) None of these

US-15105-Series-R (1)

M £ (2), 2% Prdvdy et B, 9

o
(‘5{1 + *a;s] IRf(z)" =....
(A) 2(f' |z|)?
(B) 2f'(z)|2
©) 21(z)
(D) & § 38 48

g Aol ianz“aﬁrﬁ'lﬂqﬂ?f&)
o R G awian B -

(A) T FERT D T B FRT
(B) 3HD ARERYT 3 % B BT
(C) T ST 3 I W

D) FH & B T

R # B & g = &

TE

< (A) %= fim Sup |a, |

1 . v
—=fim int |a, |'"
(B) = fm

© F=fm @)

n-»®

(D) 3 | B e

https://www.ccsustudy.com



4.  The Radius of convergence of th¢ 4. Aoft Z (1 _

5.

https://www.ccsustudy.com

. U R
series le~;) 7" 18
“(A) e
B) e-!

(C) e?
(D) None of these

The power series ) a,z' 18
absolutely convergent if the series
z la, 2" | 1s:
(A) conditionally convergent
(B) divergent

“(C) convergent
(D) None of these

6, The radius of convergence of the

. nv2+i a .
series 9 1+i{i?)z is
(A) -1
(B) 1
fC) 2
(D) 3

A function defined on [0, 1] by
£ ) = x :1f x is rational

_ - x:If xis irrational
1S

(A) uniformly continuous ay
x=
(B) discontinue =]
Jus at x = /2

'(C]‘ contiin UGus at x = 14
. V4
(D)) None of these ?

US-15105-Series-R

2

]" 2 B SR

L n
B T

(A) e

(B) e-1

(C) e2

D) T ¥ i =3

T S 8, 2 ot w9} afmRe
mqﬁw Z;anz"|%:

(A) Fd sforarh

(B) smwrd

(©) fvErh

D) 374 & N 3§

&t z‘,]{%ni)x" # s 2
B &

(A) -1

(B) 1

(C) 2

D) 3

UF Faq A [0, 1) 9% 38/ JehT Qg
g

rr
A “)
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8. ' The mapping W = { (2), where f (2)
region D, 18 conformal at the points

of D if
@ f @0 ingide D

(B) f'(z) = 0outside D
(C) [’ (z)=0
(D) None of these

=0

elg

9. The points where {' (2) =
or « are called
*(A) ordinary points
(B) critical points
(C) points of continuity
(D) None of these

19. The transformation

az+b
w=1()= cz-+d

(A) ac—bd#0
(B) bd=ac#0
{C) ad—becz0
(D) ab—cd=0

is bilinearif

11. Which 1s true -

(A) . Every continuous function in
a closed interval is bounded
in that interval.

(B} Every uniformly continuous
function on an interval I is
continuous on L.

(C) f(x) = x* is uniformly
continuous in [- 2. 2].

‘(D) All of the above.

US-15105-Series-R (3)

8.

10.

11.

A w = (z), W&l f(z) &= DH 2z
# BT w7 3, 4 D 3 Rgl W
ATET ¥ A

(A) f'»=089 D& I=X

(B) '+ 087 DB 4Rt

(C) f'(x=0

(D) 4 § F§ T

(©) w3 ”rg
D) = A B =

az+b
aqael w =1 (2) =

BT O

(A) ac-bd=0
(B) bd-ac=0
(C) ad—bc=0
(D) ab-cd=0

cz+d

DA WMETT & -
(A) & F= Fa0d ¥ TS TGO

B I AU § uRas s
>

(B) Bl oI I 9¥ 9@F dUE:
qaq %o, [ Q¢ d9d &1 ¢ |
(O f(x) = x%, HEIT: |Ad @
[- 2. 2] #1
(D) I G}

https://www.ccsustudy.com
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12. For R-integrability of a pounded
function fon [a, b]. we have

b

2 b
@ |f=Jr

® [z [

L&

() [t f

2

(D) None of these

13. If f is continuous on [a, b]. then 13

which of the following is true -
(A) feR[ab]
(B) feRjab)

© Jr=]t

*(D) Both (B) and (C)

14. If f he ﬂ\e function defined on 14,

[0, 1]
| 0 when x is irrational
f(x)= <. , )
I when x s rational
then

(A) upper and lower integra] of f
not exists,

(B) fisR-integrable

“(C) 1is not R-invegrable

(D) None of these

US-15105-Series-R (4
/

12.

TEE F £3 [a, b] T R-G
B B Ry - |

SN
@) [f=[r

-4

T

b b
J'fsJ'f
M) =9 § 23 45

T fla, b] W g L a9 B § &
a9 3

(-&) [‘ER'-E, b]
(B) feR[ab]

© [r=]r
(D) &M (B) 3R (C)

A% £ [0, 1) T Wﬁﬂm
gfefed & 8
0 &9 x AUAT 2
f(“):{l w9 x TRHT B
aa
(A) 3 39 R Fre o AR
T2 2
(B) f R-TOEA-IG 2
(C) f, R-BHEAE T 2
) T T PR T
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15. The integral I, _"r-' is

(A) Convergent

(B) May or may not be convergent
R(®) Divergent

(D) None of these

16. Which is not true for the fupction
f:la,b] >R
Ay feR[a b]=>FeR[ab]
'(B) fis continuous on (a, b]
=feR|[a b]
(C) fis monotonic on {a, b]
=feR|[a b]
(D) Ifl € Rla, b)=>feR(a b]

17. The integral Ex’“ ' (- %) dx

is convergent if
+(A) both m and narc>0
(B) m>0andn<0
(C) m<Oandn>0
(D) None of these:

18. “If f f (x)dx converges and $(x)
i8 h:;unded and monotonic for
a €x <£b, then j:f{xmx)cb:
converges” is called
(A) n-test
(B) Abel's test
#(C) Dirichlet’s test
(D) None of Lhese

US-16106-Series-R

15.

16.

17.

18.

dx.

= "4 : ]

\"x

mwj

(A) Araarh
(B) #YET 2w 2 oA A8 A
(C) HTRTT

(D) T4 2 28 FH

% f:[a.b] » R 75 F15 71 771

T8 ¥ -

(A) feR[a.b]=>F < R[a b -

(B) f [a.bj=>f=R[a blT F0
3
Q

(C) f(abl=fzR(a b]7 =<
2

D) IfleR{ab)>f:zRa 0]

A [ (- d S

Zaw:

(A) 2 mFT 0 >0 .
(B) m>037 n<0

(C) m<0ATn>0

(D) FH § FR

RE] rl'{x‘)bl_\'\d\; B'ﬁ\’?'..'i Ol e .

(A) nT i
(B) TE T{%
(€ RIRTE T

P

(D) ¥ & I} T
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19. Fo J“" _dl‘(

19 -0 l:\_f % ﬁq’q 1 qet
e/E
is / are correct :
A SYET
(A)  The integral is divergent @) ®
g 3
‘(B) The value of the integral is® B) B % A1 n
%C) Both (4) and (B) | © @ e @) 2w
(D) None of these D) & & P T
@ Test the convergence of 2. : ¢’ Lﬂdx a>0 H @iﬁﬂﬂﬁ’ﬂ
j“?ff’ildx a>0 Wﬁwquﬁmiﬁrﬁm
and name the test also = .
(A) Convergent by comparision &) H B e
ot (®) it o afier 3
(B) Convergent by Abel’s test (© , nT
¢(C) Convergent by h-test (D) s ’ d
(D) Divergent by Abel's test
21. Thenullset ¢is: 21, ﬁ'ﬂ?ﬁﬁﬂﬁﬂ'b% :
‘(A) Bounded (A) arga
(B) Unbounded (B) e e
(C) Both (A) and (B) (C) (A) AT (B) &
(D) None of these (D) gH ° H3 T8
22. A set which contain all the Jimit 22, u% @9=® S ¢ R# & ¥ frgat
points of a set § ¢ R is called - B TEH T Y FHEA 8 -
(A) Discrete set of S (a) S @ fewr wwa
*(B) Closed set of S (B) S < = '
(C) Derived set of S (C) S & FA~ Tg

(D) Open set of S

(D) S & Gl T
US-15105-Series-R

(6)
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23. T ‘B & s anefym aewel &

93. The property “Between any two

distinct real numbers there always
exists infinitely many rational and

97 I iy v e den
2t 27 e 2

irrﬂtiﬁnal numeI'B” i3 called : (A) ET@%: E TI
(A) Archemedian property B) T domd 3 o

. (B) Denseness property of real ™ ' .
numbers (C) B9 &1
(C) Hausdorff's property (D) 4 & FE &
() None of these

.-For all x, y € R, which is
true :

(A Ix ylz|Ix|=I¥l

“B) [x+ylsix[+]yl

©) [xy[=Ix].Iy]

26.

94 Which of the following set is  24. 1 Fg=i ¥ & HF-8 A=A
complete with respect (o RIS & A T z:
boundedness : (A) Q ez CilleD =)
(A) Q (The set of rational (B) Z (@arE d=qid F w5=0)

numbers) (C) R (@dias GEaidl & =n)
(B) Z (The set of integers) (L) (B) T (C) 3
() R (The sct of real numbers)
«(M) (B) and (C) both

26. Every subsét of a f:ountable set  25. Th MM Y= & yAF IJqETeAd
18 3T @ ¢
«(A) Countable (A) T
(B) Uncountable (B) ;;“F?fq
(C) Complete ©
(D) None of these (D) 374 ] P8 T

i aEs et x, vy e R, &
R

A) |x-ylzlIxI=Iyi]

(B) Ix+y|SIx][+]Yl

(C) Ixy|=ix]|-|¥]

¢+ (1)) All of the above (D) IRF T

US-15105-Series-R (7)
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' 27. =g
27. The limit point of the set i
e - (-1)" W
S =11+ c . n is a naturdl > “+—-n_ ‘A
n
number} H@T %}
i RS ) ﬁﬁ 2
@ 1 (A) 1 »
(B) 0 | ) 0
©) 2 C) 2
(I)) None of these Dy & 3 g T
28. Which of the following subsets of 28. TR H YR BT BT JUHT= 3 9
R are not nbd of 3 - T
(A) 12, 4] A) ]2, 4]
B) [2.4] (B) [2, 4]
© (2.4-8Y) | (©) (2,41-{3 13}
(D) 13, 5] (D) 13, §[
29. The suprem d infi =
wpremum and infinumofthe 29, WG (M ineN @ dfow
setS—-:/;l.neN}are: A ffeT 8 -
(A) Inf8 =0, Sup S = doosn't @A) A= S = 0, 3fms § = BT
exists. LK
(B) InfS=0,SupS=1 (B) e S=0, 3 § =1
C) Inf S = doesn't exists, (C) M= 8 =#3 7, shas
Sup S=0 S=0
(D) None of thege (D) z4 8 FE el
30. For every real number x there  30. 9% A d&T x3 (U o5 afedy
exists a unique Integer n such T :
that - ) Tnﬁjﬁiaiﬁmmm;
- YA) xnlgncx+1 ¢ 0 nexws

(B) xsn<x-1
(C) x-1<n<x

D) & A ¥ T

(B) x<n<x-}

(C) x-1<pn<yg

(D) None of these
US-15105-Series-R (8)
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1. The value of integra]

log (1+ax)

(1]
j— —dX g
K 1+ x
1 .
@ 5 log (1 — o) tan-! ¢
|
® 3 log (1+u®) tan tg

) ;i‘, log (1 + @} cot™! «
(D) None of these

32. For function f € R [a, bl m, M be
bounds of f on [a, b], then

b
A mb-2)<[{E)d&<Mb - a),

ifb>a

B) m(b-a)z | fx)dx2Mb-a),

ifb<a
¢« (C) Both (A) and (B)
(D) None of these

ax
Y

33. For th-:. integral r —~

what is the value of u for p-test :

@ ¥
® ¥
o(C) %

(D) None of these

US-16105-Series-R

x(l+X - ]’

32.

33.

(9)

”‘"f'— —dx FAE &

(A) ~ad)tan ‘a

(B) log {1+ ¢? tan'u

(C) log (1 + &) cot™' «

(D) 3™ B 31 7

94 fe R[a.b]F T m, Mt &
[a. b] 97 ¥AW Z 79

.
(A) m(b-a)s [f(x)dxsMb-a),

T bra

B) mb -a)2 [ f(x)dxzMb-a),

g% b<a
(C) (A) 3T (B)IH
M) F A P F

A |'f,— ~—E!‘=|%‘mxtest
) (1+Xx %)

%%Qpﬁqﬁ%-

@ 4

® Y%

© ¥
(D) FF & B T

https://www.ccsustudy.com b
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dx .'

34. The integral j: I 19
X

(A) convergent
oB) divergent
(C) oscillatory
(b) none of these
36. If f: [a, b] - R is a bounded

function and P is a partition on
[a. b]. then

Lim L(P.f) =

qPL—D

@) |f

---------

® [f

[
© [f
(D) None of these

The radii of convergence of the
{n+1) z
(n+2)(n+3)

n

power geries Z
18 :

A) 3

(B) 2

€ -1

D) 1

37. In an argand plane the equation of
the circle whose centre is the point
2 + 51 and whose radius is 3, ig

(A) |z-5-2i|=3
B) [z+5+2i}=3
o(C) lz-2-5i| =3

(D) None of these
AS-15105-Series-R

i Ll

35.

36.

317.

(10)

https://Www.ccsustudy.com

M £:[a, b] > R % s T 2
A P, [a, b) T fo 2 a9
Lim L(P,f) =

[Pll-s0

(A) _j f
® |f

© |f
(D) T8 A FE T

(n+1) n
W AN 2 ey A
Ayt & Brear § '
A) 3
(B) 2
€ -
@ 1

oF A 1§ g9 A aedee e
&= 2+ 51 AT B 3% & -

(A) 1z-5-2i] =3

B) lz+5+2il =3

(C) 1z-2-5i] =3

(D) FH A BE T



38.

- 39.

40.

US-15105-Series-R
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1

The transformation w = %(3‘5] 38. WY w = H( ]

is conformal except at
(A) z=2%1

B) z=1

{€) z=-1

(D) None of these

Let f (x) be a function defined on
[0, n/4] by
cos X, If X is rational
f(x}= {sin X, If xisirrational
7
than the value of J f and

-0

n/
/

f are respectively :
0

@ 5ol

(B)

O Hita
(D) None of these

The function f : R — R defined by

f(x)= lim [hm sin” (n!m) ]

n-seo| t aom}-ﬂ
i
(A) Continuous
» (B) Totally discontinuous
(C) Discontinuous
(D) None of these

39.

40.

(11)

fheen e Frenke & -
(A) z= il

(B) z=1

(C) z=-1

D) F@ A 3

TP T £ (x) 9 [0, /4) W 3T 5K
R &

c _{cmx,uﬁx‘ﬁﬁﬁg'

~ Isinx, 3% x orgftdg &

7
[f?m O FA:

GEl &jr R

Wf:R—rRGﬁQﬁ‘ﬂ'lﬂﬂ%

o e

1-0 sin? (n ') + 1°
3 "
(A) Tad

(B) T &

(C) ¥gaqd

(D) 4 & T T

https://www.ccsustudy.com
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41. Which of the following stateme™
is true '
(A) DR-Q =R
@) D(o.1[)=[0.1]

(€) For S={= T

:mENl-

D@®)= \1‘
+« (DY All of the above

£3. The derived set of the set
5=1{1.38.7,11} 1s
(A} {1. 7}
(B) empty set ¢
) {1}
(DY None of thesc

43. Neighbourhood (nbd) of }5 18 the

set :

4 (A)

{h xlé y?']
0. Yol

R (set of real numbers)
None of these

(B)
()
(D)

44. “For any two real numbers 3 and

b. one and only one of a > b, a=h,
b > a satisfied”, called

* (A) Law of trichotomy
(B) Lawof transitivity
(C) Monotonic property
(D) Archemedian property

US-15105-Series-R

1. 9 TRt F ¥ P-m ag

42,

43.

44.

{]2)

(A D(R-Q)=R
(BY D)o, 1[y=1[0, 1]
©) 8= (-2

m+ ]
D) =11
() IRFT "/

:m e N} & foiu

= 8 = {1, 3, 7. 11} &1 A=
"= 3

A {1, 7

(B) & w9=94 ¢

(C) {1}

() T8 q Fg T2

Y, & wie wge
@) - Y%, W)
B) 10, Y1

() R@ﬁaﬁzsmeﬁfﬁrﬂgam
(D) FH | B &

“fEl A aEaE TEial q iR b
Mt a>b a=bb>ad ¥ ug AT
faw 0% G Aar R, FaAmEn ¢
(A) Rt 1 fags

(B) FEefAd @ fom
((:)@ﬁwaﬂm ‘
(D) -Hlﬁﬁﬁquq

h" https://www.ccsustudy.com
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45.
Whlch Uf the fO]lD‘Wi.I'Iﬁ i8 I’.TLIQ :

(A8) A=AUD(A)
(B) AcB=D(A)cD(B)
(C) D(A)is closed

, (D) All of the above

46. Range of the sequence < (1> jg

the set :

(A {1
B {-1,1

© -1

(D) None of these

47. The sequence < r*> converges to

zero if :

(A) ir]l>1
@ Irl=1
«(C) Irl<1

(D) None of these
48. The value of m such that

/ Ynom, is

——2

(A} 23
XB) 27
(C) 25
D) 26

49. The sequence < S_> defined by

Sy = (1 - J@) VaeN,is:

(A) convergent
*B) divergent
(©) oscillatory
(D) None of these

US-16105-Series-R

Let A be any subset of R. Then

45.

48,

49.

(13)

46.

47.

g9 A, R & #& Iwageg g1 @
P13 8 P

(A) A=AuUD(A)

(B) AcCB=D(A)=D(B)
(C) DAYT=T 2

(D) 9939 8

ATFA < (~1)*> F W W=
(A) 11

(B) 11

€ - 1;

(D) F& § 3% &

(A)

(B) irl =

(C) irl<l

(D) & & =% &

En2f3 2k Ynzm P ROmFH
R 2

(A) 28

(By 27

(C) 25

(D) 26

FTF < S >® 3t 3§ gER uiwiia
8 S =J+t-Jm) vneN,¥:
() Er

(B) Huarl

() =

(D) ¥ A &g 7

https://www.ccsustudy.com



https://www.ccsustudy.com

50. EII{b}GﬁTS-—smnBGQ‘{?

50. The sequence < 5, >, wher® mber T Hen 2 B o<e<1,?:
S =sinnH 6is rational ¥ (A) qu'ﬁ'lﬂ
such that 0 <0 <1, is (B) gy 75
(A) convergent (C) 3qqrhy

(B) not convergent

(D) ey
(Cy divergent
+(D) oscillatory

. 1. s .
51. Equation of a straight line PSSSI'EE 5 ﬁiﬁ'? % A mz{:ﬁm \-m—'::t:'ﬁ;??i I 7
through the point z, and making , o FAH T TR

an angle a with the real axigis: 2

(A) z=a+bht (A) z=a+ bt

{B) z=re" (3) z=re*“

(€) z=2 tre” (C) 7=z +re“

(D) Naone of these (D) a8 ¥ | Tl
£20 Amp(1—-1) = coovrnnns 52, Amp (1 —1)= ...

A @ ()
. ® Y O ® Y,
© % © ™
(D) None of these (D) =" o L el

53. If z), z, are any two compley 53. ™ 7, %, E R . @ 4
numbers; then

.
.I

iz, vz |4+ iz -~z |2z ag -

(A; l:;iz—li:zH-z |?.|+Z.h,_|‘;+|z.t—;zz\3=_,..
B) 1z, 12+ 12,12 (&) |"’-||z—]!62'l2

«(C) 2{lz\*+ |2,|% HIEN +l|zzl

(D) None of these (C) 2{lz, 1%+ |z,|%

(D) T & B T8

US-151056-Series-R
(14)
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4. The equation lz - 1] = Iz + il
represents :

JA) a line through the origin
whose slope is -1,

(B) a line through the origin
whose solpe is +1],

(C) acircle through the origin.
(D) None of these

665 Which of following is not true :
(A) z isimaginary, ifz+z =0
®B) 1zl =|z|
(C) z— Z =2 Rez

~M) zisreal ifz—-Z =0

56. For the function
fz)=u(x y)+iv i y)
Cauchy-Riemann equations are :
(A) u =v, u =V,
') w= v, u =V,
(C) u =V, U =Y
(D) None of these

57, A function which is analyticis also
called :
{&) Holomorphic function
G}; Harmonic function
(C) Differentiable function
(D) Nonc of these

US-15105-Series-R

654. THIET ".Z—H=|z+i|f:aﬁ'(-|'[%:

(A) PG & Y i o T Rrae
A 13|

(B) AR & w3 awt oF YarREd
T +12)

(C) TRFE @ 9N A O% g9 |
D) 79 8 = )

65. ™ & 4 7 9 73 &
(A) zaRIF 2T O 2+ 2 =0
(B) 1zi=1z]

56. oA

fz)=ux ¥y +tiv(x, y)

% forq Se-fam g €
Q) u=v.u =v, "
(B) u=v,u =-v

(©) u=v.u =v

(D) T8 |/ FE @

57. & T4 o1 fwd @ o
Fear &1

(15)

https://www.ccsustudy.com
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§8. T f(z):i% :
58. The function f(z)= 7 is:

o An (A) [Heeiys
( alytic s
B) R
«B) Non-Analytic ©) Naid =
(C) Continuous k
(D) Not continuous D) "
1
69. A function f (z) = — : — 1 69, % f(2) = C-1(z-2 ST
(z-1)(z-2) & 2 (z-2)
not differentiable at the pointz: ﬁ'ﬂ 29T !
(A) (-1,-2) (A ~1,-2)
®B) (1,-2) | B) 1,-2)
“(C) (1,2) © 1,2
D) -1.2) D) 1,2
so.";f f(z) =u +iv is analytic function  60. AR f(z) =u +iv R Fo- 2 T
and u—v=e*(cosy —sin y) then u-—-v=e*(cosy—siny)dw f(z)
f(z) is: g
‘tA) e*+ ¢ (A) e+¢
(B) e+e | (B} e=2 4+ ¢
(C) 2e2+e¢ (G) 2 2+¢ '
(.D) ze“’—c (D) Ze‘z-—c
61. W limS =fandlimt =¢'G0), gy a7 lim S. = ¢S limt, = £’ (= 0),
t_= 0 for all n, then t z0Td nd T, oo ‘
lim (S/t) = ... " lim S /) = ...
@ ¢ (4) ¢
®B) ¢ B) ¢
C) ¢l¢’ (©) Py,
(D) None of these (D) = A K T

US-15105-Series-R (16)

N
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CBE, Lim [{fﬁ+1)(n*'2)--..[n -,Ln”f"fn/n} 62.

18 :
(A)
(B)
«C)
()

/e
4e
e
4je

63. If

LI

12 2.3
then<S_>1s
WA) increasing

. (B) convergent

»(C) Both (A) and (B)
(D) None of these

S, = 3.4

64 Lim|-—

+— %, 4= .
n(n+1)

FV(2n + 1)

18 :

1
(A) NG
B) 2
o{(C) 4
(D) None of these

_%5. The sequence < Sll > defined by

4+38,
17 3428,

(A) Not convergent

(B) Convergent
*(C) Divergent

(D) Not divergent

8,=18,

US-15105-Series-R

, +on
J(@n* +2)

'nENiS:

|
vInT+n

63.

| e

(17)

65.

Lim [{{n +1)n=2)..(n+ ﬂ)}’]‘:/n]

2

(A) e
(B) 4e
(C) e
(D) 4fe

(A) e B3
B FHar
(C) AT (A) 3T (B)
(D) T8 9 FF I8

. l i
Lim | —————+—— +.
[‘Itzn'Q'[) \(211' "'2}

T

1
A) NG
B 2

(C) 4
(D) FH ] A} &

T < S, > TH TN @
4+ 35,

S3,=15,,,= 3+ 28,

Q) AmEd T

(B) iferErdt

(C) Irqard

D) Fqard T

https://www.ccsustudy.com
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. _ .S = —
66._Sequenoe<$n>deﬁnedb)'s:'l 66. S, lﬁRSnu“ﬂz"‘sn):VneN._

and$,,, = J2+5,), v n e N¥ TWW<S,,>%:
(A) MonobonicallyincreaSii.lE EB; w e gal

(B) Bounded © @ @

‘(C) Both{A)and (B)

(D) None of these D) 57 & IR '

67. Theintegral [}~ i}- i 67. TUFH | (xi)n 3 .

(A) convergent whenn<1 (A) FR@EE 7 n<1

(B) divergent whenn > 1 (B) UAG & n> 1

(C) divergent whenn =1 7 (C) JgEifi ¥ n=1
+(D) All of the above (D) IR |t

68. The integral [ e'dx is an 68. WAMRAA | _e*dx Fre S& @

improper integral of the : HIGFd THHAT B -
(A) Firstkind (A) T9H THR

(B) Second kind (B) f&ig TR

(C) Neither (A) nor (B) (©) 78 (A) AR 7 (B)
(D) None of these ' (D) ¥ 8§ F e

. o 2
69 The integral Lc" 'zcoshxdx 69. U ]:e"‘l‘zcosbx dx & :

18 :

(A) convergent @)
(H) absolutely convergent ® Tﬁ: e
»(C) divergent © Ty
D) (A) I (B) A '

(D) Both (A) and (B)

US-15105-Series-R (18)
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70. Under the transformation

w =z + (1 — 21), the image of the
line y = 0 in the z.plape is
transformed into the line

(B) v=-1

'(B) v=-2

€) u=1

(D) u=3

7f. For any complex number z = xeiy,

if x and y are both positive, the
principal value of argz lies
between :

ax(A) 0andn/2

(B) —rand -=/2

(C) =n/2and(

(D) a/2 andn

72! The analytic function whose real

part is e* sln y 18 :
(A) e+ constant
(B) 1e * + constant
v(C) —1e*+constant
(D) None of these

73. The domain of convergence of the

aenesZlez ﬂ is :
4
WA) |Z+li<‘J—
B) |z-i]<+3
€Y 122-i|<+5
(D) None of these

70. T w =5+ (] - 2) & @0

71.

72.

73.

(19)

y=0,2-8% ¥ foy & § fpm T &
(A) v=~1
(B) v=-2
(C) u=1
D) u=3

mmmzzxejyﬁmﬁx
3 y T £, 7@ arge F T T
e 2 9 -

A) 03T w2

(B) - - w2

©€) -w2370

D) w237 a

fredt Tuw Rrasr qaEs 9
e’siny%,?l"ﬂi

(A) e+ FEA®

(B) ie * + Faai®

(C) —ie+ MRas

(D) T & FH T

MZ(':H" A HfvTe 21 I
%

(A) 1z+i]<S

(B) iz-~i|<u"§

©€) [22-if<+5

(D) F% § 3 T

https://www.ccsustudy.com
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. \ rn 2
74. The transformation T 18 Midwbe " :ﬁm:awr | mqmﬂ%a e E

normalized if

~{A) ad--bec=0 (A) ad —be »0

B) ad-be=1 (B) ad—be=1
(©) ad-bc=- 1 (©) ad~be=-1
(D) None of these D) =9 7 7 T
75~ For the transformations 75. T
T, @)= ;i T, (2) = iii 3l
and T, =2/(z+1), T, @) =z/(z+1)% R .
T, T, (2 is T T, () ¥ -
'(A) 3z2+2 (A) 8z+2
®B) z-2 (B z-2
(C) -z+2 (C) —z+2
@) z+2 (D) z+2

76. Fourpointsz,, z,z, z, arecocyclic 76.

I &g z, z, z, z, HgAE ¥
if g%
e e T
(A) Purely real (A) Th aE ¥ RS
(B) Purely imaginary (B) i 4% } FRAT®
“(C) Zero (C) {3
(D) None of these (D) z;ﬁ A Zﬁ'g = A

US-15105-Series-R (20 j
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77 Every bilinear transformation with ~ 77. T4% Biem mwver @ Frad
two fixed points &, f can be put in hy‘;m a, b F AM Z9 O5iT Bl T
the form B -

w o Z-«a Wt | 7-0
. = = A — =y, -
B Yo T2 B W™
w-B 72« w-p yz-m
(B) w— (& /?“'Irﬁ ®) w-oau ‘B
1 I ! C b o3 1
© Vo z-a “z-B © aTta "z -B
(D) None of these (D) 3799 3 =2 521

78. 'The bilinear transformation which 78. fetEg == A& 9=~ Ir,),aﬁ
transforms the half-plane I(z) > 0 T~ '{ﬂTJ aF (wi <15 BAand
into the unit circular disc [w| < 1 FIAT T, ¥
18 (A} w =@t < ‘f
(A) —el.? __(14 ;-

W= eit ——
Z-a (B) w=e ' — -
B _ - Z+u Z-0
(B) w=e — ©) woe I~
A ¢ ] f_"' \.1
(C) w=e* —— (D) 9 |/ ®g T
(D) None of these

79. Which of the following is not true : 79. fr ¥ = v w3 T &
(A |z, vz 12z |+ 2, (A 2z, -2, % 2 - 2,
B) |2, z,|=ls|-2] (B 2z ¢ =2z - 2
C) lz,-7,|= z,.+| ¢, Yy 7 -2 NN
»(D) argz +arg7 ===x (D) argz +arg ¢ =-n

80. Under the transtormation 80. w=, . ¥ WAFAT ZW 2 §aF 3

= /2™, the image of the line }Er X = : T AT R -
X =2in z-plane is (A v-u "6 s
(A) v-u=6 B) vo-u
o(B) v=-—y ) urv =i
(C) utv=4dg (M v=u
(I v=u
2
US-15105-Series-R (=1)
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81. For all x, y and z € R such that 81. WX'FG?I'{ zeRA B mugr 2

x<yvandz<0: &x'(}’@mz({)%ﬁ-‘m:

(A) XZ > V2 (A) A7 < yz

(B) xz<yz B) xz<yz

YC) xz=vz (C} xz=y,

(D) None of these D) =9 3 P et

82. A sequence <85 > is oscillatory 82. U% ST <8 > ATTEA ER A

sequence if it is - e 7% 2

(A) divergent (A) ST

(B) convergent B) FEr

*(C) neither convergent nor (€) [ v T JuErd
divergent D) &8 } I

(D) None of these

83. HhmitS =( andlimt ={ then 83, R limit S, = ¢ IR lim t =¢,T9

lim (S_t) is: lim (S t) % :
(A) (1¢, A) £1¢,
®) 1, B) ¢,
© 1 ©) ¢,
@Gt ™ 1, ¢,
- n
84. Sequence <S > where §_ = ne] B4, AAFT <S> AT S = ;[l_l G|
converges 1o - afeafia &
{A) O
’ (A) 0
v(B) )
(B) 1
(C) 2
) 2
@) 3 ;
M) 3

US-15106-Series-R (22)
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85. The sequence
<2, 2.2-22-2
18 B
(A) Bounded
(B) Oscillatory
(C) Unbounded

(D) Both (A) and (B)

«B) 27
€) 26
(D) 28

87. Which of the following is not true :

(A) Every bounded monotonic
sequence converges.

(B) Every Cauchy sequence is
bounded.

{C) The limit of a sequence 1s
nnigue.

(D) The sequence <(-1)"> 13
convergent

(2 3) a1V
88. Lim “1“* L«,; Yy l

--------

» (A) o
(B) o®
(C) ¢
(I None of these

US-156106-Series-R
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85. FTH9
€2,-2,2-22,-2...>
- 20
(A) Tras
(B) A
(C) wira=
(D) (A) 37 (B) It
"yt
86. % S, = ,',”w T LimS, #
o % -
(A &5
(B) 27
(C) 26
(D) 28
87. A ¥ & o5-57 5w A} ¥ -

23)

(A) TR Tz T RS S
arr %

(B) T¥® BWM ¥AET WER oA
i

(€) % I T A A 2R
3

(D) IR <(- 1> et &1

1]

L :ﬂ:" n n»t‘\ A
Lim 'J E L“ )
) e
(B ei
() «©

(D =2 ] P FE
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89. Lim [l(1+ 2!5 + 3'1-i T 1) _")]
n .

90.

91.

US-

'(A) e
(B) 2
) 1
(D) None of these

Sequence <S_> where

I

|
5,=2,5 =1+ —-+-—-—+....+(n N

121
nz2)is

(A) decreasing and bounded
B) increasing and bounded
AC) increasing and unbounded

(D) decreasing and unbounded

The cross ratio of the four points
Z, %y Zy 2, taken in this order
(z,, 2,, 2, z):

(z,-2,) (2, - 2,)
(zy -2,)(zy - 2,)

(&)

(21_32)(3] "2-4)
(22 _zil{zi _71)

‘B)

(7 - 7,)(2. — 7))
{zz "7-3)(?*1 - ?'I)

©

(D) None of these

15105-Series-R

89. Lim [l(nz% 23 ey
n

(24)

A) e
(B) 2
©) 1
(D) ¥ & FE¥ =

90. HTTHH < S > 5ot

11 !
S =2, S =1+ “+EE+....+-(-—H__1)!

m22)% - ’
(A) IR AR 9=

@) IR R aftEs

(C) et A arfEa

(D) e ol IR

91. ¥R ﬁ%ﬁﬁ 2, Zy By Z, TR B

(zp zzl za? z“} %r Eﬁl aﬁ mﬁ % .

(z, -2,)(Zy qu)'
(2, -2,)(zy -2))

(A)

E'-:_ -2,)(2; — 2,)

B) (7, —23) (2, - 7))

(z,-7,)(2, - 2,)
© (2, —2,)(24-2))

@) FH 8 P T
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93.

94.
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The inverse of a Point ‘3’ with
respect to the circle [z—¢| =R is
the point :

{2

1
(A) c+ﬁ

2

(B) ¢ _,__E,_

a+¢

- 2R
oJ(C) cr—=

a+c
(D) None of these

The bilinear transformation which
maps the points z, = 1,z,=-1, and
""a- = — ] into the points-w, =i,
w, =0, and w,=-1 respectively is :

W

(B)
(©)

(D)

(z-i)/(z+1)
i(7+i)/(z 1)

None of these

The cross ratio (z,, z,, %, Z,) 18 real
if and only if the four points z,, z,,
Z, 2, lleona:

(A) Circle

(B) Straightline
«{C) Both (A) and (B)

(D) None of these

92.:

93.

94.

(25)

0 lz-cl =R3 gt ¥ g @' &
oo g 3

Y s @ Regell 2, = 1,
zz=—i5hfza=—lﬂ§\‘ﬂi‘lﬂf Fﬁ%ﬁﬁ
w1=i,w2=0\#l'l'wa=-iﬁﬂfaﬁ%ﬁ
P 3, B :

(A) (z-1)

B) (z=Df(z+i)

(C) i(z+i)/(z-1)

(D).swﬂ%@%aﬁ

&= aﬁﬂ[ﬁ (zl, Zy 2y z*)aﬂﬂﬁfﬁi
qﬁaﬁ'{m‘ﬁﬂﬁmﬁ%’zpzr@%
ggd ¢ e 9T

(a) 3

(B) Hndi &

©) (A)3IAR @) I

@) FH | B T

https://www.ccsustudy.com
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95. T Rvdm wore A 399 o
I {9 o vEd 2 M T g

- joft
95. Every bilinear transformatt

which has only one finite fixe Bh
point « can be put in the for® - 1 l
| ] A) — = + A
(A) —= — 4 A 70 w-o
Z-0 W - : :
I Y (B) ‘\,_&=f—+l
(B) “'—(I_Z—-{I «¢
_ 1 1
! ! €) ———=—"-+1
- ® = l . : .
-~ 20 w-u zia voa e
1 1 .
1 1 )y — == + A
D) w'+cz=z.—c1+l ' ) whe oo

96. Fixed points and the nature of gg iy AT w = (Z_%-;»I) 2

the bilinear transform_ation T hﬁ e ﬂiﬁﬁ"f %
w= @0 oy s A) 3, - i ; AdgEEI

AA) i, -1;elliptic | (B) 1, 1; TXEAAMRIT

(B) i, 1;parabolic ) 2, -1 - AT GG
(C) 2,—1; hyperbolic 13) 1, — 1, YLOUATRIY

(D) i -i:;parabolic

97. If F,= (¥ ,1]. n € N then which g7, =i F.= (V.1 ne N FF-|

statement 1s true :

FIH T B
(A) DFn 156 a closed set (A) []1: Q?.,!;WH’EEN%I
B) Oﬂ 1s not a closed set ' -
awi ‘F'“ m m qgi %l
® U =
(C) ‘U”F,, 18 closed and open bot, o) L"J F = o7 el oAt B
(D) None of th i |
0 ese (D) sqifﬁiﬁ!?ﬂﬁl

US-15106-Series-R (26)
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”

98. WhiCh Ofthe fO].].UWing atatEment 98‘ ﬁ'l:' ﬁ a Eﬁ’T{ o Eﬁ'q‘a" ae :rtﬁ

is not true : 2 '
(A) The union of an arbitrary ‘(A) G w9 A qegE) oREr w
family of open sets is open o g ) :
(B) The union'cfa finite collection B) 9% =t @ dfa W
of closed sets is closed T 9= 2 "
{C} ForACR,K=AuD(A) (C) AcR%ﬁﬂ'E:AuD(A}
(D) All of the above (D) I o911
99. For the set 99. =1
Do L .
S={;+B:meN,neN}, S={i*i‘:mEN.n,EN}%m
Derived set D(S) of S is : : G~ =9 DSz . N
“(A) {%_l:meN} . . (A) {%n:mef\i} |
B) {¥ :meN Ul (B) (¥ :meN Uil
© {}:meN O © (¥ meN U0
(D) None of these ‘D) T q PR T

#
-

100.For I, =)- J 1+ %[,neN, the 160.1,,‘: F Y1+ VineNG R

“set of nbd (neighbourhood) of fjln ﬁ [, 3 g9 & Fg= 2
is : @ o1 ’

(4) [0,1] .® 10y

@) 10, 1[ - (© 10, 1] .

© 10,1] | . (DY T & ¥

« (D) None of these

US-15106-Series-R (27)
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Ihe economy of developing COUNlries is:
(A)  Triangular
() Circular
() Rectangular

(1) None of the above

According to Adam Smith stationary

stage of cconomic development s -

(A) Initial stage

(B) Laststage

(C) Both(A)and (B)

(D) Nonc of the above

Robbinson’s golden age i.e. AK - AN
K N

indicates

(A) Balanced growth

(B) Unbalanced growth

(C) Natural growth

(D) Both(A)and (B)

Marx’s book is :

(A) Wealth of Nations

(B) Das Capital

(C) Factor in Economic Development

(D) None ofthe above

US-15032 (S)

https://www.ccsustudy.com

(3)

R

(C) FTTH
O) IRNF A F 7 AH

wed Y & oER, |fve sy
anftfe fewrg =t

(A) IRPH oraer ¥
@) = o ®
© (A (B) Il
D) IR & §

e 1wl g onig é},{‘iz%‘l

©) Tl e
D) (A)TG (B) &l

TR B IR §

(A) I aife I

B) M dfveq

©) R 3 @R IRTC
D) SR & § B 7
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o “ofreR qu SRORERT ¥ -gE

5. “Underdeveloped and Jess-developed

e

are synonyms.” This statement 1S . 3 qaigard ¥ 1" 98 A
(A) True (A w4E
(B) False By Fat

©) (AT (B) A

O) I ¥ & B T

(C) Both(A)and (B)

(D) None of the above

6. Pretfafa # @ B9 G (SAARC) &

6. Which one of the following is not a

member of ‘SAARC" ? w7
(A) SriLanka (A) AdH
(B) Bhutan %Bf b Ga

(C) Afghanistan (C) ST
(D) indonesia ®) FEARA

7. iR & ot R Rrar & Rl
st wee R T ¥ 7

LAy WERR R B AR

7 The theory of growth developed by

Schumpeter gives importance to the :

(A1 Need for balanced growth
®) Fnafa @@ @ e

(C) wagd A g
(D) TavEE A g

(B) Development of infrastructure

(C) Role of managers

(D, Roleof innovations

ys-15032 (S) (4)
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8.  Capital decpening means : g M ATIET A At ¥ -
(A) Using larger amount of 1y, (A) TR B T & 9w i ey arEn
compared to capital pouiETe
(B) Using more thumancapita[ (B) #HE9 'i'ﬁ A 9E Fe
(C) Increase in capital PEr Worker in (C) @B A ’31'{{ AT 7 ofqam
already existing productiop, ‘i’_’ﬁ 7 g Hear
(D) None of the above N2 8 I & A ¥ T4
9. Who conducts the periodica sample 9. W % g99-99g 9T T 3
survey for estimating the poveny line i e wdT W o A
ia?
India ? ¥

(A) National Survey Organziation

(A) TS T39O T
(B) National Sample Survey

(B) ST sfred Fdwar Fre=

Organization
(C) Sample Survey Organization (C) SIeRY HT Hret
(D) None of the above B I ¥ ¥ 9 T8
10. What is not a one of the majorcausesof  10. WA ¥ g HGHHTT 3 e Fow 2
income inequality in India ? T TE R
(A) Unequal distribution of land (A) 9 | I e
(B) Lack of fertile land (B) IS g R
(C) Gap between rich and poor (©) R & e 3 &9 wEw
(D) Increase in population (D) e 7 Ry

US-15032 (s) (5)
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1.

12.

13.

14.

uS-15032 (S)
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Which of the following isa method 10
mcasure relative poverty ?

(A) Gini coefficient

(B) l.orenzcurve

(C) Both{A)and (B)

(D) Noneof the above

Who presented the ‘[Pcople’s Plen’ ?
(A) M.N.Roy

(B) J.L.Nehru

(C) M. K., Gandhi

(D) None of the above

Who recommmends the M. S.P. and ‘issue
prices’ ”?

Ministry of Agriculture

NITI Aayog

Commission for Agricultural Costs
and Prices

(D} NABARD

Which committee constituted by the

(A)
(B}
(C)

Planning Commission to estimate the
povertyin 1979 ?

(A) Alagh Comnutiee

(B) Rangarajan Commitiee
(C) Tendulkar Committee

(D) SenCommittee

1. mﬂ%ﬂmﬁﬁﬁﬁﬁﬁ

12.

13.

14.

(6)

M oF TN & 7
Ay Prft o

(B)
© (A ® &
) T A { B T

Iia =

m-de R TR B R 7

JA) T, Iy

@) 3w # | P TH

A wda g (Lewd.) @
‘Wtﬁa'iﬁmﬁmmm%?

(A) P A

@5 Y

©) R T Td B I
D) e

1979 F T & FTAT A S [{@
drr e o e g @ e
R m ar ¢

&

https://www.ccsustudy.com



15.

16.

US-15032 ()

https://www.ccsustudy.com -

‘National Mission for A Greg,, Indina® is
183 If

merged with :

(A) Swachchha Bharat Abhiyar,

(B) National River

Conservarion
Schemc

C) National A 1

(C) fforestation ngmm ne

(D) MGNREGA

What is the minimum days for EWrznteed
Burantee

wage employment in MGNREG!\ o
(A) 100 days

(B) 120 days
©)

(D) 200 days

150 days

‘BRICS’ is a group of countriey :

(A)

Brazil, Russia, India, Chins ang

South Africa

(B) Bangladesh, Russia, India, China

and South A frica

(©) Bangladesh, Russia, India,

Canada and Singapaore

(D) Brazil, Romania, Indonesia.

Canada ang South Africa

(7)

15.

16.

17.

;mmmm'ﬂwm
gra f&ar mar ?

Ay @B aE afEE
(C) T FeeT wdEH

(D) ‘—'Fﬁ"Tl

AL (MGNREGA) % A=R1a g
et Rl & odtgqer I Foem
Feer & 7

(A) 100 R=

By 120 R

(©) 150 R+

D) 200 R+
B (BRICS), W T T T D
AT AR, W, WRE, d9 S R

ITHIFT
(B) IRy, &4, TRA, €9 a¥ zim
ATHTH

(C) ey, =g, I, HArer 3

Rimge

https://www.ccsustudy.com
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L 18 T ¥ oTE o @ ot fom o
I8. Which year India has the high®

e @ ?
economic growth ratc ?

(A) 2006-07
(A) 200607

(B) 2007-
(B) 2007-08 ) 7-08

(Y7 2013-
(C) 2013-14 77 2013-14
(D) 2014~15 (D) 2014-15

19, Which sector contributes the most 19- WG & srefamawar § P-w1 ¥ qad

income to India’s economy ? AE s = dieE w2
(A) Primary sector (A aEtEs 8

(B) Secondary sector (B) & 2=

(C) Tertiary sector (€) Tha® &=

(D) None of the above (DY TRF | § B T

20. Inwhich Five Year Plan Indiaoptedfor  20. &g duadfa @ & @@ 3 Fibdm

a mixed econony ? Sreferaen & G 1 7

(A) First Five Year Plan (A) TU9 GEadiE A

(B) Second Five Year Plan @y o dw=ada Qi

(C) Third Five Year Plan (C) JdW dugd A

(D) Nonc of the above Dy I § § D T
ys-15032 (§) (8)
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22.

23.

24,
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Which country is the top Aluminium 21

exporter in the world ?
(A) India
(B)
()
(D)

Russia

China

Canada

What is the full form of MOQC 9 22.

(A) Massive Online Objective Course
(B) Massive Open Online Coyrs,
(C) Massive Online Open Course

(D) Mass Online Open Course

Which economist was the cofounger of 23.

“Sumaj Pragati Sahayog’ 7
(A) Sukhadev Thorat
(B) B.B.Bhattacharya
(C) V.K.Malhotra

(D) Mihir Shah

Which statc has the highest Gross State ~ 24.

Domestic Production {GSDP)in India?

(A) Kerala
(B) Uttar Pradesh
(C) Maharashtra

(D) Madhya Pradesh

(9)

R &, STET o g
ﬁaw%ﬂr%

GA)

© =

@ FTS
quaitSdl (MOOC) & T - 3 -
(A) Aa HFERT =ity S
@) A AT St B
©) At A=A T 3
(D) #E AR e g
Fr<fefaa 4 8 | sodast o
T e % wehTs ¥ 7 !
(A) g3 dre
®) . wTEd
©) §.P. Je@=TT
D) Rt g

T # R T W owew g I
(GSDP) wa®t aifirs 2 ?

(A) FF
“BY  IaT =W

C) werrs
D) sy Ry

https://www.ccsustudy.com
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25, ‘gh-ar FEIT  deeaA R

25. The conceptof *Knife-edge equilibrium

Q?
was given by :
(A) Harrod LAy Rzl
(B) Solow ® ¥\
(C) Schumpeter (©) e A
(D) Domar ©) IIA

26 ﬁqﬁ%ﬂ%mﬂwﬁaaﬁﬂﬂ

26, Which onc of the following is not 20,

correctly matched 7 14
(A} Stages of Economic Growth (A) A CED q@ # FaWEIT : A=
Rostow

@y s e
(B) lnpu‘l-O'utpuIAnal)'sis:Hicks

(C) Factor Endowment Theory : Ohlin

(D) Critical Minimum Effort Theory -

Leibenstein RICRiCE
A7 Duescnberry given the concepl of . 27. Pr=faiae & ¥ PF-u AR w
N 3 e 7
(A) Income cfiect & T
(B) Demonstration cfiect ®) qed e
(C) Substitution effect (C) gfreqrgq oW
(D) Price effect (L) A T

us-1 5032 (S) (10)
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29,

30.
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According to Kuznets.

L -
=14 ﬂn”mlc

development is measured by -
(A) National income
(B) Percapita income
(C) Percapitasaving
(D) Personal income

“Foreign trade is an obstacje in the
development of poor countries * who
said ?

(A} Gunnar Myrdal

(B) Adam Smith

(C) Rosenstein Rodan

(D) David Ricardo

Which of the following is/are objestive

ofeconomic planning ?
(A) Full employment
(B) Maximum production
(C) Increase in population

(D) Both (A)and (B)

28.

29.

30.

(11)

e ¥

(A) TEE HAG I

() WEFERE F=7 3
@) ¥FE I I
HIUTEH B 1 A = 7
(A) T g

By =% fom

(C) AL T

(D) 3W NE=

e & § anits P 3 3w

(A) Tt A
(B) WSIn Jares
()Y FHem g

“D) (AW (B) A

https://www.ccsustudy.com
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Determinants of economic development
18/are ;

(A) Capital accumulanon

(B) Tluman resources

(C) Foreign capital

(1) All of the above

The concept of 1.1 1. was popularised
by -

(A) Nurksc

(BY Robbinson

(C) Amartya Sen

(D) Mahbub-ul-Hag

Economic growth rate is zero. It means:
{A) National income is zero

(B) No increase in national income
(C) Population growth rute is zero
(D) Nonc of the above

Who wrote the book “The Theory of
Economic Development™?

(A} J. Schumpeter
{B) Amartya Sen
(C) Colin Clark

(D) Jacob Viner

32.

Lad
Ly

(12)

31, it R & Froie 9 3/8

(A) AN HEl
(B) A=Eg e
(©) R T

~) I @

e B, A gaewar & T
WY T ERT

B) e &

(€) Fud AT T

(D) TEE-IT-TH ERI

i B & & 9 0 @ o &
(A) UL A LA BT

B) U™ I F g A &
(C) e gha A & LI B

) I X A B AR

“% GAry 3t g SatuAe” JR
e fereht ?

4AT . gl

(B) o {
(C) #ftm TP
(D) AFA ATAT

https://www.ccsustudy.com
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35. Who put forward the

35, ‘A AW B e By

'I'"Q"'r;-' of

“Technical Dualism" 7 fran?
(A} G Myrdal Ay . @5
(B) I H. Bocke ® F.oa. Th
(C) Henjamin Higgins () FHE Rfr
(D) Ragner Nurkse N2} T A
36. Which type of unemployinens foundin 36 Srafe s 23t ¥ By omT & SHE o
underdeveloped countrics ? qrEr FN g7
(A) Cyclicalunemploymen: (A) TGhg AT
(B} lechnical unemployment (B) TBA 1! éﬁl—‘!'“T"
(C) Disguised unemployment (C)y HASIY ELE LI
(D) None of the above Dy IV F F B wH
37. Theaverage income of a country i ; 37. fFR 29 A Shaw G A2
(A} Percapitaincome Ay wiaaf@a o
(B) Disposable income (B) a9 N3

(C) Real national income

(D)} None ofthe above

38. “Acountry is poor because it is poor” 38, ‘U AW s ¥ OE 1w Ange d
i KR In S

This statement given by :
(A) Rustow

(B) Youngson

(C) Lewiy

(D) Nurkse

US-15032 (s)

(13)

https://www.ccsustudy.com




46.

48
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1. Precwd G oy W e

The theory of low-lex ¢l cquilibrium rap
given by :

{(AY R R.Nclson
(BY W. W, Rastow
1 G Mhyrdal
(DY A.D. Hirshman

Which one of the following is not

the ‘Balanced Growth

suppert

Principlc™ ?
(A)
(B)
(C)

Regnar Nurkse
Arthur Lewis
Rosentein Rodan
(D}  Albert Hirshman

“The case for balanced growth rests

ultimately on the necd for balanced
diet.” This statement given by

(A} R.Nurkse

(B} A.Ghosh

(C)
(D) Nonpe of the above

G. Myrdal

Which of the foilowing is not included in
Rostow’s stages of economic growth ?
(A) Theuake-off

(B) Traditional society
(C) Highmass consumption

(D) Warranted growth rat

47.

48.

49.

(16)

ey R ?

(A)  HICAR. A

(B) sﬂ,ﬁ.i‘r@ﬂ

() 9. PR

M Q@E‘m"‘

Arafifed § & # ogRE (o
Rrer=’ 1 THE® A6 8 7

(A) TR TR

(BY R G

() T T$H

D) I BT
”a@ﬁmﬁmmﬂaqﬁﬁﬁaﬂ

B sraerea W PR ¥ 17 T
wo R d

LAy ACTRY A

®) ¢ 3

) . fEa A

®) I 3 ¥ B T
Prefafag % @ w1 < B oS
gtz 1 et § aifter ¥ 7

(A) TR

(B) TTYRIT FARA
(C) I 1 IR
() sve ofe

https://www.ccsustudy.com



50. Which anc is not include .-

32.

>3.

https://www.ccsustudy.com

Multi
Poverty Index® ?

(A) Education

(B) Hcalth

(C) Living standard

(D) Labour market paticipation

Which Rostow's stages has the highest
1

consumption level ?

(A) High mass consumption
(B) The takc-off

{C) Preconditions of take-off

(D) Drive 1o maturity

[n India absolute poverty is measured
by:

(A) Calorie
(B) Minirnum consumption expenditure
(C) Percapita income

(D) Both(A)and (B)

Which state has the maximum number of

people living below the poverty line
(A) Bihar
(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Maharashira

US-15032 (8)

50.

52.

(17)

33.

qgATT N T T 3§ fay
oot T E

W (AW ®) B am

BE g F T Y @ S o
W B wEr ofeaw ¥ 2

“«X) [ReEr
(B) IdT My
(C) Wy my

(L) wErTE

https://www.ccsustudy.com
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sa. Preafars SEwA B I FATRIS

Arrangc the following programmes in

chronological order :

1. Indira Awas Yojana

2. Swamajavanti Gram Swarozgar
Yojana

3.  Sampooma Grameen Rozgar
Yojana

4. Pradhan Mantri Grameen Sadak
Yojana

Codes .

(A) 1.2,

By 2.5

(C) 4.1,

(D) 1.2,3.4

This tvpe of unemployment can occur
even in a situation of full employment :

> &
Lad

td

-
2

Structural unemployment

Functional unemployment

(A)

( velical unemplovment
Disguised uncmployment

In lodie econemic survey is published
officially every yearby :

(A) RBL

(B) NITIAzyog

(C) Wamstry of Finance

(D) Ministry of Industnes

55.

(18)

¥ =aitaa AT
1. RT | ae
> aobrd I @I JNE

(A) 1,2,4,3
@) 2, 3,4,
(€) 4,1,2,3

M 1,2,3,4
ot Do @ Refy A A W BT H
Fiorrd ol S @

(A) drEe ey
(B) TRAINE aGorwQ
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57. Whoi '
013 the current C.E.O. ofthe vip  §7.
Auyog ?
(A) Rajeev Kumar
(B) Shaktikant Das
(C) Amitabh Kant
(D) Narendra Modi
58. CAPARTIs: 58,
(A) Council of Advancemen: of
People’s Action and Ry
Technology
(B) Council of Advancemem of
People’s Action and Ryra)
‘Iransformation
(C) Council of Agreement of Person's
Activity and Rural Technology
(D) Current Affairs of People's
Activity and Rural [ransformation
59. Whichof'the following institutionsisrot ~ §9_
part of the ‘World Bank Community* ?
(A) LB.R.D.
(B) W.T.O.
(C) LD.A.
(M LEC.
US-15032 (S) (19)

o ST 3 T AL
(4

®) gfdeid a9

7 =

#qré (CAPART) 2 :

(A)

(B)

©

TE T FBEAIA

e & § 99-9 o AR B
WE WA adt X ?

(A) M. R].ARA.
®) T8
() g dx,
) . .

D)

https://www.ccsustudy.com
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60. fawy g ® AW Now dT ¥ ?

Who is the current President of World
Bank ?

(A)
B)
(C)
(D)

Jim Yong Kim
Justin Yifu Lin
Donald Trump
David Malpass
Which of the
Brettonwoods twins ?
(AY IM.F and .LBR.D.
(B} T.M.F and W.T.O.
(CY I.BR.D.and W.1.0.
(D1}

following are

W.T.O0.and A DB

Which Five Ycur Plan was based on

Harrod-Domar model ?
(A)
B

First Five Year Plan

Second Five Year Pian

(") Third Five Yeat Plan

(D) Fifth Five Year Plan

TRIPS1s:

Trade Related Aspects of
Imelicctual Property Rights

(B) T1erms Required and inteliectual
(C) Trade Related Agreements and
intellectual Property Rights

(D) Trade Related Aspects of
Imelligent Possible Sources

(A}

6],

6.

(20)

(A) fm dn R
() e g =
(C) S g
(D) T AW

P & { o Begee IR ¥ 7
AT I . o IR e R,
®) .05, I eg. A
(©) F&ID. A z=gda.
©) sa A i el
P-4t Geadty o BE-Snw A
7 Jqia 4@ ?
AAY SR G A
B) i qeda @
(C) gy Jemdfy s
(1)) Y99 deadiq Qs
| (1ripS) ¥ -
(A) 2% RoRT ey e Rdrga
et e
By T Red T {agart A
W
(©) 3% fefez Wiitew wog {Aagem
ot T

D) & RRE srliem affe RfRvle
s R
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64.

66.

67.

US-15032 (s)

Indicative plmming Was ifitiate) in

(A)

(B)

https://www.ccsustudy.com

64.
France

Rutssia

(C) America

(D)

Which of the following is knowr aq

India

65.

‘Paper Gold™ ?

(A)
(B)
©
(D)

If the balance of payment of cauntry is

Rupee
U.S. Dollar

S.D.R.

Demand Draft

66.

adverse, then which institution wjl} help

that country

(A)
(B)
(€)
(D)

lerms of trade of a country shows -

(A)

B)
(©)

(D)

World Bank
Asian Development Bank
International Monetary Fungd

World Trade Organization

Ratio of goods exported and
imported

Ratio of import duties

Ratio of price of exports and
imports

None of the above

(21)

67.

af@f® A wew g oo
(A) i H

By A

©) FRE F

e & ¢

(A) BT

@y .. 3

(C) g 3.

O) =3UE I

G JEew wEwar ;- <=
BN ?

&7 fawm ¥

®) R e 3

(© s ga1 2y

D) W 3R FwT

R 9 e wd ¥ T

@) PR et o s
BT

B) N g F

© MR g v amm g s
HI

WB) I9hF F } ;g
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71.
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% “forei de:
This is an advantage of foreign ira

al
(A) We can preserve OuT natur
TCSOUTCCSs
(B) New technology comes 10 the

counuy
(C) People need not go abroad

(D) We can get foreign currencics

The concept of sustainable development

is recommended by :
(A) Brundtland Commission
(B) IL.M.E.
(C) World Bank
(D) Brettonwoods Commission

Who release the Multidimensional
Poverty Index (MPI) ?

(A) World Bank
(B)

()

U.N.D.P.
AB.
(1) UNCTAD

N.B.F.Cs stands for

(A) Non-Banking Financial Companies
(B) NetBanking Financial Companics’
(C) Non-Banking Financial Corporations

National DBanking Financial

D)

Companies

(22)

69.

70.

68. ﬁhﬁaﬂﬂﬂﬁm%‘

ggemnd Praa gam® (MPI) &
e A H € 7

(A faw 5%

® 3wAda

() TEA.

(D) FHAZ

o . 4.0%.91. (NBFCs) &

() A-FRE e F
B) AT TR GRERER FEH
(C) AF-SRFT wEEe BRu
@y AT AT wEAREw FET
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72. Which of the follawing i5 2 dctepy 1, Pt & - AR 7 Fefra
nant .

of trade ?

(A) Taste

(B) Per capital income
(C)  Technological change
(D) Allofthe above

73.  According to Amartya Sen, wha is the

principal end of development ?
(A)
(B)
(C) Honesty
(D)

Frcedom

Democracy

Education

74. The llarrod-Domar growth model js

bascd on which two economic

elements?

(A) Savings and investment

(B) Raw material and tee hnology
(C) Tariff and tax level

{D) None of the above

75. Identify the model which is concerned
with the *Golden age’ equilibrium ?

(A) Kaldor model
(B)
(C) Hicks model

Keynesian model

(D) Robbinson model

US-15032 (s)

74.

75.

(23)

(A) Ffrefa
® gfaafe amg
(C) ﬂﬂiﬂ Znﬂiil

) e |

Yire-2rT Htew B A A et @ |
iz 2 2

A} TOd ud FRw
(B) FT=I-9IA Wq JFAH

(C) T T TN &R

®) INFT T F [ T
WIGT WA A Fi e 3
(A) FRER Hizd

B) = dtem

“E) R Atsa

O M= sdrzw
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In the context of which region was ih¢
‘Big Push’ stratcgy of devclopment

formulated ?
{A) East Afnica
(B) Lastern Lurope
(CY  South Asia
(D) tastAsia
Which ofthe toliowing chamacteristics is
are of underdeveleped countries ?
(AY  Scarcity of capital
(B}  Technological backwardness
(CV Unemployment
(DY All of the above

Which of the following about strategy of
‘Balanced Growth isnight 7

‘AY Simultaneous investment in all

sSeclors

B: Al sectors are independent
(C, BothtAjyand (B)
(D) None of the above

According to the Neoclassica! theory,
economic development is
(A; Gradual
(B) Harmomious
(C) Cumuimive

(D) All of the ehove

76

(24)

Prm 2 @ oed & ‘a8 o' B Rem
e @y @ T ?
(A T8 TR

(B) {ﬁ @'q
() T ofan

(D) T R

Prafafeg & @ @ siRsfa 2 &

v B/% 7

(x) TN ger

(B) TR Rese

€y QI

Oy IR TR

Rrfafra & agiva Ree A A9

AT ali ¥ ?

(A) sfemrem & gt & ¥ R
v

B) N 8 wax &

w) (AT (B) A

D) IdE & A B 7

TRz Rrera & ER aits Rea

z:

(A) ®HE

(B) Y™

(C) wah

M) Ighw |
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necessarily if (here i - “en 80, .
(A) Population growth *) e gﬁz e
(B} Capital formation m) P
(C) Technical Progress <) are i Bk 3
(D) Allof the above LDy JulE A
81. [Cconomic growth measures the - :
(A) Growth of productivity o qum m::ﬁj
(B) Increase in nominal ncome ([B} A5% JT o -QT—‘Z.’
(C) Increase in output (C) T -1 3_%
(D) None of the above GOy IR € H B} A
§2. The concept of opportunity ¢oy i g2 FHaO{ AF B HEOH HH Er=
based upon the principle of - B AT % ?
(A) Need (A) JTATTHA
(B) Consumption @ I
(C) Scarcity (C) ZoHar
(D) Profit (D) <mH
83. Compared to the developed countrie:. 83. [O=ihg 2w = T 8§ = T
the .LDCs have : aw & ;
(A) Higher birth rate and lowerdaath JAY T I 3T T e mE T
ratc 2 T
(B) Higher birth rate and hicher death v
I 2 (B) ?Wﬂ@ﬁ‘f"?"’
(C) Lower birth rate and lower death ©) B9 o= 77 o3 B T T
rate %‘ )
(D) Lower birth rate and higher death ;
N X (D) Ziwmﬂqasaﬁn&v
US-15032 (s) (25)
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84. 3N (OPEC) ¥

84. OPECis:
(A) Organization of Petroleum () SFFR ot YRR T ,}
Exporting Countries '
(B) Organization of Pre-European R
Countries | B) ST o DR FE
() 0il Producing Economic
Countries (©) IMaw ArggRin TR F9E
M 0Oil  Producing  Economic
Commission D) e TR AR A
85. According to whom. surplus value g5 R AR, AR T U
should be gir en 1o labows ? & P oo ?
(A) Scn A) ¥
(B) Gandhi @) W
(€Y Narl Man ©) e W
(D) Adam Smith (D) v e
86 Fconomic growth 1s usually coupled 86, ¥ SN IR | {§aA o
with &
(A Deflavon (A) ATERR |
(B) Stagflavon (B) TErARWE 58 &
(C)  Inflation (C) TFEEHRY ]
(D)  Hypennflanon (D) Glﬁ'giﬁ@ﬁf q
¥7. ln India. deficit financing is used for 87 HITA ﬁ‘, me # Ra-sm & wam
raising resources for - e o &
{A) Economic development (A) TS m 3 Rﬂ
(B) Redcmption of public debt
(C) Adiustment of balance of ®) 5 W A 3 m
payments (€) THA HgF F9aeE 3 fre
(D) Reducing of foreign debt D) FPRA = 5 31 FE 3 RO
US-15032 (S) (26)
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89.

90.

ol.
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According to .‘»1allhua. the fixey f. 8
of production IS “or 85

(A)
(B)
)
(D)

Labour

Capital

Land
Enlrcprcncurship

What is the aim of ‘Pradhan Mantr;
Samman Nidhj Yojana’ ?

(A)
(B)
(C)

89.

Minimum income to farmers
Pension to farmers
Imigation

(D)

Free electricity to farmers

Who is the hcad of the "Monetary

Policy Committee’ ?
(A)
(B)
©
(D)

The expenditure

government

R.B.I. Governor

Finance Minister

Prime Minister
Vice-Chairman of NTTI Aayog

done by

the ‘MGNREGN
Scheme comes under the :

on

(A) Revenue expenditure
(B) Capital expenditure
(C) Planned expenditure

(D)  All of the aboye

(21)

%0.

the 91.

area® ® T, T A BT Fw
x:

[A)q“{ﬂ

®

© ™

@) TN

wqarrEt TEE B AT @ owp
e & 7

(A) et & T <gFaw sy

® Rast 3 e e

© Riad

AR A ol = sem A= 3=
27
(A)
(B)

IAR.ARN.AE. T
B =

(C) sEFHR

D) Iy, Ry A=™\e

"THEN AN @ T ST 3 e
™ I e s=Elg o X

A I =y
®) T =g

(©) AT =g
\D)  IqdE ae

https://www.ccsustudy.com



https://www.ccsustudy.com

qz.i%mrmm“mgﬁ%m

the
92. Which state government faunched f o PR— &
‘Reading Mission’ initistive 10T - %
students?
q (A) I
A) Orissa
® eral B) W
B) Kerala
o (C) eRAN
. AT A
®)
(D) Uttar Pradesh 3 it
93. What is the toll-free number issucd by 93, WA ’ﬁ:‘qﬁm R T o
the Health Ministry for the public 10 | W
. O 9 e T t?
inquire about Corona virus (COV [D-19)"
A) 1071 (A) 107}
( : 1075 ® 107
(I(; 1082 (C) 1082
((n] 103; (D) 1089 N
94  “The Stages of Economic Growth' i 94. % 1%:14 G FBAE el
w8 ?
written by :
A
(A) Rostow (A) mﬁfaq
(B) Marshall (B)
C) e
(C) Nelson (C)
(D) Myint m) R N
95. Rodan thn:ox}"sn'tainindivisibilil}'is: 05. A== R i T JfaweT 8 -
(A) Indivisibility 1o the production (A) AT G & R
fonction ®) it B eI
(B) Indivisibility in supply © # "
ivisibility in agriculture
(C) IndvisBERE? o) o ¥ B
(D) None of the above
US-15032 (S) (28)
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96. The commigee for working
N the

operationa] guidelines of *Kisap g
il

is-formed under the aegis

ministry ?

(A) Ministry of Railways

(@) Ministry of Agricultyre
Farmers Welfare

(C) Ministry of MSME

() Ministry of Finanee

In capitalist economy, wage rateg

are:

(A) High

B) Low

(C) Medium

(D) All ofthe above

Which state government Jauncheq

‘Mukhya Mantri Kanya Sumangi,

Yojana’?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Iaryana

(D) Tamil Nadu

What is the slogan of the ‘Pradhan

Mantri Jun Dhan Yojana' ?

(A) Mera Khata Bhagya Vidhata

(B) KalKi Fikra Nahin

(C) Sabka Sath Sabka Vikash

(D) None ofthe above

OF which
and

97.

18/

98.

99.

100.
(A) Harrod
(B) Domar
(C) Hirshman
(D) All of the above

US-15032 (s)

Theconcept of ‘Sigma Effect’ was givenby :

.ccsustudy.com

y mwgm'mh’%
afefy & o7 [0 T R 2

(A) @
@ P @ |
© W’agqﬁqﬂﬂm HATR
@ & A
Wmai“ﬁ@aﬁm
t:
(a) FH
® M=
(C) w&H
@) IR TR
o8, Pl T WTHR } ‘IR H gven
o o B Y T
() IR
®) 7@ R

©) #itarn
D) by
;{mwm'ﬁmﬂ
(A) WU G Srg Ry
®) T N s T8
&) TEH 99 &5 REg
O) IF T F FE Td
100, ‘Mm’?ﬁﬁaﬁmwm?
&) ¥}z
B) =hr I
©) wilF 3
©O) IWwT T 3

97.

G9.

(29)
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Which of thé following does not belong
to as four pillars of sustainability ?

(A) Human
(B) Social
(Cy  Education
(D)  Environment

Ozone gas is concentrated in :
(A) Between 15-20 km.
(B) Between 15 =30 km.
(C) Between 30— 50 km.
(D) Between 10 -40 km.

Who has written the book *Geographica’
(Geography) ?

(A) Strabo
(B) Arstotle
(C) Jean Bodin
(D) Karl Ritter

Which region is called as ‘Biodiversity
Reserve’ ?

(A) Warm tropical region
(B) Monsoon region

(C) Subpolar region

(D) Cold temperate region

$-15020 (Q)

3

L]

4.

(3)

)

Bre § § 3 daedaa & O W &
SRt et ot ' ?

LIEC)
A
fare
(D) TEETo
A= T arfepar 2
15-20 f5dft. & A
15-30 fFHl. & A
30-50 fdl. & A
(D) 10-40 B4t & A
frr & | ‘Sannfee’ (ST TR
e g fordt & ot ?
@)
B) IE
(C) 9 AfkF
(D) FA X
fhe IRY & Siafafdgar woe Fe
Sl & ?

(A)

(C)

NV Bk BT e 5 D e

(B) HFGH SR

(C) Iugdr &=
(D) AT FHieawig w2y
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In  which sphere

) Qo ~atese] P
atmosphere’s mass is located

(A)  Thermosphere

(B) lonosphere

(C) Mesosphere

(D) Troposphere

Who for the first time use the word 6.

"Hot spot™ in biodiversity ?

(A) E.A. Norse

(B) Transley

(C) Myre

(D) Walter G. Ronson

Energy flow in an ecosystem is always :
(A) Cyclic

(B)  Unidirectional

(C) Reversible

(D) Multidirectional

(4)

https://www.ccsustudy.com
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8.

10.

US-15020 (Q)

“Nature is never more than an advisor.”™ 8.
Who gave this statement

(A) Blache
(B) Brunhes
(C) Martonne
Reclus

(D)

Which of the following region iscalled 9.

as ‘Land of Midnight Sun™ ?
(A) TaigaRegion
(B) TundraRegion

(C) Desert Region

(D) South American Region

Which of the following main pollutantis  10.

released by motor vehicles ?
(A) Carbon dioxide
(B) Carbon monooxide

(C) Chlorofluoro carbon

(D) Nitrogen oxide

(3)

‘o U e | o T 217
e FU9 fHam ¢ 7

Ay B
(B) I
(C) "M
(D) &d

Rrg Wy & ‘Ao T g H 29 Fel
o 8 ?

(A) & SR
B) TG e
(C) THEHE T

(D) el smfds =y

= H A - OYE EES AT
qrel &7 BIST Sl & 7

(A) FEF SRR
B FEA AeiaEs
(C) FARNGAY Hre

(D) TEgree SlfFEs
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Who said this that “Location on the I,

globe is the real key to geography™?

(A)  Huntington
(B) Vidal-de-1a Blache
(C) Jean Bodin
(D) Karl Ritter

Whose statement is. “Plains are those 12,
areas where human's transportation.
commerce and political all three are

highly developed 2

(A) Hartshorne

(B) Aristotle

(C)  Kumari Semple
(D) Kirchhoff

Which of the following is not correctly 13,

matched ?

(A) North America - Prairies
(B) Australia - Llanos
(C) South America— Pampas
(D) Siberia - Steppes

Who has given the statement that. 14

“History of the soil reflects the history of
human civilization and individual human’s
education begins from its soil itself ™ ?

(A) Jean Brunhes

(B) W.M. Davis
(C)  Albert Demangeon
(D) Wilkaux

(6)

https://www.ccsustudy.com

e [Tl &u4 2 6 gl 3 i i
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(B) [@em@-gi-ar any
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Out of the following, the shape of India
15
(A) lragmented
(3) Compact
(C)y Longitudinal
(1)) None ofthe above

Which of the following state of India is
not practising/engaged in Jhuming

(Shifting) cultivation ?

(A) Mizoram

(B) Madhya Pradesh
(C) Punjab

(D) Rajasthan

Which of the following country is having

an insular situation ?

(A) SrilLanka

(B) India
(C) Italy
(D) Malaysia

The dynamic flow process of movement
of human beings, thoughts and goods
from one place to another is called as :
(A} Areal differentiation

(B) Spatial interaction
(C) Neo-determinism

(D) Spatial distribution

1S-15020 (Q)

16.

17.

18.

(7

T 29 F HR (FY dE & 7
f~ThIT

YT

(A)
(B)
] TR

(D) IqE § # HE R

frer & & 9ra 3 fpg o509 | T
Py & A T E 7

T

qeg U9l

(A)
(B)

(C) YoE

G2 TR

et § § fohe 3 @t Rafay Edim Rl
Feadl & !
B SE
(B) #IXq
(C) Fea
(D) W
foftrT = & we axgedl, e a@
et @ iosiiear B el A §

(A) &g fodes
B WS Tishar
(C) -a-f19aTars

(D) T+E faaRor
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19.

20.

US-15020 (Q)

Who has written this while defining
Geography that, “Geography is the
knowledge of Earth’s arcas and these
are different from each other™ 2

(A)
(B)
(C)
(D)

Peter Haggett

Von Humboldt

Stamp

Alfred Hettner

In which of the following geographers

period ‘Dualism in Geography’ was

started 7 https://www.ccsustudy.com

(A) Vidal-de-la Blach-Hettner-
Demangeon

(B)

()

Huntington-Semple-Hartshorne
Von  Humboldt-Karl

Friedrich Ratzel

Ritter-
(D) Richthofen-Hettner-Penck
The book ‘Erdkunde’ was written by :

(A) Humboldt

(B) KarlRitter
(C) ElisReclus

(D) Strabo

Who has promote Dualism while
differentiating areas concerned with
physical and human geography in his
book *Geographia Generalis® ?

(A)
(B) Immanuel Kant
(C) Von Humboldt

(D)

Varenius

Reclus

(8)

https://www.ccsustudy.com

19. FBE e A ORI 8 R
e, ‘T gl B st wam 2
Th-gAl § fret 2 B 7
(A) Gt ¥
B) a7 gk
(C) ®=g

(D) HAFHE BT

Pl F Zqde’ #oarew B Of

fehl IeTamiati % i o F30 a1 ?

(A) TIZE-E-a ame-2eT- ity

(B) Efeve-Hma-area

20

(C) aF edme-Fd et - Beis

ECE |
NBY G- 2T

TR BT ST e e
A AT 7 7 s 3 4 A
W FX Zq9E B doma R T
X aiiEg

B) FYTE Fve
(€) 49 g
(D) &



Which of the following book. Friedrich
Ratzel has emphasize more on the study
ol interrelationship between man and

cnvironment ?

(A) Physiography

(3)  Anthropogeography

(C)y La lerre

(D) Cosmos

Who said that, “Human Geography is

the changing relationship between the
unstable earth and the unresting man” ?
(A) Huntington

(B) Friedrich Ratzel

(C'y Herbertson

(D) Allen Churchill Semple
considered

Who ‘Systematic

Geography” as ‘General Geography’
and "Regional Geography’ as ‘Special
Geography® ?

(A) Von Humboldt

(B) Karl Ritter

(C) Varenius

(D) F.Richthofen

-15020 (Q)

25.

(9)

Befid teod & g 779 | A9 4
qAE P g FOAHI W
AaF gq far mn ?

(A) TR

(B T

(C) @

(D) HEHT

% & Ut gt P T (D
& T T R ?

(A) &

B) HsR® Yeod

(C) BT

(D) TaH afda Jwd
fha® a0 ‘FWaw id & |
I A TS 7

W @ FEiee

B) @ e

(C) FRFIE

D) Th. Rgeae
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26. Whose thoughts were that “Asian’s  20. fras a9 B “afSrr ooy
residing in warm areas are intelligent and % faard aﬁ?ﬂﬁ B %’, % ey
talented. but locks in bravery and FA 2d & Bred o A 3 \
courage due to which they remains wae?
slaves fora longer period™ ? (A) S
(A) Jenophen
(B) Anstotle

(C) Herodotus

(D) Al-Masudi (P -G
27. Who was the founder of Neo- 27 a3-MsgTarR (qzr-ﬁuﬁirm) P TS
determinism ? HT 7
(A) G Taylor (A) . TAT
(B) Blache (B) =191
(C) Hettner (C) AT
(D) Hartshorne (D) BTedH
28.  “Survival of the fittest’ is the creation of : 28, OFEEH # IETSEar Tep TRl I
(A) Ratzel 87
(B) Thomas Malthus (A)
_ (B) 9MMd HerH
(C) Charles Darwin ©) EI'IF\'#?{T%:{
(D) Huntington (D) &R
29. Who said that, “Environmentinitselfisa 29, e a1 a1 w1 o B “‘ammEw
H
meaningless sentence, environment mmﬁmaqw{% R
}
existence without humans seems 3
AT H P i T B

impossible™?

(A) Hartshorne (A) weam

(B) Wolfgang Hartake (B) AHTT eLeH

(C) Geddes (C) N

(D) Spate D) e
US-15020 (Q) (10)
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(),

S$-15020 (Q)

To which of the following community,

Vidal-de-la Blache  possibilitic

ideology was connected ?

(A)  American Community

(B)  French Community

(C) German Community

(D) Britain Community

When “severe drought” conditions
occurs ?
(A) When rainfall is 25% of normal or
less than this

(B)  When rainfall 1s 40% of normal or

less than this
(C) When rainfall is 50% of normal or
less than this
(D) When rainfall is 70% of normal or

less than this

Which of the following is not a natural

reason due to which environmental
degradation takes place ?

(A) Earthquake
(B) Forest destruction
(C) Cyclone

(D) Volcano

30.

(11)

faere-di-a-sryr 1 greadrs faarenT
frr & @ 5w owe @ S8t 4t 7
(A) SRS G2EHE

(B) %d g8EHE

(&) U gEEd

(D) fre guEE

Ry gar @ Ry e & 7

(A) Tt |G @ 25 g ar 5Ed
8

B) auf @ F 40 oI A 3

4 B

(C) ast @mFg F 50 g a1 3Ed

&9 8l

(D) st A F 70 SidUT A1 399

@

frst d & F-T1 FROT WS TE 8
Rrad s w@ieely 2 & 8 ?

(A) M
oB) T gy

(C) dshdid

(D) SEITE
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i

US-15020 (Q)

Which of the following occurs due to

“forest destruction” ?

(A) Increase inramnfall

(B) Decrease in warmth or heat

(C) Sotl erosion

(D) Increase in moisture

What percentage of India’s area

(approx.) comes under soil erosion ?
(A)
(B)
(D) 33%

Which of the following is used largely in
Refrigerator. Air-conditioners. Hair

Dryer. Spray cans ete. ?

(A)  Chlorofluoro carbons
(B) Carbon dioxide
(C) Hydrocarbons

(D) Nitrogen
Which of the following pollution results
in growth of cancer ?

(A) Carbon dioxide

(B)

Radioactive radiations
(C)

Carbon monooxide

(D) Chlorofluoro carbons

https://www.ccsustudy.com

[
-d

[ ]
N

36.

(12)

WA FANGAR FHET

Wﬁﬁwﬁm&rﬁmqﬁqﬁ"
(A) @t § gig
B) IUI H F
ey A T
(D) T # gha
AIA F T Fhe Sfaed S gy
HAIEA B I o & ¢

(A) 23%

B) 33%
(C) 43%
B 533%
M= d 8 FeEm smm i,
UgT-FULI9FT, 2397 2147, O 39 offe
g g 7

i



AN,

$-15020 (Q)

in which year ‘forest policy’ was
introduced in India ?

(A) 1850

(B) 1857

(C) 1894

(D) 1950

What percent of land is to be covered
with forests to maintain environmental
(ecological) balance ?

(A) 23%

(B) 33%

(C) 40%

(D) 43%

What percent of India’s land area is

affected due to water erosion ?

(A) 15%

(B) 25%

(C) 35%

(D) 45%

Where Central Arid Zone Research

Institute in India is located ?
(A) Jodhpur

(B) Rampur

(C) Ahmedabad

(D) Bengaluru

37. GG 39 ¥ ‘@9 M F9 @ AL R
e
(A) 1850
(B) 1857
(C) 1894
(D) 1950

38, wateeer (aikfefis) dge & @
3 fo Reer gfveE oI 9X a9 B
e ?
(A) 23%
By 33%
(C) 40%
D) 43%

39. 9RA 39 H fhaq gfawd &%d S
YA § ywifag 2 7

(A) 15%
(B) 25%
(C) 35%
(D) 45%

40. ART ¥ DEY T6RG MY GRIN Bl
oY forg B ?

RS L
B) TG
(C) SHAEHaE=

(D) FI6

(13)
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41,

42

44,

US-15020 (Q)

In which of the following country

“Atacama Desert” s located ?

(A} Braal
By Cuba
(C) Chile
(D} Argentina

Australia’s Kalgoorlie and Coolgardie
world’s famous place produces :

(A)  Mineral oil
(B)  Gold mines
(C) Salt
(D)  Gwano fertilizer

Which of the following largely affected
the world’s famous Taj Mahal in Agra?
(A) Carbon dioxide
(B) Carbon monooxide
(C) Hydrocarbons

(1)  Sulphur dioxide

In which year ‘Pollution Prevention and

Control Act’ in India was introduced ?

(A) 1961
(B)y 1971
(C) 1981
(D) 1991

https://www.ccsustudy.com

41.

42.

4. WG §ggee Famne oin

(14)

‘ST TEEE e g g

A
(A) ATATA
(3) Fdl
)

{1y 2 -

AR % Bt @ e
fou favg gfte & 7

(B) T+ F TGH

{A)

(Cy - HFH

(D) JE”'” \-.oar:\qi

AP ftd fasg ofis aomed s
H E% 2 gl s g &

3 7

o

(A) FET SRR
(B) FHET AFtairaEs
(C) erggrHrEs

PTG SRR

Eﬁlﬂﬁ’ﬁﬁﬂﬂéﬁmgaﬂ?

(A) 1961
(B) 197]
WS 198
(D) 199]



Which of the following pollut : <
i N | g potlution g 45, mﬁ’l’ﬂ'[ fT‘T’ Fle:[ ff fl F‘.]—TJ:[ qeq97 %
responsible i Spreadimg out of 3 -
raundice disease™
(A Water pollution ) ST &
(B Aarpollution (B) g g
(O Radioactive pollution (C) feAnnd R ]
(I Sohd waste Huti
Cpo ]lll!ilﬂ ”}) a-g Qqq-fiﬂ-';: WTE
nwhich of the following vear * Wy .. |
- ¢ il. (m\m:}uu Water 46, AT ¥ ‘o1 PECE a3
aventron  ang ‘ontrol Act’ a8 ’ ok S
| | ontrol  Act’ was =T s feg ot § ofvg fear
miroduced in Indija ©
L
Ay 1964
(A) 1964
By 197
\B) 4 (Br 1974
(C) 1981 (C) 1981
i) 1984 (D) 1984
I which year. Union Ministry of 47, Wﬁ%ﬁﬁw,ﬁaiﬁﬂﬂ
EFnvironment., Forest and Climate URaay 2™ 9Aed A 3 oI
Change released the Solid Waste U gt BEm SIn| & ?
Management Rules in India ?
(A) 2012
(A)y 2012
"} /
(B) 2014 (B) 2014
() 2016 (€) 2016
(D) 2018 (D) 2018
In urban India what percentage of solid 48, HI{d &2 = A G 2
waste is treated properly ? R el § il
| e @ 2
(A) 20%
(A) 20%
(B) 25% -
(B) 25%
(C)y 30% (C) 30%
(D) 35% (D) 35%
S-15020 (Q) (19)
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A

]

US-15020 (Q)

Average waste per person per day in
Indiais:

(A) 300 ¢m
(13) 450 em
(C) S10¢em

(D) 600 ¢m

In  what humans

Wavs Causcs
environmental degradation ?
(A)

(B)

Overpopulation

Burning fossil fuels
(C)
(D)

Deforestation

All of the above

Under what Act, responsibility of 31,

environment conservation has been
given to states and its citizens ?

(A) 40Aand 42 A

40A and 45 A

48 Aand 51 A

50 A and 55 A

(B)
(C)
(D)
Who

L
-

has the

given statement.
“Environmental Management is a system
which will predict the problems in
advance related to conservation of
environment and resources and save
them accordingly™ ?

(A)
(B)
(C)
(D) Savindra Singh

D. Thompson
C. J. Barrow

D. Meadows

(16)

https://www.ccsustudy.com

449,

S0

qrd # T ST ufy afy

(A) 300 TIH
(13y 450 UMH
(Y 310 TH
(1) 600 JqH

g7

(A) SIS FaEE
(B) ST 2o ST
(C) @t H Herd
W ITE A9
SIl T 2 7

(A) 40AT 42 A
(B) 40AT 45 A
ET 48 AT ST A
(D) S0AT 35 A

M § A fad sEn, gt
9 UH T 2l € N qutaee g
ww%mwmﬁﬂrﬂiﬂm
(A) 21, efae
4.5, a9
(C) 2. drErg
B "= oz

(13)



What type of problems are faced by
Developing  Nations

53.

as far

as

cnvironmental  management

is
concerned?

(A) Poverty

(B) Rapid increase of population

(C) Flaws in implementation of
environmental laws

(D) All of the above

To which area Appiko Movement’ is

related ?

54.

(A) Himalayan Region

(B) Palni and Nilgiri Mountains Areas
(C) Bastar Plateau

(D) North-East India

Who has been given the credit of

spreading public awareness regarding
water conservation in Rajasthan’s
Villages ?

(A) Medha Patkar

(B) AnnaHazare

(C) Rajendra Singh

(D) Baba Amte

In which year “United Nation’s
Environmental

Programme” was

introduced ?
(A) 1972
(B) 1982
(C) 1992
(D) 2002

-15020 (Q) (17)

55.

56.

fradi At § ol sEeE 2
HA-8 T € 2 |

(A) T
B) g Feal FaEE
() Wa FA & FEt=ET #

3

B IR g

‘st emie e &= /@ geIRad
8!

A) Rama &=

@) T g AR g&@dd &=
(C) T@T ©R

(D) ST 9RT

frer % & e a1 UoeIe 3 AT
W Y & gia Seeaer faeia
MW

(A) RET G

®) T &M

@& = Rie

D) T AT

W T [T B W e
Fq ganl ?

9 1972

(B) 1982

(€)
(D) 2002

1992
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57.  Where is the headquarter of ‘International
Union for Conservation of Nature’
located ?

(A) London
(B) Switzerland
(C)  Stockholm
(D) Sydney
58. Where is the headquarter of ‘Green
Peace International® located ?
(A) Gland
(B) Virginia
(C) Cambridge
(D) Amsterdam
59.  Where is the headquarter of *National
Green Tribunal’ located ?
(A) Lucknow
(B) Bhopal
(C) Delhi
(D) Chennai
60. When ‘Earth Day’ is celebrated ?
(A) 5thJune
(B) 11thJuly
(C) 22nd April
(D)
61. ‘Agenda2l’ isrelated to:

16th September

(A) Sustainable Development
(B) Population Policy
(C)  Environment Management

(D) Bio-conservation

US-15020 (Q)
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57. ‘ggfa & T 3G FUEE Gy

(18)

(A) @&
) fagTs
(C) TiEam
(D) e
A G eRIAa’ & eI F
feerg 2 7
(A) Tel¥s
(B)  gsfi-m
(C) g
(D) TRFEEH
59. ‘U gfg =mEiaETr w
Fel O ferg B 7
(A) TGS
(B) T
@) R
D) =I=E
60. ‘gedt Ra® F& A o & ?
(A) 5 SH
B) 11 oI
€S 22 I
D) 16 =R
Ol ‘TIUST 21’ fpEd Teafg § 7
(A) G g
B)  SHE Hify
(©F Fafaror gaee
(D) SAF-FEor

L
T



(o which of the following India’s State ~ 62.

-ilent Valley Movement’ is associated 7
(&) Uttarakhand

(131 Kerala

('} Mizoram

(1)) Sikkim

Which one of the following is not  63.

correctly matched ?

(A) Forest Research Institute -
Dehradun

(13)  Arid Forest Research Institute —
Jodhpur

(C) Rain Forest Research Institute —
Shimla

(D) Salim Ali Center for Ornithology

and Natural History — Coimbatore

1. When is ‘World’s Environment Day’is ¢4,

celebrated ?
(A) 11thJuly
(B) 8thJune
(C') 22nd April

(D) 5th June

. Who amongst the following used the 5.

word ‘Ecosystem” for the first time in
the year 1935 ?

(A)  Odum

(B) A.G. Tansley

(C) Fosberg

(D) Lindman

$-15020 (Q) (19)

‘o T TR ARd & g T
 gafea & ?

(A) ITETS

(B) &

() e

(D) faie
ﬁwﬁﬁaﬁ?—mg‘ﬂﬁﬁﬁ‘ﬂﬁﬁ
g7

(A) o9 FTHEE T - 28gA
(B) b a ST R - ST
&) aut g rgEu H= - [
(D) T ol weft faE e i

e d= - HAELL
fagg qataeer Raq’ w9 "A@T Al
g7
(A) 11 Ja18

B) 8 9T
(C) 22 |

w2) 5 9
g ¥ A fpaa g ad 1935 & Tawem

‘qitfRafos 9 a= R @ ?
(A) Sli=H

WP TS, T

(C) wrEst

(D) feisaa

https://www.ccsustudy.com



66.  What type of consumerisa ‘Cow’ ?
(A) Primary consumer
(B3)  Secondary consumer
(C) Tertiary consumer
(D) lTopconsumer
67.  What partof food percentage in animals

1s used in body building ?

10%

20%

(C)y 50%

(D) 80%

68.  Which of the following are responsible
for maintaining balance in atmosphere ?
(A) Producer

(B) Producer and consumer

(C) Decomposer

(D) Producer, consumer and

decomposer

69. Who said this, “Ganga from its origin

up to'sea, from its past to its present,

reflects the story of Indian society” ?
(A) Mahatma Gandhi

(B) Sundar Lal Bahuguna

(@)

Pandit Jawahar Lal Nehru

(D) Baba Ramdev

US-15020 (Q)

66.

67.

68.

69. fhEA e e f5, “an m@m;

(20)

https://www.ccsustudy.com

e BRG TEI # TR § 7
() TR SueERT
(B faias o
(C) gArF®s TR
(D) @y IR

STegaft &1 A e i
i & fmtor & ug@r @ar B 7

(A) 10%
(B) 20%
(C) 50%
D) 80%

Frr & & agroesd H e
g aqar 8 7

(A)
(B)
(©)

UP) TWUEH, ITED T SIS

BT AR 6, AT § AT et
AT T9 ) arer B ?

(A) HE T TR

(B) G Tgem

(C) ufed Samvea Yo
(D) <& IRy



vhich yvear “Ganga Action Plan’ was
rroduced ?
1980
| 384
tO9()
1994
which year “Ganga River Basin

vuthortty” was formed ?

y 01
005
009

)y 2015

v ho has given the statement that, “We
!l replace or restore the original purity
fGanga again™ ?
\)  Sri Rajiv Gandhi
3} Sri Sanjay Gandhi
'y Sri Rahul Gandhi
1)) Sri Narendra Modi
In which vyear ‘Tiger Project’” was
iroduced ?
1963
1973
1979
1984
which state “Orang Tiger Reserve’ is
West Bengal
Arunachal Pradesh
Mizoram

1)} Assam

15020 (Q) (21)

70. T 0 Ao Beg ad § dA H R
(A) 1980
B 1984
(Cy 1990

(D) 1994
7). TS T E AR g H e

w4 far w7
4 2001
(¥ 2005
(C) 2009
(D) 2015

72. Yz W # oEE ged B A
gferenfid &7 1 98 F99 e B
(A) i Toftg i
B) i dom M
(C) = Tge Wt
(D) &t T 9

73. ‘9 g e as F @6 gs ot ?

(A) 1963
@7 1973
(C) 1979
(D) 1984

74. ‘SO 9 9@ R s § Red
&7
(A) 9i¥ed S
B STEUEE WeW
(€) A
(D) 3EH
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75, Which of the following state iscalledas 75, 49 Fa e

“liger State™? Fel Sl & 7
AT West Bengal (A Ti9EH Fd
Ry Rajasthan (13) ¥
(Cy Madhya Pradesh (L4 " TR
(1Y Karnataka (D) FATeH
76, Which of the following is not correctly ~ 76.  f1 & T B HE
matched 31 )
() EIZEl-rATER Ay
(A)  Dandeli-Anasi Tiger Project-
ser T ST

Chhattisgarh

(B) AT S

(B) Nameri Tiger Project — Assam
(C) Valmiki Tiger Project - Bihar (€ ae 3 9 “

(D) Melghat Tiger Project — Maharashtra (D) BT T 93 -—
77, Which of the tb"g'].ewing tworiverslies 77 fezht aig fae ¥ _:__.—___-
adjacent.w-ﬁaere Tehrt Dam has been e g o 27 ﬂ
(A) “Aldknanda and Mandakini River
ﬁ mrathl and Bhilangana River B ST 7 Ry :; '

“Fons and Nandakini River (C) H 7 Faiei a8

(A) 3TqHHT g H '""k :

15020 (Q) (22)
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hich year decision was taken to 78 feedi Effﬂ e oy g ag

ruct Tehrt Dam 2 Rrar T o ?
ol (A) 1961
o7 B) 1971
8 (C) 198]

L985 D) 1985
o how many years Tehri Dammay 79, a9 a9l g feefi g @ ﬁﬁgﬁ Jcdred
12 position to produce electricity a0 9 Mgeor g Tfﬁ: GE|

control floods on a permanent 2 7

Up to 100 years ) 100 7o T

Up to 150 years (B) 150 39t %

Up to 200 years (C)y 200 9 TF
(D) 250 T61 7%

Up to 250 years

chof the following states are largely 0. “GER qU&T G 3 59 =9 3
enefitted by the “Sardar Sarovar T 2 7

ALY
ject

(A) FAleH, THaTg, DU, IS

Karnataka, Tafiil Nadu. Kerala:

Lhmisa

(B) BRETR, IS, Er, ey FTw

Chhattisgarh, Orissa, Bihar, West
engal Or 9E WY, Werrs, TRE 9
Madhya Pradesh, Maharashtra; LELYIE]

Crujarat and Rajasthan

(D) efwen, doE, R, R
SRl

Haryana, Punjabs DelhiHimachal
Pradesh
5-15020 (Q) (23)
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81,

84,

 US-15020 (Q)

{C)

(D)

Where s the origin of Narmada River 2

(AY  Roewa Panna Plateau
(B Bhander Platcau
(O Rargarh Plateau
Gy Amarkantak Plateau

Maximum flow arca of Narmada River

hes s i the state of

(A Guyarat

(B3Y  Madhva Pradesh
(C) Maharashtra

(1) Rajasthan

Lo which of the following main reason
Medha Patkar opposes the construction

of "Sardar Sarovar Project’ ?

(A} Resettlement problem of
displaced people

(B} Ecological imbalance

{C) Destruction of forest land

(12)  Problem of earthquake

What do you understand by “Population
Explosion’ ?

{A) Growth in population

{(B) Excess growth of population
compare to resources

Excess deaths of people due o

bomb explosion

None ol the above

https://www.ccsustudy.com
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81, T T B Y e ¥ 7

& I 98

2T T
(C) THT€e 931t
(D) FAIHTH TR

82, wTHE A @ TEH IfiE gaE A7 fae
T B AT AR 7
(A)
(B
()

(A)
(B)

(D)
83 T MEHT F CTEN qUAT
F [ 1 oF g o ?

(A foenital & gFars @t wmen
(B) AT e
AOY FT W F faea

(D) g% FH gEE
84 STEE fawhre ¥ oMY Far gy
N SEEE H ghe
(13) HawEEl 6 ogen §
Ty gha 8
() e 3 reer A B

-
(D) I § Fg @



ol the following reasons 85 Ff=Ha “SeET faeere’ H B~

ble tor “Populatioin Explosion®? B e ?
nprovement in education I forem § =&rad
owth inagricultural production 2 ?ﬁ ST H ?F' S

niversal marriage

3. 9EEm e

4. afEE

o) EE\E.

‘ (A) 1,23
4 (B) 1.3.,4
3, 4 (C) 2.3.4

yand 4 Uy 3d4

1 of the following measures are  86. SHEEAl Q@ H T ?ﬂ HH-H I
v elfective to control population iy @l 2 7

h? 1. faEme & oong 7 9fE

2. Sl e

3. g g & A

4. T F ogErR

EE{ :

acrease in age of marriage
idustrial development
evelopment of Social Security

read of education

(A) 1,2.3
B) 2.3,4
ey 1.3,4
v and 4 D) 1,2.394

“ necessary in third stage of 87. @ G %T\-! ST a 3
curity % ?

rimum quantity of grains (AT S 3 =y i =T
lability of milk along with B) I, T E— 7 S
s and pulses (C) TS 2 g aw A R
fleient quantity of pulses along s
Lrains

(D) o, T@ 3 9%, #leqar g
o]

cvetables and fruits along with

rams

515020 (Q) (25)
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88 Which of the following are larcely food 88, T AR § BE-8 T Haif
msecure states inrural India ? aq-g—{fﬁa T & ?

(A) Bihar, Jharkhand and Madhva

Pradesh X faerr, AEYE 9 e gy

(B) West Bengal, Rajasthan and
(13)  UfIET FE, TR g eigg |

Chhattisgarh

(C) Tamil Nadu., Karnataka and
Maharashtra () S 9 "
(D) Punjab. Kerala and Himachal .
() e, B q REEe mew
Pradesh
According to “Rangarajan Commuittec™ 89 G HHE %an'ﬂﬂ', e &

89.
which of the following is considered i o fpw gftar (Elﬁl At @if) F

below poverty line (pcr-capita THA Y|y § A JE A e
expenditure) in India’s urb cas 7
: Jinndia s uban ares (A) S oot 17 B A
A) Whose daily expendit is | -
(A) ¢ daily expenditure 1s less E‘_\r
than 17 Rupees
‘ o @) S gfafReT 27 598 @ #H
(B)  Whose daily expenditure is less 3
than 27 Rupees
(Y Whose daily expenditure is lcss (©) i 37 FW R FA
than 37 Rupees BT T
(D) Whose daily expenditure is less (D) S OfaRs 47 w04 ¥ HH
A 2l

than 47 Rupees

What is India’s rank in tcrms of "Food 90 ‘@z SRl Eiaﬁ'_cﬁ’ & aTE 9Id

90.
Security Index™” e (%5) d 37
(A) 60 (A) 60
(By 74 ) 74
() (C) 84
(1) 96 D) 90

US-15020 (Q) (26)
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o, B hich of
sponsible
v €O .
25 NO,
() COy

) CFC's i
o D) FIRIFIY e
2. v Fofwr § oo AR §

92 (ilobal warn

Increase t: S

% -

(A) 1,2,3
@ 1,24
(C) 2,3,4
(D) 1,2.3,4

largely 93. frtifea & @ S9-a1 2 EACE] IE-

HNIFARE B IO & qo a1 A
e ?

Ay 9
@Y HgE Y i
(C) 9

- O AT |

/www.ccsustudy.com



94.

93.

96.

97.

US-15020 (Q)

In-situ conservation means -

(A) Protection of species in the habitat

of other animals

(B} Preservation and protection of

species 1n their natural and as well

as outside habitat

(¢ Preservation and protection of

specics outside of their natural

habitat

(D) Prservation and protection of
species in their natural habitat

What percentage of world’s living

species are found in India ?

(A) 5.1%

(By 7.3%

(C) 8.2%

{D) %.1%

Which of the following 1s put under

‘Endangered Species’ ?

(A)

(B)

(<)

(D)

When Biodiversity Act was inacted in

Dinosaur
Golden Cat
Lion

Golden Langur

Indian Parliament ?
(A) 1992
(B) 1999
(Cy 2002
(D) 2005

94.

95.

96.

4B)

z3-frg g & aed € |
T § A AHT PO B
gt & A @ grE 3
T A g AT @ STE B
AT 2

gAfedt & @O 4 ge I
J @ F g @ AE A
S 2

oo # AT 4 G 3
w2 B S e
9 39 ° e # Fpae wider Siifam
sfqar & §

(A) 5.1%

By 7.3%

(C) 82%

D) 9.1%

et A 8 e g%em= gl |
W@ e ?

(A) SRR

B) gl e

(C) F&T W
D) YTRT aR

()

(D)

!

k3
»

4

(A) wﬁﬁﬁw@%mﬁﬁ%

97. SfefEa fies wmEm dae @ aa

(28)

T e a2
(A) 1992
B) 1999
(C) 2002
(D) 2005

https://www.ccsustudy.com



L

Gy

100).

US-15020 (Q)

D)

-Gustainable deveIOpmem' talks about

levelopment of

v Present  as  wel) as  future

population

It
&

Present population
(0"} Past population

(D) Future population

Sustainable development definition
mostly quoted in :

(A) Banerjee’s report

(B)  Brundtland report

(C) Gadgil report

(D) Hutchinson’s report

Sustainable development goals adopted
by United Nations in 2015 does not
include :

(A) Poverty
(B)  Chmate change
{ j

Environmental degradation

lerrorism

98.

99.

100.

(29)

T R e e o e el
g7

A TR T ST S

(B) AN SrEEm

(C) i ¥ sHgen

(D) Pt SEE

Fr & ] fre RO & wag faera @
U g R T ?

(Ay son Rard

(B) sedve R

(C) R Rard

(D) &g R

= & 8 dgw o am 2015 H

YT T Hoq [ W B ot

BT TE o R ?
(A) TOR

(B) Sfwary YR
(C) TR F &

(D) 3fdFHAR
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4. Four altervative answers zre mentioned
for each question as-A, B, C & D in the
booklet. The candidate has to choose the
most correct/appropriate  answer and
mark the same in the OMR Answer-Sheet
as per the direction :

Example:

Question

wW® ® © 0
a@rld e 0
eI®'® © O

[llegibie answers with cutting and over-writing or
nalffilled circle will be cancelled.

5.

10.

1t

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank ‘Zere’ mark will be
given,

The candidate has to mark answers on the
OMR Answer-Sheet with black or blue
ball point pen only carefully as per
directions.

There will be no negative maiking.
Examinee, please handover the origina!
Answer-Sheet along with University
Copy to the invigilator before leaving the
exaniinztion hall. Candidate can carry the
Candidates Copy and used Question
Booklet with him. (Stud=ut is supposed to
keep Question Booklet and OMR safe till
declaration of results.)

Rough-work, if any, should be done on
the blank page provided for the purpose at
the end of booklet.

Write your Roll Number and other required
details in the space provided on the titie
page of the booklet and on the OMR
Answer-Sheet with ball pomt pen. Do not
use lead perceil,

To bring and use of log-hosk, calculator,

pager & cellular phone in examination
hall is prohibited.

(32)
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I R

4. gE-giEe ¥ 9% W P 9X @l
A, B, Cwd D ¥ qfendi at o7
il fagedt § & 0% wa9 9 orwdr §a
JUgHR AT Gew £ I A OMR
sT-die § wraftaq ued ger | e raw
A5 - :

g T

wl @ @ O ©
g2 B e O®
w3 O @ © ©

Sfaa gaT m e IEY PR e Ot aae A §, Al
T ST wOERT A T Ie] Mo & A s
5. =i qhert OMR saT-die § 9 A

7 7 7 & ol arat-de A @l et
% B, O ‘g S YA R ST

6. srepdl & 9 & I OMR FET-4E T
St AR A A T R A
FtamaTt offdd 1 811 |

7. it =i T8 2

8. ulend uw oo w AL ofy ol

o O ¥ T e Pl @ A R
Srdl g Y vl Wi o S L
R A o W § 1 (R TRt @ el
glen wRem NS 7 o ST o IR
T 1) '

9, A TE-a, neT-gfem § o 3

W5t & e e gl 9w &
S =R |

0. wA-gfcd $ 9@ 9% W g OMR
sratHe @ Pt e 3 s ad
Y AT 9w wige 9 @ & a¥
o ST R A FT | =

L ol e A-gs, degiet, o au Ao




Four alternative answers are mentioned
for each question as-A, B, C & D in the
booklei. The candidate has to choose the
most  correct/appropriate  answer and
mark the same in the OMR Answer-Sheet
as per the direction :

Example:

Question

W® @ © O
® O O

Hiegible answers with cutting and over-writing or
half fitled circle will be cancelled.

S.

10.

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank *Zere’ mark wili be
given,

The candidate has to mark answers on the
OMR Answer-Sheet with black or blue
ball point pen only carcfully as per
directisas.

There will be no negative maiking,
Examinec, please handover the original
Answer-Sheet along with University
Copy to the invigilator before leaving the
exaniinztion hall. Candidate can carry the
Candidates Copy and used Question
Booklet with him. (Student is supposed to
keep Question Booklet and OMR safe till
declaration of results.)

Rough-work, if any, should be done on
the blany page provided for the purpose at
the end of booklet.

Write your Roll Number and other required
details 1 the space provided on the utie
page of the booklet and on the OMR
Answer-Sheet with ball point pen. Do not
use lead pepeil,

To bring and use of log-hosk, caleulator,
pager & cellular phone in examination
hallis prohibited.

ERUL

pe-gias d 99% oW 3 AR wRd
A, B, Cwd D ¥ qlendt &t @

ol fagedt § § oh qad 98 opEr w9l
IE I Ofe B 390 # OMR
AFIE-dirE & gatag uew gegr § e ve |
LA 5 |
i

gl ) @ © ©

ge2 A ® O
@ @ © ®

st Gt 1 % I R e 41 wmmn w 3, o
e F awrar ST AT T IR e @ Ry s

s.

0.

I

(32}
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4% et OMR RaT-die § aygam
FI @ T & AT - A mw e
&, @ R o wE R s |

s 31 gt % 3T OMR -4z @
e I T A AT AT W A S
R ST & 21 |
friifza i 78 2

wlemdl W - T R afr od
T BT | e & frlws @ ¥ 3
STl SR T et SRy O g we-
IR T T w1 (R T A
T ST R 2 5% AR T e
T 1)

F @ -, wE-gRew 3 oova d,
-5 & fe Ry weh W w § &
ST =Y |

TR F qE 98 W aW OME
aae-d R @ § o ad
Y G qe eige 97 § & Wy
NG L EE T :
T8 7 | Eﬂ‘T—aai, &@Z’g T 9l '""'_:,'..
W & ST T S S9N e af €




https://www.ccsustudy.com

D Date-Stamp to he affixed here
(20321)
B.A./B.Sc.-11I Year
uUs-15105
B.A./B.Sc. Main Annual Examination-2021
MATHEMATICS
Analysis

Question Booklet Series

R

(Tobe filled in by the Candidate /fr=7 yRfal wiemdi @ 1)

Roll No. (in figures)
IS (S H)

Roll No. (in words) .
IS (T )

- e

(Code : AB-326)

.

Question Booklet
Number

[Maximum Marks : B.A.-33
B.Sc.-65

_ [oifaw % : B.A.-33

Enrolment No. (In figures) M-

B.Sc.-65
[Time : 2 hours

Name of College
AT F M

6 : 2,9

Signature of Invigilat

4 fFriws 3 s |

Instructions to the Examinee :

1

2.
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question booklet. All questions
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Examine the Booklet and the OMR
Answer-Sheet very carefully before
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1. If f () is analytic function of 2.
then

[§?3+f2?i)lRf(Z}|2=....
@A 2(" 121

®B) 21f' @I*

©) 212

(D) None of these

2. The sum function f (z) of the power

. n
series z a,Z represents an
n=0

analytic function :
(A) inside its circle of convergence

(B) outside its
convergence

circle of

(C) on its circle of convergence

(D) None of these

3. Hadamard’s formula for theradius 3.

of convergence is :

-(A) ﬁ = tim Sup |a, IX‘

(B) l{— = fim int |a, IM1

I -

1
(©) i (a,)"

(1)) None of these

US-15105-Series-R (1)

M £ (2), 2% Prdvdy et B, 9

o
(‘5{1 + *a;s] IRf(z)" =....
(A) 2(f' |z|)?
(B) 2f'(z)|2
©) 21(z)
(D) & § 38 48

g Aol ianz“aﬁrﬁ'lﬂqﬂ?f&)
o R G awian B -

(A) T FERT D T B FRT
(B) 3HD ARERYT 3 % B BT
(C) T ST 3 I W

D) FH & B T

R # B & g = &

TE

< (A) %= fim Sup |a, |

1 . v
—=fim int |a, |'"
(B) = fm

© F=fm @)

n-»®

(D) 3 | B e
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4.  The Radius of convergence of th¢ 4. Aoft Z (1 _

5.

https://www.ccsustudy.com

. U R
series le~;) 7" 18
“(A) e
B) e-!

(C) e?
(D) None of these

The power series ) a,z' 18
absolutely convergent if the series
z la, 2" | 1s:
(A) conditionally convergent
(B) divergent

“(C) convergent
(D) None of these

6, The radius of convergence of the

. nv2+i a .
series 9 1+i{i?)z is
(A) -1
(B) 1
fC) 2
(D) 3

A function defined on [0, 1] by
£ ) = x :1f x is rational

_ - x:If xis irrational
1S

(A) uniformly continuous ay
x=
(B) discontinue =]
Jus at x = /2

'(C]‘ contiin UGus at x = 14
. V4
(D)) None of these ?

US-15105-Series-R

2

]" 2 B SR

L n
B T

(A) e

(B) e-1

(C) e2

D) T ¥ i =3

T S 8, 2 ot w9} afmRe
mqﬁw Z;anz"|%:

(A) Fd sforarh

(B) smwrd

(©) fvErh

D) 374 & N 3§

&t z‘,]{%ni)x" # s 2
B &

(A) -1

(B) 1

(C) 2

D) 3

UF Faq A [0, 1) 9% 38/ JehT Qg
g

rr
A “)

https://www.ccsustudy.com
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8. ' The mapping W = { (2), where f (2)
region D, 18 conformal at the points

of D if
@ f @0 ingide D

(B) f'(z) = 0outside D
(C) [’ (z)=0
(D) None of these

=0

elg

9. The points where {' (2) =
or « are called
*(A) ordinary points
(B) critical points
(C) points of continuity
(D) None of these

19. The transformation

az+b
w=1()= cz-+d

(A) ac—bd#0
(B) bd=ac#0
{C) ad—becz0
(D) ab—cd=0

is bilinearif

11. Which 1s true -

(A) . Every continuous function in
a closed interval is bounded
in that interval.

(B} Every uniformly continuous
function on an interval I is
continuous on L.

(C) f(x) = x* is uniformly
continuous in [- 2. 2].

‘(D) All of the above.

US-15105-Series-R (3)

8.

10.

11.

A w = (z), W&l f(z) &= DH 2z
# BT w7 3, 4 D 3 Rgl W
ATET ¥ A

(A) f'»=089 D& I=X

(B) '+ 087 DB 4Rt

(C) f'(x=0

(D) 4 § F§ T

(©) w3 ”rg
D) = A B =

az+b
aqael w =1 (2) =

BT O

(A) ac-bd=0
(B) bd-ac=0
(C) ad—bc=0
(D) ab-cd=0

cz+d

DA WMETT & -
(A) & F= Fa0d ¥ TS TGO

B I AU § uRas s
>

(B) Bl oI I 9¥ 9@F dUE:
qaq %o, [ Q¢ d9d &1 ¢ |
(O f(x) = x%, HEIT: |Ad @
[- 2. 2] #1
(D) I G}

https://www.ccsustudy.com
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12. For R-integrability of a pounded
function fon [a, b]. we have

b

2 b
@ |f=Jr

® [z [

L&

() [t f

2

(D) None of these

13. If f is continuous on [a, b]. then 13

which of the following is true -
(A) feR[ab]
(B) feRjab)

© Jr=]t

*(D) Both (B) and (C)

14. If f he ﬂ\e function defined on 14,

[0, 1]
| 0 when x is irrational
f(x)= <. , )
I when x s rational
then

(A) upper and lower integra] of f
not exists,

(B) fisR-integrable

“(C) 1is not R-invegrable

(D) None of these

US-15105-Series-R (4
/

12.

TEE F £3 [a, b] T R-G
B B Ry - |

SN
@) [f=[r

-4

T

b b
J'fsJ'f
M) =9 § 23 45

T fla, b] W g L a9 B § &
a9 3

(-&) [‘ER'-E, b]
(B) feR[ab]

© [r=]r
(D) &M (B) 3R (C)

A% £ [0, 1) T Wﬁﬂm
gfefed & 8
0 &9 x AUAT 2
f(“):{l w9 x TRHT B
aa
(A) 3 39 R Fre o AR
T2 2
(B) f R-TOEA-IG 2
(C) f, R-BHEAE T 2
) T T PR T
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15. The integral I, _"r-' is

(A) Convergent

(B) May or may not be convergent
R(®) Divergent

(D) None of these

16. Which is not true for the fupction
f:la,b] >R
Ay feR[a b]=>FeR[ab]
'(B) fis continuous on (a, b]
=feR|[a b]
(C) fis monotonic on {a, b]
=feR|[a b]
(D) Ifl € Rla, b)=>feR(a b]

17. The integral Ex’“ ' (- %) dx

is convergent if
+(A) both m and narc>0
(B) m>0andn<0
(C) m<Oandn>0
(D) None of these:

18. “If f f (x)dx converges and $(x)
i8 h:;unded and monotonic for
a €x <£b, then j:f{xmx)cb:
converges” is called
(A) n-test
(B) Abel's test
#(C) Dirichlet’s test
(D) None of Lhese

US-16106-Series-R

15.

16.

17.

18.

dx.

= "4 : ]

\"x

mwj

(A) Araarh
(B) #YET 2w 2 oA A8 A
(C) HTRTT

(D) T4 2 28 FH

% f:[a.b] » R 75 F15 71 771

T8 ¥ -

(A) feR[a.b]=>F < R[a b -

(B) f [a.bj=>f=R[a blT F0
3
Q

(C) f(abl=fzR(a b]7 =<
2

D) IfleR{ab)>f:zRa 0]

A [ (- d S

Zaw:

(A) 2 mFT 0 >0 .
(B) m>037 n<0

(C) m<0ATn>0

(D) FH § FR

RE] rl'{x‘)bl_\'\d\; B'ﬁ\’?'..'i Ol e .

(A) nT i
(B) TE T{%
(€ RIRTE T

P

(D) ¥ & I} T
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19. Fo J“" _dl‘(

19 -0 l:\_f % ﬁq’q 1 qet
e/E
is / are correct :
A SYET
(A)  The integral is divergent @) ®
g 3
‘(B) The value of the integral is® B) B % A1 n
%C) Both (4) and (B) | © @ e @) 2w
(D) None of these D) & & P T
@ Test the convergence of 2. : ¢’ Lﬂdx a>0 H @iﬁﬂﬂﬁ’ﬂ
j“?ff’ildx a>0 Wﬁwquﬁmiﬁrﬁm
and name the test also = .
(A) Convergent by comparision &) H B e
ot (®) it o afier 3
(B) Convergent by Abel’s test (© , nT
¢(C) Convergent by h-test (D) s ’ d
(D) Divergent by Abel's test
21. Thenullset ¢is: 21, ﬁ'ﬂ?ﬁﬁﬂﬁﬂ'b% :
‘(A) Bounded (A) arga
(B) Unbounded (B) e e
(C) Both (A) and (B) (C) (A) AT (B) &
(D) None of these (D) gH ° H3 T8
22. A set which contain all the Jimit 22, u% @9=® S ¢ R# & ¥ frgat
points of a set § ¢ R is called - B TEH T Y FHEA 8 -
(A) Discrete set of S (a) S @ fewr wwa
*(B) Closed set of S (B) S < = '
(C) Derived set of S (C) S & FA~ Tg

(D) Open set of S

(D) S & Gl T
US-15105-Series-R

(6)
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23. T ‘B & s anefym aewel &

93. The property “Between any two

distinct real numbers there always
exists infinitely many rational and

97 I iy v e den
2t 27 e 2

irrﬂtiﬁnal numeI'B” i3 called : (A) ET@%: E TI
(A) Archemedian property B) T domd 3 o

. (B) Denseness property of real ™ ' .
numbers (C) B9 &1
(C) Hausdorff's property (D) 4 & FE &
() None of these

.-For all x, y € R, which is
true :

(A Ix ylz|Ix|=I¥l

“B) [x+ylsix[+]yl

©) [xy[=Ix].Iy]

26.

94 Which of the following set is  24. 1 Fg=i ¥ & HF-8 A=A
complete with respect (o RIS & A T z:
boundedness : (A) Q ez CilleD =)
(A) Q (The set of rational (B) Z (@arE d=qid F w5=0)

numbers) (C) R (@dias GEaidl & =n)
(B) Z (The set of integers) (L) (B) T (C) 3
() R (The sct of real numbers)
«(M) (B) and (C) both

26. Every subsét of a f:ountable set  25. Th MM Y= & yAF IJqETeAd
18 3T @ ¢
«(A) Countable (A) T
(B) Uncountable (B) ;;“F?fq
(C) Complete ©
(D) None of these (D) 374 ] P8 T

i aEs et x, vy e R, &
R

A) |x-ylzlIxI=Iyi]

(B) Ix+y|SIx][+]Yl

(C) Ixy|=ix]|-|¥]

¢+ (1)) All of the above (D) IRF T

US-15105-Series-R (7)
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' 27. =g
27. The limit point of the set i
e - (-1)" W
S =11+ c . n is a naturdl > “+—-n_ ‘A
n
number} H@T %}
i RS ) ﬁﬁ 2
@ 1 (A) 1 »
(B) 0 | ) 0
©) 2 C) 2
(I)) None of these Dy & 3 g T
28. Which of the following subsets of 28. TR H YR BT BT JUHT= 3 9
R are not nbd of 3 - T
(A) 12, 4] A) ]2, 4]
B) [2.4] (B) [2, 4]
© (2.4-8Y) | (©) (2,41-{3 13}
(D) 13, 5] (D) 13, §[
29. The suprem d infi =
wpremum and infinumofthe 29, WG (M ineN @ dfow
setS—-:/;l.neN}are: A ffeT 8 -
(A) Inf8 =0, Sup S = doosn't @A) A= S = 0, 3fms § = BT
exists. LK
(B) InfS=0,SupS=1 (B) e S=0, 3 § =1
C) Inf S = doesn't exists, (C) M= 8 =#3 7, shas
Sup S=0 S=0
(D) None of thege (D) z4 8 FE el
30. For every real number x there  30. 9% A d&T x3 (U o5 afedy
exists a unique Integer n such T :
that - ) Tnﬁjﬁiaiﬁmmm;
- YA) xnlgncx+1 ¢ 0 nexws

(B) xsn<x-1
(C) x-1<n<x

D) & A ¥ T

(B) x<n<x-}

(C) x-1<pn<yg

(D) None of these
US-15105-Series-R (8)
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1. The value of integra]

log (1+ax)

(1]
j— —dX g
K 1+ x
1 .
@ 5 log (1 — o) tan-! ¢
|
® 3 log (1+u®) tan tg

) ;i‘, log (1 + @} cot™! «
(D) None of these

32. For function f € R [a, bl m, M be
bounds of f on [a, b], then

b
A mb-2)<[{E)d&<Mb - a),

ifb>a

B) m(b-a)z | fx)dx2Mb-a),

ifb<a
¢« (C) Both (A) and (B)
(D) None of these

ax
Y

33. For th-:. integral r —~

what is the value of u for p-test :

@ ¥
® ¥
o(C) %

(D) None of these

US-16105-Series-R

x(l+X - ]’

32.

33.

(9)

”‘"f'— —dx FAE &

(A) ~ad)tan ‘a

(B) log {1+ ¢? tan'u

(C) log (1 + &) cot™' «

(D) 3™ B 31 7

94 fe R[a.b]F T m, Mt &
[a. b] 97 ¥AW Z 79

.
(A) m(b-a)s [f(x)dxsMb-a),

T bra

B) mb -a)2 [ f(x)dxzMb-a),

g% b<a
(C) (A) 3T (B)IH
M) F A P F

A |'f,— ~—E!‘=|%‘mxtest
) (1+Xx %)

%%Qpﬁqﬁ%-

@ 4

® Y%

© ¥
(D) FF & B T

https://www.ccsustudy.com b
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dx .'

34. The integral j: I 19
X

(A) convergent
oB) divergent
(C) oscillatory
(b) none of these
36. If f: [a, b] - R is a bounded

function and P is a partition on
[a. b]. then

Lim L(P.f) =

qPL—D

@) |f

---------

® [f

[
© [f
(D) None of these

The radii of convergence of the
{n+1) z
(n+2)(n+3)

n

power geries Z
18 :

A) 3

(B) 2

€ -1

D) 1

37. In an argand plane the equation of
the circle whose centre is the point
2 + 51 and whose radius is 3, ig

(A) |z-5-2i|=3
B) [z+5+2i}=3
o(C) lz-2-5i| =3

(D) None of these
AS-15105-Series-R

i Ll

35.

36.

317.

(10)

https://Www.ccsustudy.com

M £:[a, b] > R % s T 2
A P, [a, b) T fo 2 a9
Lim L(P,f) =

[Pll-s0

(A) _j f
® |f

© |f
(D) T8 A FE T

(n+1) n
W AN 2 ey A
Ayt & Brear § '
A) 3
(B) 2
€ -
@ 1

oF A 1§ g9 A aedee e
&= 2+ 51 AT B 3% & -

(A) 1z-5-2i] =3

B) lz+5+2il =3

(C) 1z-2-5i] =3

(D) FH A BE T



38.

- 39.

40.

US-15105-Series-R
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1

The transformation w = %(3‘5] 38. WY w = H( ]

is conformal except at
(A) z=2%1

B) z=1

{€) z=-1

(D) None of these

Let f (x) be a function defined on
[0, n/4] by
cos X, If X is rational
f(x}= {sin X, If xisirrational
7
than the value of J f and

-0

n/
/

f are respectively :
0

@ 5ol

(B)

O Hita
(D) None of these

The function f : R — R defined by

f(x)= lim [hm sin” (n!m) ]

n-seo| t aom}-ﬂ
i
(A) Continuous
» (B) Totally discontinuous
(C) Discontinuous
(D) None of these

39.

40.

(11)

fheen e Frenke & -
(A) z= il

(B) z=1

(C) z=-1

D) F@ A 3

TP T £ (x) 9 [0, /4) W 3T 5K
R &

c _{cmx,uﬁx‘ﬁﬁﬁg'

~ Isinx, 3% x orgftdg &

7
[f?m O FA:

GEl &jr R

Wf:R—rRGﬁQﬁ‘ﬂ'lﬂﬂ%

o e

1-0 sin? (n ') + 1°
3 "
(A) Tad

(B) T &

(C) ¥gaqd

(D) 4 & T T

https://www.ccsustudy.com
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41. Which of the following stateme™
is true '
(A) DR-Q =R
@) D(o.1[)=[0.1]

(€) For S={= T

:mENl-

D@®)= \1‘
+« (DY All of the above

£3. The derived set of the set
5=1{1.38.7,11} 1s
(A} {1. 7}
(B) empty set ¢
) {1}
(DY None of thesc

43. Neighbourhood (nbd) of }5 18 the

set :

4 (A)

{h xlé y?']
0. Yol

R (set of real numbers)
None of these

(B)
()
(D)

44. “For any two real numbers 3 and

b. one and only one of a > b, a=h,
b > a satisfied”, called

* (A) Law of trichotomy
(B) Lawof transitivity
(C) Monotonic property
(D) Archemedian property

US-15105-Series-R

1. 9 TRt F ¥ P-m ag

42,

43.

44.

{]2)

(A D(R-Q)=R
(BY D)o, 1[y=1[0, 1]
©) 8= (-2

m+ ]
D) =11
() IRFT "/

:m e N} & foiu

= 8 = {1, 3, 7. 11} &1 A=
"= 3

A {1, 7

(B) & w9=94 ¢

(C) {1}

() T8 q Fg T2

Y, & wie wge
@) - Y%, W)
B) 10, Y1

() R@ﬁaﬁzsmeﬁfﬁrﬂgam
(D) FH | B &

“fEl A aEaE TEial q iR b
Mt a>b a=bb>ad ¥ ug AT
faw 0% G Aar R, FaAmEn ¢
(A) Rt 1 fags

(B) FEefAd @ fom
((:)@ﬁwaﬂm ‘
(D) -Hlﬁﬁﬁquq

h" https://www.ccsustudy.com
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45.
Whlch Uf the fO]lD‘Wi.I'Iﬁ i8 I’.TLIQ :

(A8) A=AUD(A)
(B) AcB=D(A)cD(B)
(C) D(A)is closed

, (D) All of the above

46. Range of the sequence < (1> jg

the set :

(A {1
B {-1,1

© -1

(D) None of these

47. The sequence < r*> converges to

zero if :

(A) ir]l>1
@ Irl=1
«(C) Irl<1

(D) None of these
48. The value of m such that

/ Ynom, is

——2

(A} 23
XB) 27
(C) 25
D) 26

49. The sequence < S_> defined by

Sy = (1 - J@) VaeN,is:

(A) convergent
*B) divergent
(©) oscillatory
(D) None of these

US-16105-Series-R

Let A be any subset of R. Then

45.

48,

49.

(13)

46.

47.

g9 A, R & #& Iwageg g1 @
P13 8 P

(A) A=AuUD(A)

(B) AcCB=D(A)=D(B)
(C) DAYT=T 2

(D) 9939 8

ATFA < (~1)*> F W W=
(A) 11

(B) 11

€ - 1;

(D) F& § 3% &

(A)

(B) irl =

(C) irl<l

(D) & & =% &

En2f3 2k Ynzm P ROmFH
R 2

(A) 28

(By 27

(C) 25

(D) 26

FTF < S >® 3t 3§ gER uiwiia
8 S =J+t-Jm) vneN,¥:
() Er

(B) Huarl

() =

(D) ¥ A &g 7

https://www.ccsustudy.com
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50. EII{b}GﬁTS-—smnBGQ‘{?

50. The sequence < 5, >, wher® mber T Hen 2 B o<e<1,?:
S =sinnH 6is rational ¥ (A) qu'ﬁ'lﬂ
such that 0 <0 <1, is (B) gy 75
(A) convergent (C) 3qqrhy

(B) not convergent

(D) ey
(Cy divergent
+(D) oscillatory

. 1. s .
51. Equation of a straight line PSSSI'EE 5 ﬁiﬁ'? % A mz{:ﬁm \-m—'::t:'ﬁ;??i I 7
through the point z, and making , o FAH T TR

an angle a with the real axigis: 2

(A) z=a+bht (A) z=a+ bt

{B) z=re" (3) z=re*“

(€) z=2 tre” (C) 7=z +re“

(D) Naone of these (D) a8 ¥ | Tl
£20 Amp(1—-1) = coovrnnns 52, Amp (1 —1)= ...

A @ ()
. ® Y O ® Y,
© % © ™
(D) None of these (D) =" o L el

53. If z), z, are any two compley 53. ™ 7, %, E R . @ 4
numbers; then

.
.I

iz, vz |4+ iz -~z |2z ag -

(A; l:;iz—li:zH-z |?.|+Z.h,_|‘;+|z.t—;zz\3=_,..
B) 1z, 12+ 12,12 (&) |"’-||z—]!62'l2

«(C) 2{lz\*+ |2,|% HIEN +l|zzl

(D) None of these (C) 2{lz, 1%+ |z,|%

(D) T & B T8

US-151056-Series-R
(14)
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4. The equation lz - 1] = Iz + il
represents :

JA) a line through the origin
whose slope is -1,

(B) a line through the origin
whose solpe is +1],

(C) acircle through the origin.
(D) None of these

665 Which of following is not true :
(A) z isimaginary, ifz+z =0
®B) 1zl =|z|
(C) z— Z =2 Rez

~M) zisreal ifz—-Z =0

56. For the function
fz)=u(x y)+iv i y)
Cauchy-Riemann equations are :
(A) u =v, u =V,
') w= v, u =V,
(C) u =V, U =Y
(D) None of these

57, A function which is analyticis also
called :
{&) Holomorphic function
G}; Harmonic function
(C) Differentiable function
(D) Nonc of these

US-15105-Series-R

654. THIET ".Z—H=|z+i|f:aﬁ'(-|'[%:

(A) PG & Y i o T Rrae
A 13|

(B) AR & w3 awt oF YarREd
T +12)

(C) TRFE @ 9N A O% g9 |
D) 79 8 = )

65. ™ & 4 7 9 73 &
(A) zaRIF 2T O 2+ 2 =0
(B) 1zi=1z]

56. oA

fz)=ux ¥y +tiv(x, y)

% forq Se-fam g €
Q) u=v.u =v, "
(B) u=v,u =-v

(©) u=v.u =v

(D) T8 |/ FE @

57. & T4 o1 fwd @ o
Fear &1

(15)
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§8. T f(z):i% :
58. The function f(z)= 7 is:

o An (A) [Heeiys
( alytic s
B) R
«B) Non-Analytic ©) Naid =
(C) Continuous k
(D) Not continuous D) "
1
69. A function f (z) = — : — 1 69, % f(2) = C-1(z-2 ST
(z-1)(z-2) & 2 (z-2)
not differentiable at the pointz: ﬁ'ﬂ 29T !
(A) (-1,-2) (A ~1,-2)
®B) (1,-2) | B) 1,-2)
“(C) (1,2) © 1,2
D) -1.2) D) 1,2
so.";f f(z) =u +iv is analytic function  60. AR f(z) =u +iv R Fo- 2 T
and u—v=e*(cosy —sin y) then u-—-v=e*(cosy—siny)dw f(z)
f(z) is: g
‘tA) e*+ ¢ (A) e+¢
(B) e+e | (B} e=2 4+ ¢
(C) 2e2+e¢ (G) 2 2+¢ '
(.D) ze“’—c (D) Ze‘z-—c
61. W limS =fandlimt =¢'G0), gy a7 lim S. = ¢S limt, = £’ (= 0),
t_= 0 for all n, then t z0Td nd T, oo ‘
lim (S/t) = ... " lim S /) = ...
@ ¢ (4) ¢
®B) ¢ B) ¢
C) ¢l¢’ (©) Py,
(D) None of these (D) = A K T

US-15105-Series-R (16)

N

https://www.ccsustudy.com



https://www.ccsustudy.com

CBE, Lim [{fﬁ+1)(n*'2)--..[n -,Ln”f"fn/n} 62.

18 :
(A)
(B)
«C)
()

/e
4e
e
4je

63. If

LI

12 2.3
then<S_>1s
WA) increasing

. (B) convergent

»(C) Both (A) and (B)
(D) None of these

S, = 3.4

64 Lim|-—

+— %, 4= .
n(n+1)

FV(2n + 1)

18 :

1
(A) NG
B) 2
o{(C) 4
(D) None of these

_%5. The sequence < Sll > defined by

4+38,
17 3428,

(A) Not convergent

(B) Convergent
*(C) Divergent

(D) Not divergent

8,=18,

US-15105-Series-R

, +on
J(@n* +2)

'nENiS:

|
vInT+n

63.

| e

(17)

65.

Lim [{{n +1)n=2)..(n+ ﬂ)}’]‘:/n]

2

(A) e
(B) 4e
(C) e
(D) 4fe

(A) e B3
B FHar
(C) AT (A) 3T (B)
(D) T8 9 FF I8

. l i
Lim | —————+—— +.
[‘Itzn'Q'[) \(211' "'2}

T

1
A) NG
B 2

(C) 4
(D) FH ] A} &

T < S, > TH TN @
4+ 35,

S3,=15,,,= 3+ 28,

Q) AmEd T

(B) iferErdt

(C) Irqard

D) Fqard T

https://www.ccsustudy.com
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. _ .S = —
66._Sequenoe<$n>deﬁnedb)'s:'l 66. S, lﬁRSnu“ﬂz"‘sn):VneN._

and$,,, = J2+5,), v n e N¥ TWW<S,,>%:
(A) MonobonicallyincreaSii.lE EB; w e gal

(B) Bounded © @ @

‘(C) Both{A)and (B)

(D) None of these D) 57 & IR '

67. Theintegral [}~ i}- i 67. TUFH | (xi)n 3 .

(A) convergent whenn<1 (A) FR@EE 7 n<1

(B) divergent whenn > 1 (B) UAG & n> 1

(C) divergent whenn =1 7 (C) JgEifi ¥ n=1
+(D) All of the above (D) IR |t

68. The integral [ e'dx is an 68. WAMRAA | _e*dx Fre S& @

improper integral of the : HIGFd THHAT B -
(A) Firstkind (A) T9H THR

(B) Second kind (B) f&ig TR

(C) Neither (A) nor (B) (©) 78 (A) AR 7 (B)
(D) None of these ' (D) ¥ 8§ F e

. o 2
69 The integral Lc" 'zcoshxdx 69. U ]:e"‘l‘zcosbx dx & :

18 :

(A) convergent @)
(H) absolutely convergent ® Tﬁ: e
»(C) divergent © Ty
D) (A) I (B) A '

(D) Both (A) and (B)

US-15105-Series-R (18)
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70. Under the transformation

w =z + (1 — 21), the image of the
line y = 0 in the z.plape is
transformed into the line

(B) v=-1

'(B) v=-2

€) u=1

(D) u=3

7f. For any complex number z = xeiy,

if x and y are both positive, the
principal value of argz lies
between :

ax(A) 0andn/2

(B) —rand -=/2

(C) =n/2and(

(D) a/2 andn

72! The analytic function whose real

part is e* sln y 18 :
(A) e+ constant
(B) 1e * + constant
v(C) —1e*+constant
(D) None of these

73. The domain of convergence of the

aenesZlez ﬂ is :
4
WA) |Z+li<‘J—
B) |z-i]<+3
€Y 122-i|<+5
(D) None of these

70. T w =5+ (] - 2) & @0

71.

72.

73.

(19)

y=0,2-8% ¥ foy & § fpm T &
(A) v=~1
(B) v=-2
(C) u=1
D) u=3

mmmzzxejyﬁmﬁx
3 y T £, 7@ arge F T T
e 2 9 -

A) 03T w2

(B) - - w2

©€) -w2370

D) w237 a

fredt Tuw Rrasr qaEs 9
e’siny%,?l"ﬂi

(A) e+ FEA®

(B) ie * + Faai®

(C) —ie+ MRas

(D) T & FH T

MZ(':H" A HfvTe 21 I
%

(A) 1z+i]<S

(B) iz-~i|<u"§

©€) [22-if<+5

(D) F% § 3 T

https://www.ccsustudy.com
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. \ rn 2
74. The transformation T 18 Midwbe " :ﬁm:awr | mqmﬂ%a e E

normalized if

~{A) ad--bec=0 (A) ad —be »0

B) ad-be=1 (B) ad—be=1
(©) ad-bc=- 1 (©) ad~be=-1
(D) None of these D) =9 7 7 T
75~ For the transformations 75. T
T, @)= ;i T, (2) = iii 3l
and T, =2/(z+1), T, @) =z/(z+1)% R .
T, T, (2 is T T, () ¥ -
'(A) 3z2+2 (A) 8z+2
®B) z-2 (B z-2
(C) -z+2 (C) —z+2
@) z+2 (D) z+2

76. Fourpointsz,, z,z, z, arecocyclic 76.

I &g z, z, z, z, HgAE ¥
if g%
e e T
(A) Purely real (A) Th aE ¥ RS
(B) Purely imaginary (B) i 4% } FRAT®
“(C) Zero (C) {3
(D) None of these (D) z;ﬁ A Zﬁ'g = A

US-15105-Series-R (20 j
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77 Every bilinear transformation with ~ 77. T4% Biem mwver @ Frad
two fixed points &, f can be put in hy‘;m a, b F AM Z9 O5iT Bl T
the form B -

w o Z-«a Wt | 7-0
. = = A — =y, -
B Yo T2 B W™
w-B 72« w-p yz-m
(B) w— (& /?“'Irﬁ ®) w-oau ‘B
1 I ! C b o3 1
© Vo z-a “z-B © aTta "z -B
(D) None of these (D) 3799 3 =2 521

78. 'The bilinear transformation which 78. fetEg == A& 9=~ Ir,),aﬁ
transforms the half-plane I(z) > 0 T~ '{ﬂTJ aF (wi <15 BAand
into the unit circular disc [w| < 1 FIAT T, ¥
18 (A} w =@t < ‘f
(A) —el.? __(14 ;-

W= eit ——
Z-a (B) w=e ' — -
B _ - Z+u Z-0
(B) w=e — ©) woe I~
A ¢ ] f_"' \.1
(C) w=e* —— (D) 9 |/ ®g T
(D) None of these

79. Which of the following is not true : 79. fr ¥ = v w3 T &
(A |z, vz 12z |+ 2, (A 2z, -2, % 2 - 2,
B) |2, z,|=ls|-2] (B 2z ¢ =2z - 2
C) lz,-7,|= z,.+| ¢, Yy 7 -2 NN
»(D) argz +arg7 ===x (D) argz +arg ¢ =-n

80. Under the transtormation 80. w=, . ¥ WAFAT ZW 2 §aF 3

= /2™, the image of the line }Er X = : T AT R -
X =2in z-plane is (A v-u "6 s
(A) v-u=6 B) vo-u
o(B) v=-—y ) urv =i
(C) utv=4dg (M v=u
(I v=u
2
US-15105-Series-R (=1)
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81. For all x, y and z € R such that 81. WX'FG?I'{ zeRA B mugr 2

x<yvandz<0: &x'(}’@mz({)%ﬁ-‘m:

(A) XZ > V2 (A) A7 < yz

(B) xz<yz B) xz<yz

YC) xz=vz (C} xz=y,

(D) None of these D) =9 3 P et

82. A sequence <85 > is oscillatory 82. U% ST <8 > ATTEA ER A

sequence if it is - e 7% 2

(A) divergent (A) ST

(B) convergent B) FEr

*(C) neither convergent nor (€) [ v T JuErd
divergent D) &8 } I

(D) None of these

83. HhmitS =( andlimt ={ then 83, R limit S, = ¢ IR lim t =¢,T9

lim (S_t) is: lim (S t) % :
(A) (1¢, A) £1¢,
®) 1, B) ¢,
© 1 ©) ¢,
@Gt ™ 1, ¢,
- n
84. Sequence <S > where §_ = ne] B4, AAFT <S> AT S = ;[l_l G|
converges 1o - afeafia &
{A) O
’ (A) 0
v(B) )
(B) 1
(C) 2
) 2
@) 3 ;
M) 3

US-15106-Series-R (22)
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85. The sequence
<2, 2.2-22-2
18 B
(A) Bounded
(B) Oscillatory
(C) Unbounded

(D) Both (A) and (B)

«B) 27
€) 26
(D) 28

87. Which of the following is not true :

(A) Every bounded monotonic
sequence converges.

(B) Every Cauchy sequence is
bounded.

{C) The limit of a sequence 1s
nnigue.

(D) The sequence <(-1)"> 13
convergent

(2 3) a1V
88. Lim “1“* L«,; Yy l

--------

» (A) o
(B) o®
(C) ¢
(I None of these

US-156106-Series-R
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85. FTH9
€2,-2,2-22,-2...>
- 20
(A) Tras
(B) A
(C) wira=
(D) (A) 37 (B) It
"yt
86. % S, = ,',”w T LimS, #
o % -
(A &5
(B) 27
(C) 26
(D) 28
87. A ¥ & o5-57 5w A} ¥ -

23)

(A) TR Tz T RS S
arr %

(B) T¥® BWM ¥AET WER oA
i

(€) % I T A A 2R
3

(D) IR <(- 1> et &1

1]

L :ﬂ:" n n»t‘\ A
Lim 'J E L“ )
) e
(B ei
() «©

(D =2 ] P FE
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89. Lim [l(1+ 2!5 + 3'1-i T 1) _")]
n .

90.

91.

US-

'(A) e
(B) 2
) 1
(D) None of these

Sequence <S_> where

I

|
5,=2,5 =1+ —-+-—-—+....+(n N

121
nz2)is

(A) decreasing and bounded
B) increasing and bounded
AC) increasing and unbounded

(D) decreasing and unbounded

The cross ratio of the four points
Z, %y Zy 2, taken in this order
(z,, 2,, 2, z):

(z,-2,) (2, - 2,)
(zy -2,)(zy - 2,)

(&)

(21_32)(3] "2-4)
(22 _zil{zi _71)

‘B)

(7 - 7,)(2. — 7))
{zz "7-3)(?*1 - ?'I)

©

(D) None of these

15105-Series-R

89. Lim [l(nz% 23 ey
n

(24)

A) e
(B) 2
©) 1
(D) ¥ & FE¥ =

90. HTTHH < S > 5ot

11 !
S =2, S =1+ “+EE+....+-(-—H__1)!

m22)% - ’
(A) IR AR 9=

@) IR R aftEs

(C) et A arfEa

(D) e ol IR

91. ¥R ﬁ%ﬁﬁ 2, Zy By Z, TR B

(zp zzl za? z“} %r Eﬁl aﬁ mﬁ % .

(z, -2,)(Zy qu)'
(2, -2,)(zy -2))

(A)

E'-:_ -2,)(2; — 2,)

B) (7, —23) (2, - 7))

(z,-7,)(2, - 2,)
© (2, —2,)(24-2))

@) FH 8 P T

https://www.ccsustudy.com



92.,

93.

94.

US-16105-Series-R
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The inverse of a Point ‘3’ with
respect to the circle [z—¢| =R is
the point :

{2

1
(A) c+ﬁ

2

(B) ¢ _,__E,_

a+¢

- 2R
oJ(C) cr—=

a+c
(D) None of these

The bilinear transformation which
maps the points z, = 1,z,=-1, and
""a- = — ] into the points-w, =i,
w, =0, and w,=-1 respectively is :

W

(B)
(©)

(D)

(z-i)/(z+1)
i(7+i)/(z 1)

None of these

The cross ratio (z,, z,, %, Z,) 18 real
if and only if the four points z,, z,,
Z, 2, lleona:

(A) Circle

(B) Straightline
«{C) Both (A) and (B)

(D) None of these

92.:

93.

94.

(25)

0 lz-cl =R3 gt ¥ g @' &
oo g 3

Y s @ Regell 2, = 1,
zz=—i5hfza=—lﬂ§\‘ﬂi‘lﬂf Fﬁ%ﬁﬁ
w1=i,w2=0\#l'l'wa=-iﬁﬂfaﬁ%ﬁ
P 3, B :

(A) (z-1)

B) (z=Df(z+i)

(C) i(z+i)/(z-1)

(D).swﬂ%@%aﬁ

&= aﬁﬂ[ﬁ (zl, Zy 2y z*)aﬂﬂﬁfﬁi
qﬁaﬁ'{m‘ﬁﬂﬁmﬁ%’zpzr@%
ggd ¢ e 9T

(a) 3

(B) Hndi &

©) (A)3IAR @) I

@) FH | B T
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95. T Rvdm wore A 399 o
I {9 o vEd 2 M T g

- joft
95. Every bilinear transformatt

which has only one finite fixe Bh
point « can be put in the for® - 1 l
| ] A) — = + A
(A) —= — 4 A 70 w-o
Z-0 W - : :
I Y (B) ‘\,_&=f—+l
(B) “'—(I_Z—-{I «¢
_ 1 1
! ! €) ———=—"-+1
- ® = l . : .
-~ 20 w-u zia voa e
1 1 .
1 1 )y — == + A
D) w'+cz=z.—c1+l ' ) whe oo

96. Fixed points and the nature of gg iy AT w = (Z_%-;»I) 2

the bilinear transform_ation T hﬁ e ﬂiﬁﬁ"f %
w= @0 oy s A) 3, - i ; AdgEEI

AA) i, -1;elliptic | (B) 1, 1; TXEAAMRIT

(B) i, 1;parabolic ) 2, -1 - AT GG
(C) 2,—1; hyperbolic 13) 1, — 1, YLOUATRIY

(D) i -i:;parabolic

97. If F,= (¥ ,1]. n € N then which g7, =i F.= (V.1 ne N FF-|

statement 1s true :

FIH T B
(A) DFn 156 a closed set (A) []1: Q?.,!;WH’EEN%I
B) Oﬂ 1s not a closed set ' -
awi ‘F'“ m m qgi %l
® U =
(C) ‘U”F,, 18 closed and open bot, o) L"J F = o7 el oAt B
(D) None of th i |
0 ese (D) sqifﬁiﬁ!?ﬂﬁl

US-15106-Series-R (26)
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”

98. WhiCh Ofthe fO].].UWing atatEment 98‘ ﬁ'l:' ﬁ a Eﬁ’T{ o Eﬁ'q‘a" ae :rtﬁ

is not true : 2 '
(A) The union of an arbitrary ‘(A) G w9 A qegE) oREr w
family of open sets is open o g ) :
(B) The union'cfa finite collection B) 9% =t @ dfa W
of closed sets is closed T 9= 2 "
{C} ForACR,K=AuD(A) (C) AcR%ﬁﬂ'E:AuD(A}
(D) All of the above (D) I o911
99. For the set 99. =1
Do L .
S={;+B:meN,neN}, S={i*i‘:mEN.n,EN}%m
Derived set D(S) of S is : : G~ =9 DSz . N
“(A) {%_l:meN} . . (A) {%n:mef\i} |
B) {¥ :meN Ul (B) (¥ :meN Uil
© {}:meN O © (¥ meN U0
(D) None of these ‘D) T q PR T

#
-

100.For I, =)- J 1+ %[,neN, the 160.1,,‘: F Y1+ VineNG R

“set of nbd (neighbourhood) of fjln ﬁ [, 3 g9 & Fg= 2
is : @ o1 ’

(4) [0,1] .® 10y

@) 10, 1[ - (© 10, 1] .

© 10,1] | . (DY T & ¥

« (D) None of these
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